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2-(1) MOBBBEMICLIAXIFY MRERERAMNT—4
BIEISAT - BEARTILE)IFER #-2(1)-1
. g 4 5 6 7 8 9 10 11 12 1 2 3 el
HhE B 29 31 30 31 31 30 27 29 31 31 28 31 359
T B ] 4 703 739 714 739 733 711 682 706 736 735 668 740 8606
IRFRME O E4ME (ppm) | 0.039 | 0.043 | 0.031 | 0.029 | 0.022 | 0.027 [ 0.023 | 0.017 | 0.016 | 0.021 | 0.023 | 0.032 [ 0.027
AN
E TRERIE O (ppm) | 0.095 | 0.130 | 0.103 | 0.124 | 0.118 | 0.146 | 0.065 | 0.051 [ 0.044 | 0.045 | 0.052 | 0.066 | 0.146
é}% 0. 06ppm% #A % 5 HE %% 63 111 54 73 31 60 6 0 0 0 0 6 404
&
#E %) 9.0 15.0 7.6 9.9 4.2 8.4 0.9 0.0 0.0 0.0 0.0 0.8 4.7
0. 12ppm#% #8 2 % e #K 0 3 0 3 0 4 0 0 0 0 0 0 10
#E %) 0.0 0.4 0.0 0.4 0.0 0.6 0.0 0.0 0.0 0.0 0.0 0.0 0.1
AEHINE B3 30 31 30 31 31 30 31 30 31 31 28 31 365
T B ] 4 438 460 444 460 455 441 421 436 457 456 416 461 5345
e | VFERIEOSFEME (ppm) | 0.042 | 0.048 | 0.036 | 0.036 | 0.027 | 0.033 | 0.026 | 0.018 | 0.018 | 0.022 | 0.025 | 0.035 | 0.031
EHE TRERIE O R (ppm) | 0.095 | 0.130 | 0.103 | 0.124 | 0.118 | 0.146 | 0.065 | 0.051 [ 0.044 | 0.045 | 0.052 | 0.066 | 0.146
H
% 0. 06ppm7% #8 X % WEH %K 63 109 51 73 31 58 6 0 0 0 0 5 396
i #E %) 14. 4 23.7 11.5 15.9 6.8 13.2 1.4 0.0 0.0 0.0 0.0 1.1 7.4
0. 12ppm#% #8 2 % e 4K 0 3 0 3 0 4 0 0 0 0 0 0 10
#E %) 0.0 0.7 0.0 0.7 0.0 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.2




BIEGA - EARMI AL /NFER F#-2(1)-2
- g 4 5 6 7 8 9 10 11 12 1 2 3 A1
AEHINE B3 30 31 30 26 31 30 27 30 30 31 28 31 355
TR 7 PR 716 739 713 630 737 715 669 715 736 739 6683 740 8517
TREFIE D FEEME (ppm) | 0.037 | 0.038 | 0.028 [ 0.030 | 0.022 | 0.026 | 0.018 | 0.012 | 0.011 | 0.013 | 0.015 | 0.026 | 0.023
s
@ TFERIE O K mME (popm) | 0.109 | 0.146 | 0.099 | 0.140 | 0.118 | 0.159 | 0.068 | 0.048 | 0.045 | 0.041 | 0.051 | 0.067 | 0.159
g% 0. 06ppm# it8 X % K] 4Kk 99 133 61 73 47 80 7 0 0 0 0 3 503
5
HE (%) 13.8 18.0 8.6 11.6 6.4 11.2 1.0 0.0 0.0 0.0 0.0 0.4 5.9
0. 12ppm# 8 2 % Rl %k 0 5 0 4 0 5 0 0 0 0 0 0 14
HE (%) 0.0 0.7 0.0 0.6 0.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.2
A RE B 30 31 30 27 31 30 29 30 31 31 28 31 359
TR 7 PR 446 460 443 392 458 445 413 445 457 460 416 461 5296
g | VRFE O F-2ME (ppm) | 0.044 | 0.044 | 0.034 | 0.038 | 0.028 | 0.032 | 0.022 | 0.014 | 0.013 | 0.016 | 0.018 | 0.030 | 0.028
F;? TFERIE O R ME (ppm) | 0.109 | 0.146 | 0.099 | 0.140 | 0.118 | 0.159 | 0.068 | 0.048 | 0.045 | 0.041 | 0.051 | 0.067 | 0.159
N
% 0. 06ppm# it8 X % K1 %Kk 96 122 59 72 47 73 7 0 0 0 0 3 479
FE" HE (%) 21.5 26.5 13.3 18.4 10.3 16. 4 1.7 0.0 0.0 0.0 0.0 0.7 9.0
0. 12ppm# 8 2 % Rl 4Kk 0 5 0 4 0 5 0 0 0 0 0 0 14
HE (%) 0.0 1.1 0.0 1.0 0.0 1.1 0.0 0.0 0.0 0.0 0.0 0.0 0.3
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BIEISAT - EARMIL EIREF/DFER #-2(1)-3
. g 4 5 6 7 8 9 10 11 12 1 2 3 el
B EhE B 20 31 29 31 31 30 31 30 31 31 28 31 354
T B ] 4 482 734 706 735 731 711 735 710 735 734 660 732 8405
IEFRME O E4ME (ppm) | 0.044 | 0.045 | 0.033 | 0.030 | 0.024 | 0.029 | 0.025 [ 0.021 | 0.021 | 0.025 | 0.025 | 0.035 [ 0.029
AN
E IRERIE O KM (ppm) | 0.105 | 0.146 | 0.103 | 0.118 | 0.114 | 0.136 | 0.070 | 0.052 [ 0.048 | 0.046 | 0.055 | 0.067 | 0.146
é}% 0. 06ppm% #A % 5 HE %% 68 144 73 79 43 62 8 0 0 0 0 3 480
&
#E %) 14.1 19.6 10.3 10.7 5.9 8.7 1.1 0.0 0.0 0.0 0.0 0.4 5.7
0. 12ppm7% #8 2 % WEfH 4K 0 4 0 0 0 3 0 0 0 0 0 0 7
#E %) 0.0 0.5 0.0 0.0 0.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.1
AEHINE B3R 21 31 30 31 31 30 31 30 31 31 28 31 356
T B ] 4 302 460 440 460 458 445 461 444 460 460 412 457 5259
| VRSO ME (ppm) | 0.049 | 0.050 | 0.039 | 0.037 | 0.030 | 0.034 | 0.029 | 0.022 | 0.023 | 0.027 | 0.028 [ 0.038 | 0.033
EHE IRERIE O R (ppm) | 0.105 | 0.146 | 0.103 | 0.118 | 0.114 | 0.136 | 0.070 | 0.052 [ 0.048 | 0.046 | 0.055 | 0.067 | 0.146
JHI
% 0. 06ppm7% #8 % WEH 4K 67 133 70 79 43 60 8 0 0 0 0 3 463
i #E %) 22. 2 28.9 15.9 17.2 9.4 13.5 1.7 0.0 0.0 0.0 0.0 0.7 8.8
0. 12ppm7% #8 2 % e 4K 0 4 0 0 0 3 0 0 0 0 0 0 7
#E %) 0.0 0.9 0.0 0.0 0.0 0.7 0.0 0.0 0.0 0.0 0.0 0.0 0.1




2-(2) MOBEBBERICLLIERBRILMEERERARNT —4
BIE IS . TR IR IS B it #-2(2)-1
- g 4 5 6 7 8 9 10 11 12 1 2 3 el
AEHINE B3 30 31 27 31 31 28 31 29 29 31 28 29 355
TR 7 PR 706 731 674 729 728 696 724 702 711 727 654 711 8493
LRFRME O FEIE (ppm) | 0.045 | 0.040 | 0.038 | 0.034 | 0.030 | 0.036 | 0.040 | 0.039 | 0.036 | 0.038 | 0.042 | 0.039 [ 0.038
B | LBEERRE OB E (ppm) | 0.111 | 0.095 | 0.090 | 0.081 | 0.076 | 0.088 | 0.084 | 0.111 | 0.085 | 0.079 | 0.095 | 0.087 | 0.111
% Elﬂzifgﬁgﬁ;‘)oﬁo%:o. O6ppml g 17 10 7 6 10 21 12 10 16 19 17 164
HE (%) 63.3 54.8 37.0 22.6 19.4 35.7 67.7 41. 4 34.5 51.6 67.9 58. 6 46. 2
3 Eﬁ%ﬁ;;oéogpm 1 1 0 0 0 0 0 0 0 0 0 0 2
HE (%) 3.3 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.6
A RE B 30 31 27 31 31 28 31 29 29 31 28 29 355
iﬁa T 8 RF AT 3 706 731 674 729 728 696 724 702 711 727 654 705 8487
% TREFIEDFEXME (ppm) | 0.068 | 0.056 | 0.059 [ 0.053 | 0.054 | 0.064 | 0.083 | 0.096 | 0.114 | 0.098 | 0.103 | 0.077 | 0.077
R
TFERIE O RFIE (ppm) | 0.367 | 0.325 | 0.301 [ 0.270 | 0.274 | 0.258 | 0.377 | 0.468 | 0.409 | 0.348 | 0.338 | 0.305 | 0.468
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AIEIBFT - EARTILER s /IR #-2(2)-2

H
4 5 6 7 8 9 10 11 12 1 2 3 AR
HH
HhRIE H K 30 31 28 31 31 28 31 30 29 31 28 29 357
T E Rl 2K 706 731 692 729 727 692 726 706 719 727 656 715 8526
1ERME O EHE  (ppm) 0.014 | 0.012 | 0.013 | 0.012 | 0.010 | 0.012 | 0.014 | 0.017 | 0.018 | 0.017 | 0.020 | 0.014 | 0.014
i | 1R O B (ppm) 0.051 | 0.040 | 0.045 | 0.037 | 0.042 | 0.048 | 0.056 | 0.062 | 0.054 | 0.045 | 0.059 | 0.045 | 0.062
1t
zg | HOPRIEZS0. 04~0. 06ppm| 0 0 0 0 0 0 0 0 0 0 0 0
% DREE='S
EE5 %) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
H SFEEIE230. 06ppm
52 7 Ak 0 0 0 0 0 0 0 0 0 0 0 0 0
EE %) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HhlE B 30 31 28 31 31 28 31 30 29 31 28 29 357
1k T E R 2 706 731 692 729 727 692 726 706 719 727 656 715 8526
{t
Z | IEFBEOEHME (ppm) 0.002 | 0.001 | 0.002 | 0.002 | 0.002 | 0.001 | 0.003 | 0.005 | 0.008 | 0.005 | 0.006 | 0.002 | 0.003
#
1RFEME D fe e (ppm) 0.043 | 0.024 | 0.033 | 0.023 | 0.024 | 0.017 | 0.044 | 0.090 | 0.133 | 0.072 | 0.064 | 0.030 | 0.133




AIEISH - MEBESHARBES

#-2(2)-3

H
4 5 6 7 8 9 10 11 12 1 2 3 AHR
HH
HhlE B 30 31 28 31 31 28 31 29 28 31 28 29 355
HIE R % 707 728 689 730 727 692 724 701 714 727 660 720 8519
1RFEE O FEHME  (ppm) 0.021 | 0.016 | 0.017 | 0.016 | 0.015 | 0.017 | 0.019 | 0.019 | 0.022 | 0.021 | 0.024 [ 0.018 | 0.019
me | LR O B (ppm) 0.059 | 0.042 | 0.048 | 0.040 | 0.043 | 0.055 | 0.052 | 0.055 | 0.059 [ 0.049 | 0.066 | 0.051 | 0.066
{k -
zg | HPIEZ30. 04~0. 06ppm| 0 0 0 0 0 0 0 0 0 1 0 1
£ D B
EE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.6 0.0 0.3
H S IfE H30. 06ppm
B2 2 A 0 0 0 0 0 0 0 0 0 0 0 0 0
EE (%) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
H3hE B 30 31 28 31 31 28 31 29 28 31 28 29 355
[ T 8 RF AT 3 707 728 689 730 727 692 724 701 714 727 660 720 8519
1t
% 1RFEE O FEHME  (ppm) 0.007 | 0.004 | 0.006 [ 0.007 | 0.008 | 0.008 | 0.014 | 0.017 | 0.025 | 0.019 | 0.017 | 0.009 | 0.012
R
IFMEOEEME (ppm) 0.067 | 0.043 | 0.043 | 0.049 | 0.047 | 0.058 | 0.199 | 0.116 | 0.180 | 0.140 | 0.138 | 0.083 | 0.199
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2-(3) WMOBBRMEKICK D F M FRNERERAEAMNT -3
BIEIBA : HKEBHEHH SR AER

F#-2(3)-1
H
4 5 6 7 8 9 10 11 12 1 2 3 A HA R
HH
HhHAIE H K 30 29 30 31 31 30 31 29 31 31 28 31 362
T E R 2K 717 716 715 740 739 718 742 710 741 741 670 743 8692
1ERME O EHE  (ppm) 0.028 | 0.027 | 0.029 | 0.041 | 0.036 | 0.037 | 0.029 | 0.024 | 0.024 | 0.016 | 0.021 0.016 | 0.027
1R O s (ppm) 0.117 | 0.087 | 0.096 | 0.117 | 0.274 | 0.126 | 0.075 | 0.100 | 0.102 [ 0.054 | 0.080 | 0.072 | 0.274
1R [EMIE 230. 20 mg/m3
! ré 0 0 0 0 3 0 0 0 0 0 0 0 3
g R Y Ik
EE5 %) 0.0 0.0 0.0 0.0 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
H 2B A30. 10 mg/m’
: . 0 0 0 0 0 0 0 0 0 0 0 0 0
Bz 5 A
EE %) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




-(NMIDKEREER—&

#£-3()-1

5 H HOE O OK O# E B T BB E
PR3 — —
EERE —

Bl K — —
ﬁé%*?ﬁ? — —

JHI JIDBES — —

oAl @5 — —
SR — —

R ST — —
o — —

H B — —
HA — —
L8 — —
BRI A 0.01 mg/0LLTF 0.001 mg/0
2T BHI W & 0.1 mg/0
& 0.01 mg/0LLTF 0. 005 mg/0
ANz o A 0.05 mg/QLLF 0.02 mg/ 0
[ ES 0.01 mg/0LLTF 0. 005 mg/ 0
FAOK R 0.0005 mg/0LL T 0.0005 mg/0

fie PCB MRS nZnwz & 0.0005 mg/0
o AR 0.02 mg/0LLTF 0. 002 mg/0
L RAES 0.002 mg/0LLTF 0.0002 mg/0
L,2-Y/uauaxH 0.004 mg/QLLF 0.0004 mg/0

I3 [ I->ZuuxHL o 0.02 mg/0LLTF 0. 002 mg/0
VA-L,2-V/uuxF L 0.04 mg/0LLF 0. 004 mg/ 0
LLl-F) 7ok 1 mg/OULTF 0.0005 mg/0
,1,2-hNVZ oo 0.006 mg/0LLF 0.0006 mg/0
Ky ZopxTFL 0.03 mg/0LLTF 0. 002 mg/0

H FrS 7 nuTFL o 0.01 mg/0LLF 0.0005 mg/0
,3-Y/7noun 7o~y 0.002 mg/0LLTF 0.0002 mg/0
F 7T L 0.006 mg/0LLTF 0.0006 mg/0
v 0.003 mg/0LLTF 0.0003 mg/0

H FFXLHNT 0.02 mg/0LLTF 0. 002 mg/0
~L P 0.01 mg/0VLTF 0.001 mg/0
1L 0.01 mg/O0LLF 0.002 mg/0
HfEIEE R Az . 0.05 mg/0
R ER Far10 me/0LLT 0.05 ng/0
5o 0.8 mg/0LLTF 0. 08 mg/ 0
ESES 1 mg/QULT 0.02 mg/ 0
KFEA A RE (pH) 6. 501 8. 5L F —

Z MRS ek & (BOD) 2 mg/0LLTF 0.1 mg/0

T b rriE R k& (COD) — 0.1 mg/0

- FrlE e R (SS) 25 mg/0LL T 1 mg/0

B A SO0 7.5 mg/00) | 0.1 ng/0

15 PN R, 1000 MPN/100m0LL T —

- n— ¥ HHYE — 0.5 mg/Q

= LER — 0. 05 mg/0

H XY — 0.003 mg/0
L igh 0.03 mg/0LLF 0. 001 mg/ 0
7 = ) — )V * 0.5 mg/OLLT 0. 005 mg/ 0

K i ¥ 0.3 mg/0LLTF 0.01 mg/0

B TR iR TESE * 1.0 mg/OLLTF 0.02 mg/ 0

TH AR~ T * 1.0 mg/0LLF 0.01 mg/0

H VAP ¥ 0.2 mg/0LLTF 0.02 mg/0
=L — 0. 008 mg/0
TR TSR — 0. 04 mg/ 0

% DABEREY A — 0. 005 mg/ 0

D BERnE R — —

fth Bk A A — 2 mg/ 0
A A W miE Al — 0.03 mg/Q

X Tx ) (PHERERE (BEMH) 2RKT
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OMIIIKERET—RIZTOVWTHOEEEE
KR TERIBUKE) Tt TR 13, WRRICERAET 220355
RO TCEE x TR AL D Sl 1 Tl By AR
- RPO TR Six, ERTIRERECHDLZEE2 0D
c BHE OB REIT., FIRFEETIAE TIZ100 4H DH30) | HNEIFEE TS0 TH S
- RIBGWEBEEOTEEER R L 35, BlAE, JERED 11000) Tholedhild, RHOFR
1T T1.0E+3) &72% (1.0X10°%2 %)

OT—FRITHBEL TLEWERE
HRFEARBAAE O P CEPNAWIE L T D28, —ERIITHEIR L i,

FHAIEH : EPN (CReZRIEH . fIEHEE0. 006mg/0)
FRELHT - HE)I (A EAE)

TREAERE - A2m], 8A L2H oEnENYEl (1086 OFFE) ICHIE
TAEFER - 8H « 2H & H120. 0006mg/ 04

PEHR3-11



- AN ERERFET —4

FHAE)I (RRF04E) HEH - FR204F4H 16 H -3(2)-1
HIEE B 10:00 16:00 22:00 14:00
PR 5 = = =
mi A K (BKE) (mm) 0.0 — — —
KT (m) 1.270 1. 270 1. 280 1. 320
BRI (m) 0. 254 0. 254 0. 256 0. 264
PR (m/F)) 0. 59 0.58 0. 64 0. 60
i (m/Fb) 32.35 32. 84 36. 80 36. 42
SR (C) 18.7 20. 2 16. 5 13.5
JKIE. (C) 13.0 15.2 12.5 11.3
=N B 5 W R B2 WK B 5 W R Mo
B (%) > 30 > 30 > 30 > 30
B3 R 5 R R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7.8 7.8 7.7
UL B R (mg/0) 0.7 1.0 1.5 1.4
(PR EERE (mg/0) 2.0 2.3 2.2 2.3
Y R (mg/0) 7 7 6 7
BT RE (mg/0) 11.2 11.0 10.7 11. 1
KIBHE R (MPN/100m@) 1. 3E+02 —
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.4 - 1.4 —
EUNY (mg/0) 0.061 - 0. 063 -
A (mg/0) 0. 002 — — -
7= ) —)VHH (mg/0) | < 0.005 — - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.16 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
T UE=THER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0. 052 - - —
ERREE (mS/m) 13 13 13 13
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EEHm3-12




FHAE)I (RRF04E) HIEH - FR204E5H 28 H -3(2)-2
HIEE B 10:00 16:00 22:00 14:00
PR g = = Y
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1. 280 1. 360 1. 360 R
BRI (m) 0. 256 0.272 0.272 0. 250
JiREs (m/F)) 0.75 0.70 0.73 R
A (m’/Th) 42.31 42. 83 41.91 R
SR (C) 25. 8 23.3 20. 3 16. 1
JKIE. (C) 17.6 17.3 16. 6 15. 1
=N BH 2 VWK £ B2 WK A BH 2 VWK £ PN
B (%) 85 75 383 55
B3 w5 5 R R
pisc) HHa L ML el Y, miiEmd v
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
DA =P 4 (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LI-CZooxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.98 — - —
et E R (mg/0) | < 0.05 - -
IR O EMERIEESE (ng/0) 1.0 — - —
>0 (mg/0) - - - —
ERES (mg/0) - - - —
IKEA A BE 8. 8.1 7.7 7.6
UL B R (mg/0) 1.1 1.5 1.4 2.0
(PR EERE (mg/0) 2. 2.2 2.2 3.4
Y R (mg/0) 4 3 4 8
BT RE (mg/0) 10. 6 10. 8 9.4 9.4
KGR (MPN/100m0) 4. 6E+02 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.1 - 1.3 —
EUNY (mg/0) 0. 044 - 0. 044 -
A (mg/0) 0. 002 — — —
7 x /) — )V (mg/0) - - - —
il (mg/0) - - - —
VAl e gk (mg/0) - - —
iRt~ o (mg/0) - - - -
7 v (mg/0) - - - -
=y (mg/0) - - - -
TR T EEE (mg/0) | < 0.04 - — -
D ARIED A (mg/0) 0.023 — — —
ERREE (mS/m) 13 13 13 12
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - —

EEHm3-13




FHAE)I (RRF04E) HEH - FR204F6 H 11 H -3(2)-3
HIEE B 10:00 16:00 22:00 14:00
PR = = = Y
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1. 450 1. 390 1. 390 1. 460
BRI (m) 0. 290 0.278 0.278 0. 292
PR (m/F)) 0.76 0.70 0.73 0.82
i (m/Fb) 48.77 44, 69 47.55 55. 63
SR (C) 24.7 25.0 20. 2 19.5
JKIE. (C) 17.0 19.0 17.5 16. 7
=N (0% B Mo 0% B (4575 B
B (J) > 100 > 100 > 100 100
B3 R 5 w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.0 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.4 7.7 7.6
UL B R (mg/0) 1.1 1.0 0.8 1.3
(PR EERE (mg/0) 1.8 1.8 1.5 2.4
Y R (mg/0) 4 3 2 4
BT RE (mg/0) 10.3 10. 7 9.2 9
KGR (MPN/100m0) 1. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.1 - 1.1 —
EUNY (mg/0) 0. 042 - 0. 053 -
A (mg/0) 0. 004 — — -
7= ) —)VHH (mg/0) | < 0.005 — - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
e~ o v (mg/0) | < 0.01 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 036 — — -
ERREE (mS/m) 13 13 13 15
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

G EHm3-14




FHAE)I (RRF04E) HEH . 20T H2H #*-3(2)-4
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1. 440 1. 430 1. 400 1. 390
BRI (m) 0. 288 0. 286 0. 280 0.278
PR (m/F)) 0.73 0.67 0.70 0. 60
i (m/Fb) 49.78 46. 58 19. 15 37.77
SR (C) 29. 9 26. 2 22.7 18. 8
JKIE. (C) 21. 4 22.0 20. 2 17.9
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
pisc) HHa L ML HH L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.0 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 8.3 7.7 7.6
UL B R (mg/0) 0.7 0.8 0.6 0.7
(PR EERE (mg/0) 1.7 2.0 1.7 1.8
Y R (mg/0) 3 4 3 3
BT RE (mg/0) 11.2 10.0 9.2 9.1
KGR (MPN/100m0) 1. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.2 - 1.2 —
EUNY (mg/0) 0.078 - 0. 061 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 033 — — -
ERREE (mS/m) 13 12 13 13
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - -

EEHm3-15




FHAE)I (RRF04E) HEH - FR204E8 H 13 H #*-3(2)-5
HIEE B 10:00 16:00 22:00 14:00
PR 5 = = 5
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 1.200 1.190 1. 200 1.200
BRI (m) 0.124 0.110 0.118 0.118
FiRes (m/F) 0.48 0. 45 0.45 0.44
i (m/Fb) 21.00 19. 25 19. 64 19. 42
SR (C) 31.1 30. 3 27. 4 24.5
JKIE. (C) 23.8 25.0 23.9 22. 4
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
S8l HHa L ML HH L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
DA =P 4 (mg/0) | < 0.002 - - —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - - —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - - —
HRIEER (mg/0) 1.0 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.0 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.1 7.7 7.6
UL B R (mg/0) 1.6 0.8 1.7 0.7
(LS BR 3E TRk i (mg/0) 2.4 2.2 2.8 2.1
Y R (mg/0) 3 3 5 3
BT RE (mg/0) 9.4 8.8 7.7 1
KGR (MPN/100m0) 2. TE+03 — - -
n—~NHU Y E & A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 1.5 - 1.4 —
EUNY (mg/0) 0. 057 - 0. 069 -
A (mg/0) [ < 0.001 — - -
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
e (mg/0) | < 0.008 — = -
TUoE=THRER (mg/0) 0. 05 - - -
D ABRREY A (mg/0) 0. 046 - - —
ERREE (mS/m) 14 14 14 14
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

BEHm3-16




FHAE)I (RRF04E) HEH - FR204F9H 10H #*-3(2)-6
HIEE B 10:00 16:00 22:00 14:00
ENS i i i [
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1.430 1. 420 1. 400 1. 350
BRI (m) 0. 164 0. 164 0. 154 0. 154
PR (m/F)) 0.79 0. 80 0.74 0.70
i (m’/Th) 53. 14 53. 37 46.67 43. 56
SR (C) 28. 8 28.9 19. 8 18.5
JKIE. (C) 21.0 21. 4 20. 2 19.8
=N ST WVWEE GRS 5 WKE Bl 5 WK A
B (%) 55 52 74 54
B3 R 5 w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak - - -
& (mg/0) [ < 0.005 — - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.8 7.8 7.8 7.7
UL B R (mg/0) 0.7 0.9 0.6 0.4
(PR EERE (mg/0) 2.1 1.9 1.8 1.9
Y R (mg/0) 5 6 5 5
BT RE (mg/0) 9.5 9.6 8.5 8.6
KGR (MPN/100m0) 7. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 065 - 0. 049 -
A (mg/0) 0. 002 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0.036 - - —
ERREE (mS/m) 13 13 13 13
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - -

BRHm3-17




FHAE)I (RRF04E) HEH - FR204FE10H 22 H -3(2)-7
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 1. 100 1. 130 1.130 1. 130
BRI (m) 0. 074 0. 068 0. 068 0. 068
PR (m/F)) 0. 47 0. 46 0. 45 0.48
i (m/Fb) 19.31 18.76 18.35 19. 75
SR (C) 22.9 22.3 16. 7 16. 2
JKIE. (C) 17.5 18.5 17.3 16. 4
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 w5 5 R R
S8l HHa L ML HH L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 8.2 7.8 7.7
UL B R (mg/0) 0.5 0.6 0.6 0.5
(LS BR 3E TRk i (mg/0) 1.4 1.9 1.6 1.7
Y R (mg/0) 1 2 3 P
BT RE (mg/0) 10.3 10. 4 8.8 8.6
KGR (MPN/100m0) 7. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 044 - 0.072 -
A (mg/0) 0.001 — — -
7= ) —)VHH (mg/0) | < 0.005 - - -
il (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.03 - -
e~ o v (mg/0) | < 0.01 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 04 - - -
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 15 14 15 16
Bt A (mg/0) 4 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

BEHm3-18




FHAE)I (RRF04E) HIEH - FR204E11LH5H #*-3(2)-8
HIEE B 10:00 16:00 22:00 14:00
BN i i I3 %
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 1.200 1. 130 1.130 1. 130
BRI (m) 0.132 0.114 0.114 0.114
PR (m/F)) 0. 50 0. 50 0.51 0. 50
i (m’/Th) 21. 88 20. 52 20. 57 20. 26
SR (C) 14.2 14.2 10. 8 7.7
JKIE. (C) 15.5 15.0 15.5 14. 8
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.2 8.5 7.9 7.7
UL B R (mg/0) 0.7 1.3 1.0 0.7
(PR EERE (mg/0) 1.7 1.7 1.5 1.5
Y R (mg/0) 2 2 1 1
BT RE (mg/0) 11. 1 10.9 9.4 9.5
KGR (MPN/100m0) 3. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.3 - 1.5 —
EUNY (mg/0) 0. 049 - 0. 074 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0. 048 - - —
ERREE (mS/m) 14 14 15 15
Bt A (mg/0) 4 - 3 -
feA A v A mmiE Al (mg/0) - - - -

BEHm3-19




FHAE)I (RRF04E) HIEH - FR204FE12H 3 H #-3(2)-9
HIEE B 10:00 16:00 22:00 14:00
BN i i 5 i
mi A K (BEKE) (mm) 0.5 — — —
2KIE (m) 0. 320 0. 320 0.310 0. 340
BRI (m) 0. 058 0. 056 0. 058 0. 060
PR (m/F)) 0. 68 0. 68 0. 69 0. 68
i (m/Fb) 18. 28 17. 80 18. 24 18.57
SR (C) 14.9 13.7 6.2 5.7
JKIE. (C) 12.9 12.6 12.5 11.2
=N 4,375 B PR ) 0% B Mo
B (J) > 100 50 100 > 100
B3 R 5 w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
_LP (mg/0) - - . ’
L (mg/0) - - - =
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.2 7.9 7.8
UL B R (mg/0) 1.2 0.8 0.5 0.9
(PR EERE (mg/0) 1.6 1.7 1.7 1.7
Y R (mg/0) 3 10 5 3
BT RE (mg/0) 11.8 11.0 10.3 10. 3
KGR (MPN/100m0) 2. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.4 —
EUNY (mg/0) 0. 063 - 0. 043 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
e~ o v (mg/0) | < 0.01 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 047 — — -
ERREE (mS/m) 15 16 16 17
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-20




FHAE)I (RRF04E) HEH - FEIF1LHTH #-3(2)-10
HIEE B 10:00 16:00 22:00 14:00
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0. 330 0. 350 0. 330 0. 340
BRI (m) 0. 056 0. 060 0. 060 0. 056
PR (m/F)) 0.71 0.72 0.72 0.71
i (m/Fb) 19. 94 20. 38 20. 25 20. 18
SR (C) 7.0 7.7 5.5 4.5
IKIE. (C) 8.5 8.9 8.0 8.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 w5 Iy w5 R
pisc) HHa L ML L L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.2 8.7 7.9 7.7
UL B R (mg/0) 1.0 1.6 1.7 1.5
(PR EERE (mg/0) 1.5 1.6 1.4 1.4
Y R (mg/0) 2 2 2 1
BT RE (mg/0) 13.0 13.8 11.5 11.3
KGR (MPN/100m0) 2. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.3 - 1.4 —
EUNY (mg/0) 0. 055 - 0. 068 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 15 15 16 17
Bt A (mg/0) 4 — 4 -
feA A v A mmiE Al (mg/0) - - - -

HEHRm3-21




FHAE)I (RRF04E) HEH - FE21F2H4H #£-3(2)-11
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 1. 100 1.160 1. 100 1.120
BRI (m) 0.126 0.126 0.126 0.120
ikl (m/F) 0.54 0.54 0.57 0.58
i (m/Fb) 22.30 22.23 23.57 24.15
SR (C) 7.0 6.6 6.8 5.0
JKIE. (C) 7.5 8.2 8.2 7.5
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 w5 5 w5 R
S8l HHa L ML B L ML
B RIU LA (mg/0) [ < 0.001 — - —
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 - -
HEEEER L AR ERE (ng/0) 1.2 - — -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 8.0 7.7 7.7
Eb AR E R (mg/0) 1.6 1.4 1.4 1.7
(LS BR 3E TRk i (mg/0) 1.4 2.1 2.0 2.0
Y R (mg/0) 4 4 6 3
BT RE (mg/0) 12.2 13.3 11.3 12.0
PN (MPN/100m0) 79 — = -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 1.4 - 1.7 —
EUNY (mg/0) 0. 065 - 0.13 -
A (mg/0) 0. 004 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
VAR~ 7~ (ng/0) | < 0.01 - - -
AN (mg/0) - - - -
e (mg/0) | < 0.008 — - —
TR =T RER (mg/0) | < 0.04 - — —
D ARIED A (mg/0) 0. 047 — - —
ERREE (mS/m) 15 15 15 15
Bt A (mg/0) 4 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

PHm3-22




FHAE)I (RRF04E) HEH - FE21F3H5H #£-3(2)-12
HIEE B 10:00 16:00 22:00 14:00
PR g i = Y
mi A K (BEKE) (mm) 11.5 — — —
KT (m) 1. 250 1.170 1.170 1.170
BRI (m) 0. 104 0.102 0.102 0.102
PR (m/F)) 0. 45 0.47 0.48 0.48
i (m/Fb) 16. 08 16. 47 16.95 16.95
SR (C) 10. 0 11.4 9.0 6.0
IKIE. (°C) 9.1 10. 2 9.3 8.0
=N (0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 w5 R
pisc) HHa L ML B L ML
B R T A (mg/0) | < 0.001 - - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.3 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.8 8.1 7.8 7.
UL B R (mg/0) 1.5 2.8 1.7 2.1
(PR EERE (mg/0) 1.8 2.2 2.0 1.
Y R (mg/0) 3 4 3 3
BT RE (mg/0) 12.4 12.4 11.4 11.3
KGR (MPN/100m0) 3. 3E+02 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 063 - 0. 065 -
A (mg/0) 0.013 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
Bt~ (mg/0) — — = -
w7 a (mg/0) - - - -
=y (mg/0) - - - -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 041 — — -
ERREE (mS/m) 15 15 15 15
Bt A (mg/0) 5 — 5 -
feA A v A mmiE Al (mg/0) - - - -

HRHR3-23




BRI (E—8hER) HEH : FRlk20F4H 168 #*£-3(2)-13
HIEE B 10:40 16:40 22:40 14140
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 430 0. 440 0. 450 0. 440
BRI (m) 0. 086 0. 088 0. 090 0. 088
NI (m/F)) 0.77 0.75 0.74 0.71
A (m/Fb) 2. 80 2.72 2.70 2. 60
SR (C) 20. 8 19. 1 16. 5 13.2
JKIE. (C) 14.7 15.5 14.2 13.5
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 > 30 > 30
B3 w5 5 R R
S8l HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7.8 7.6 7.
UL B R (mg/0) 0.8 0.9 0.8 2.1
(PR EERE (mg/0) 1.5 1.9 1.7 2.4
Y R (mg/0) 2 3 2 3
BT RE (mg/0) 10. 6 10. 1 9.5 10.0
KGR (MPN/100m0) 1. 1E+03 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.5 - 1.5 —
EUNY (mg/0) 0. 040 - 0. 054 -
A (mg/0) 0. 004 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TrE=ThER (mg/0) 0.12 - - -
D ARIED A (mg/0) 0. 027 — — —
ERREE (mS/m) 14 14 14 14
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHm3-24




BRI (E—8hER) HEH : FRlk2055H 28 H *£-3(2)-14
HIEE B 11:00 17:00 23:00 #15:00
PR 5 = = 5§l
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.960 0. 980 0.980 R
BRI (m) 0.192 0.196 0.196 0.200
FiRes (m/F)) 0.88 0.86 0.86 R
A (m’/Th) 19. 49 19.02 19. 05 R
SR (C) 23.6 23.2 19. 0 15. 8
JKIE. (C) 18. 4 19.8 16.5 16. 3
=N 0% B Mo 0% B PN e
B (%) > 100 93 100 60
B3 w5 fIEy w5 R
pisc) B L ML Bl Y, miiEmd v
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
DA =P 4 (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 0.87 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 0.92 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.8 7.8 7.7 7.7
UL B R (mg/0) 0.7 0.6 0.8 1.3
(PR EERE (mg/0) 1.8 1.6 2.0 2.6
Y R (mg/0) 3 4 3 10
BT RE (mg/0) 9.7 9.6 9.6 9.4
KGR (MPN/100m0) 1. 1E+03 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 0.99 - 1.0 —
EUNY (mg/0) 0. 022 - 0. 026 -
A (mg/0) 0. 003 — — —
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - —
iRt~ o (mg/0) - - - -
AN (mg/0) - - - -
=y v (mg/0) - - — —
TR THESR (mg/@) | < 0.04 - - -
D ARIED A (mg/0) 0. 009 — — —
ERREE (mS/m) 10 10 10 10
YAk A A (mg/0) | < 2 - 2 -
feA A v A mmiE Al (mg/0) - - - —

HRHR3-25




BRI (E—8hER) HEH : FRk20FE6H11H #*£-3(2)-15
HIEE B 11:00 17:00 23:00 #15:00
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.570 0. 540 0.570 0. 590
BRI (m) 0.114 0.108 0.114 0.118
NI (m/F)) 0. 84 0.83 0.82 0.85
A (m/Fb) 11.06 11.06 11.16 11.91
SR (C) 24.5 23.0 18.5 19.5
JKIE. (C) 17.5 19.5 17.2 16.0
=N 5 WKRE Bl 5 WK A B 5 W R GRS
B (J) > 100 > 100 > 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 0.98 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 7.9 7. 7.6
UL B R (mg/0) 1.3 1.2 1.1 1.0
(LS BR 3E TRk i (mg/0) 1.8 1.6 1.9 2.0
Y R (mg/0) 4 4 4 3
BT RE (mg/0) 9.9 9.8 9.5 6
KGR (MPN/100m0) 1. 1E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.0 - 1.0 —
EUNY (mg/0) 0.014 - 0.013 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.07 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 007 — — -
ERREE (mS/m) 10 10 10 10
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-26




BRI (E—8hER) HEH . 20T H2H #%-3(2)-16
HIEE B 11:00 17:00 23:00 #15:00
PR 5 5 B =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 860 0. 870 0. 840 0. 840
BRI (m) 0.172 0.174 0.168 0. 168
NI (m/F)) 0. 43 0.42 0. 42 0.39
A (m/Fb) 7.38 7.30 7.02 6. 58
SR (C) 29. 7 25. 4 21.4 20. 8
JKIE. (C) 19.8 22.7 19.7 17.7
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 w5 5 w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.0 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 8.1 7.7 7.7
UL B R (mg/0) 0.8 0.7 0.7 0.7
(LS BR 3E TRk i (mg/0) 1.5 1.7 1.7 1.6
Y R (mg/0) 1 2 1 1
BT RE (mg/0) 9.6 9.0 8.6 9.2
KGR (MPN/100m0) 2. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.1 - 1.2 —
EUNY (mg/0) 0. 022 - 0. 023 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.13 - - -
D ARIED A (mg/0) 0.016 — — -
ERREE (mS/m) 12 11 11 12
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-27




BRI (E—8hER) HEH : FRlk20FE8H 13 H *£-3(2)-17
HIEE B 10:00 16:00 22:00 Z14:00
BN i i 5 %
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 0. 750 0. 740 0. 740 0. 740
BRI (m) 0. 150 0.148 0.148 0. 148
il (m/F) 0.28 0.28 0.27 0.28
A (m/Fb) 4.23 4.21 4,17 4,22
SR (C) 32.8 29.5 26. 8 23.4
JKIE. (C) 23.5 25. 2 23.6 21.7
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 R R
S8l HHa L ML HEa L ML
B RIU LA (mg/0) | < 0.001 — - —
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - — —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) T - - —
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2-y>/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZuunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - —
,1,2-hUZoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
3> /7nua7a~y (mg/0) | < 0.0002 — — —
FTU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) [ < 0.0003 — - —
FARH T (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIMEER (mg/0) 0.83 — - —
e E R (mg/0) | < 0.05 - -
TERTERE K A EATE R (mg/0) 0. 88 — - —
5038 (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 7.9 7.6 7.6
LA E R & (mg/0) 1.1 0.7 1.0 0.2
LS BR E TRk (mg/0) 1.8 1.8 2.0 1.5
Y R (mg/0) 1 2 2 P
BFIERE (mg/0) 8.9 8.4 7.8 7.9
KGR (MPN/100m0) 4. 9E+03 - -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 1.0 - 1.0 —
20 A (mg/0) 0. 025 - 0. 044 -
A (mg/0) [ < 0.001 — - —
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
VA S e gk (mg/0) | < 0.02 — -
it~ o (mg/0) | < 0.01 - - *
VA=A (mg/0) | < 0.02 - — -
e (mg/0) | < 0.008 — = -
T o= TRER (mg/0) 0. 08 - - —
D ARIED A (mg/0) 0.018 — - —
ERREE (mS/m) 12 12 12 12
Bt A (mg/0) 2 - 2 -
fe A A v A miE Al (mg/0) | < 0.03 - — -

PHm3-28




BRI (E—8hER) HEH : FRk2089H 10H #*£-3(2)-18
HIEE B 10:10 16:10 22:10 F14:10
BN i I 5 i
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 800 0.810 0.810 0.810
BRI (m) 0. 160 0.162 0.162 0. 162
NI (m/F)) 0. 43 0.42 0. 46 0.48
A (m/Fb) 7.26 6.99 7.63 7.96
SR (C) 29. 1 30. 2 19. 2 18.6
JKIE. (C) 20.5 23.3 20. 4 18.3
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.2 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 7.9 7.7 7.7
UL B R (mg/0) 0.6 0.5 0.2 0.5
(PR EERE (mg/0) 1.3 1.4 1.4 1.3
Y R (mg/0) 2 3 2 P
BT RE (mg/0) 9.0 8.8 8.4 8.9
KGR (MPN/100m0) 2. 2E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.3 - 1.4 —
EUNY (mg/0) 0.018 - 0.018 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.05 - - -
D ARIED A (mg/0) 0.011 — — -
ERREE (mS/m) 12 12 12 12
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-29




BRI (E—8hER) HER . FR204E10H 22 H #£-3(2)-19
HIEE B 10:00 16:00 22:00 14:00
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 530 0. 560 0. 530 0. 520
BRI (m) 0. 088 0. 088 0. 086 0. 088
NI (m/F)) 0.28 0.29 0.28 0. 28
A (m/Fb) 3.16 3. 33 3.15 3.13
SR (C) 22.3 22.5 17.5 18.0
JKIE. (C) 17.6 19.0 18. 1 17. 1
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.5 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.5 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.9 8.0 7.7 7.7
UL B R (mg/0) 0.6 0.5 0.7 0.3
(PR EERE (mg/0) 1.2 1.2 1.4 1.1
Ry e & (mg/0) | < 1 <1 1 <1
BT RE (mg/0) 9.9 10.0 8.5 8.6
KGR (MPN/100m0) 1. 3E+03 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.9 - 1.9 —
EUNY (mg/0) 0. 026 - 0. 052 -
A (mg/0) 0.001 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TR =T RESR (mg/0) 0.35 - - -
D ABERED A (mg/0) 0.021 - - -
ERREE (mS/m) 16 16 16 16
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-30




BRI (E—8hER) HEH : FRk205FE11H5H #%-3(2)-20
HIEE B 10:00 16:00 22:00 Z14:00
PR = 5 B 5
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 540 0. 390 0. 390 0. 390
BRI (m) 0.072 0. 044 0. 042 0. 040
NI (m/F)) 0.23 0.32 0.33 0.31
A (m/Fb) 2. 56 3. 00 3. 04 2.91
SR (C) 15. 1 17.2 8.8 7.0
JKIE. (C) 16.0 16.9 15. 4 14. 1
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
S8l HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) - — - -
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.6 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.6 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 7.9 7.6 7.6
UL B R (mg/0) 0.8 1.0 0.6 0.6
(PR EERE (mg/0) 1.2 1.0 1.1 1.1
Y R (mg/0) [ < 1 <1 1 <1
BT RE (mg/0) 10.5 10.0 9.1 9.3
KGR (MPN/100m0) 4. 6E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.6 - 1.9 —
EUNY (mg/0) 0. 035 - 0. 053 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 08 - - -
D ABRREY A (mg/0) 0.016 - - —
ERREE (mS/m) 15 15 15 15
Bt A (mg/0) 3 - 3 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-31




BRI (E—8hER) HEH : FRlk205FE12H3H #%-3(2)-21
HIEE B 10:00 16:00 22:00 14:00
BN i i 5 i
mi A K (BEKE) (mm) 0.5 — —
2KIE (m) 0. 390 0. 390 0. 390 0. 390
BRI (m) 0. 050 0. 046 0.048 0. 048
il (m/F) 0.39 0.38 0.39 0.38
A (m/Fb) 3. 26 3.09 3.15 3. 17
SR (C) 14.2 13.2 3.0 2.0
JKIE. (C) 13.1 14.5 13.0 12.0
=N 4% B Mo 4% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
[ (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
HEEEER L AR ERE (ng/0) 1.3 - - —
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.0 7. 7.6
UL B R (mg/0) 1.0 0.5 1.1 0.8
(LS BR 3E TRk i (mg/0) 1.2 1.1 1.5 1.4
Y R (mg/0) [ < 1 <1 1 1
BT RE (mg/0) 11. 1 10.5 9.7 10.0
KGR (MPN/100m0) 1. 3E+03 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.5 - 1.7 —
EUNY (mg/0) 0. 029 - 0. 065 -
A (mg/0) 0. 005 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) 0.01 — - -
VAl e gk (mg/0) | < 0.02 — -
VAR~ 7~ (ng/0) | < 0.01 - - -
AN (mg/0) - - - -
=y v (mg/0) - - — —
TrE=ThER (mg/0) 0.10 - - -
D ARIED A (mg/0) 0.018 — — —
ERREE (mS/m) 14 14 15 14
Bt A (mg/0) 2 - 3 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-32




BRI (E—8hER) HEH - FEIF1LHTH #-3(2)-22
HIEE B 10:00 16:00 22:00 Z14:00
PR 5 5 = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 540 0. 540 0. 540 0. 520
BRI (m) 0. 066 0. 066 0. 068 0.070
NI (m/F)) 0.21 0.20 0.19 0.19
A (m/Fb) 1.99 1.90 1.81 1.86
SR (C) 8.0 7.3 4.8 4.5
JKIE. (C) 10.5 10.9 10.0 9.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 R e R R
pisc) HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
DA =P 4 (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
Lo-YZunuxkHy (mg/0) - - - -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.2 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.2 — - —
>0 (mg/0) - - - —
ERES (mg/0) - - - —
IKEA A BE 8.0 8.0 7.6 7.5
UL B R (mg/0) 1.5 0.8 1.9 1.7
(PR EERE (mg/0) 1.7 1.3 1.6 1.5
Y R (mg/0) 2 1 1 1
BT RE (mg/0) 12.4 11.5 10. 2 10. 4
KGR (MPN/100m0) 7. 9E+02 — - -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.5 - 1.7 —
EUNY (mg/0) 0. 044 - 0. 058 -
A (mg/0) 0. 003 — — —
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - —
iRt~ o (mg/0) - - - -
7 v (mg/0) - - - -
=y (mg/0) - - - -
TR T EEE (mg/0) 0.26 - — -
D ARIED A (mg/0) 0. 009 — — —
ERREE (mS/m) 14 14 14 14
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - —

HRHR3-33




BRI (E—8hER) HEH - FE21F2H4H #%-3(2)-23
HIEE B 10:00 16:00 22:00 14:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 420 0. 420 0. 430 0.410
BRI (m) 0. 066 0. 066 0. 064 0. 060
il (m/F) 0.36 0.37 0.39 0.38
A (m/Fb) 3.56 3. 67 3.90 3. 66
SR (C) 7.7 8.6 6.7 5.4
JKIE. (C) 10.0 11.0 10.0 9.6
=N 0% B Mo 4,375 B GRS
B (J) > 100 > 100 100 96
B3 w5 5 R R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) N - - —
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2-y>/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZuunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hUZoo=x=X (mg/0) | < 0.0006 - — —
PAEREES (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
3> /7nua7a~y (mg/0) | < 0.0002 — — —
FTU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH T (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - ~ -
HRIMEER (mg/0) 1.4 — - -
e E R (mg/0) | < 0.05 - -
TERTERE K A EATE R (mg/0) 1.4 — = -
5038 (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.7 7.8 7.6 7.6
LA E R & (mg/0) 0.9 0.9 1.3 1.0
LS BR E TRk (mg/0) 1.3 1.1 1.9 1.5
Y R (mg/0) 1 1 2 1
BFIERE (mg/0) 11.8 11.4 12.0 10. 8
KGR (MPN/100m0) 7. 9E+02 — - -
n—HYHEWE S A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 1.7 - 2.1 —
20 A (mg/0) 0. 031 - 0. 065 -
A (mg/0) 0. 002 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VA S e gk (mg/0) | < 0.02 - -
it~ o (mg/0) | < 0.01 - - *
B e b (mg/0) | < 0.02 - - -
e (mg/0) | < 0.008 — = -
T o= TRER (mg/0) 0.10 - - —
D ARIED A (mg/0) 0.018 — - —
ERREE (mS/m) 14 14 15 14
Bt A (mg/0) 2 - 3 -
fe A A v A miE Al (mg/0) | < 0.03 - — -

ERHm3-34




BRI (E—8hER) HEH - FE21F3H5H #%-3(2)-24
HIEE B 10:00 16:00 22:00 14:00
PR 5 5 = N
mi A K (BEKE) (mm) 11.5 — —
2KIE (m) 0. 560 0. 530 0. 530 0. 540
BRI (m) 0. 096 0. 094 0. 096 0. 096
NI (m/F)) 0.52 0.51 0.48 0.49
A (m/Fb) 6. 34 6.23 5. 89 5. 86
SR (C) 8.0 11.0 7.6 5.8
JKIE. (C) 9.0 12.3 10. 7 9.1
=N 4% B Mo 4% B Mo
B (J) > 100 > 100 100 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
M) ZopxzFL v (mg/0) | < 0.002 — 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 0.95 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.7 7. 7.6 7.6
UL B R (mg/0) 1.9 2.1 2.0 1.8
(PR EERE (mg/0) 1.3 1.5 1.5 1.6
Y R (mg/0) 1 2 3 P
BT RE (mg/0) 12.2 11.3 11.0 11.5
KGR (MPN/100m0) 4. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.2 - 1.2 —
EUNY (mg/0) 0. 022 - 0. 033 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 07 - - -
D ARIED A (mg/0) 0.010 — — -
ERREE (mS/m) 11 11 11 11
Bt A (mg/0) 2 - 2 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-35




INER)I (B EHERE) HEH : FRlk20F4H 160 #*£-3(2)-25
HIEE B 11:20 17:20 23:20 #15:20
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 520 0. 500 0.510 0. 500
BRI (m) 0. 104 0.100 0.102 0.100
NI (m/F)) 0. 35 0. 36 0. 35 0.34
A (m/Fb) 2.19 2.22 2.19 2.09
SR (C) 21.2 18.8 15.9 13.7
JKIE. (C) 15.5 14.6 14. 3 13.2
=N 0% B Mo 0% B Mo
B (%) > 30 > 30 30 > 30
B3 w5 5 w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.2 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.2 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7.9 7.7 7.7
UL B R (mg/0) 0.6 0.7 0.7 1.2
(PR EERE (mg/0) 1.9 1.8 4,0 1.9
Y R (mg/0) 2 3 1 1
BT RE (mg/0) 9.9 9.8 9.9 10. 2
KGR (MPN/100m0) 4. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.5 - 2.5 —
EUNY (mg/0) 0.10 - 0. 085 -
A (mg/0) 0.001 - - -
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
VAfRME~ > T~ (ng/0) | < 0.01 - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 09 - - -
D ABRREY A (mg/0) 0. 090 - - —
ERREE (mS/m) 19 18 18 19
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

ERH3-36




INER)I (B EHERE) HEH - FRlk2055H 28 H #£-3(2)-26
HIEE B 12:10 18:00 0:00 21600
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.590 0.610 0.610 R
BRI (m) 0.118 0.122 0.122 0. 150
JiRCs (m/F)) 0.65 0.65 0.60 K
A (m’/Th) 4.07 4. 17 3.75 R
SR (C) 24. 2 22.5 18.9 15.5
JKIE. (C) 20. 3 20. 2 17.3 16. 8
=N B 5 W R B2 WK B 5 W R B
B (%) 88 90 82 23
B3 R 5 R PE
S8l HHa L ML Byl By, miiEmd v
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 2.1 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.1 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 7.9 7.8 7.7
UL B R (mg/0) 0.7 0. 4 0.6 2.0
(PR EERE (mg/0) 1.8 2.0 1.9 5.5
Ry e & (mg/0) 3 5 4 28
BT RE (mg/0) 9.2 9.2 9.5 9.3
KGR (MPN/100m0) 3. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.3 - 2.3 —
EUNY (mg/0) 0. 092 - 0. 092 -
A (mg/0) 0. 002 — — -
7= ) —)VHH (mg/0) - — - -
il (mg/0) - - - -
VAl e gk (mg/0) - - -
iRt~ o (mg/0) - - - -
AN (mg/0) - - - -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 06 - - -
D ARIED A (mg/0) 0. 080 — — -
ERREE (mS/m) 17 19 20 17
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) - - - -

EORHR3-37




INER)I (B EHERE) HEH - FR204F6 H 11 H #£-3(2)-21
HIEE B 12:30 18:30 0:30 $16:30
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0. 650 0. 650 0. 680 R
BRI (m) 0. 130 0.130 0.136 0. 150
JiRCs (m/F)) 0.52 0. 48 0.51 K
A (m’/Th) 3. 58 3.21 3.53 R
SR (C) 24. 8 22.0 19. 0 19.0
JKIE. (C) 19.0 19.6 18.0 16. 8
=N B 5 W R B2 WK B 5 W R RN
B (J) > 100 > 100 > 100 36
B3 R 5 R PE
pisc) HHa L ML HHa L HEY & Y
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
e (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vyuauaRrAR (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) - — - -
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - — -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.0 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 2.0 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.2 8.1 7.7 7.7
UL B R (mg/0) 1.5 0.8 1.0 1.2
(PR EERE (mg/0) 1.9 1.9 2.0 2.8
Y R (mg/0) 4 7 4 11
BT RE (mg/0) 9.8 8.9 .2 9.3
KGR (MPN/100m0) 4. 9E+03 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 2.2 - 2.2 —
EUNY (mg/0) 0.10 - 0. 083 -
A (mg/0) 0.001 — — —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.04 - —
iRt~ o (mg/0) | < 0.01 - - -
7 v (mg/0) - - - -
= v (mg/0) — — — -
TR T EEE (mg/0) 0. 04 - — -
D ARIED A (mg/0) 0. 081 — — —
ERREE (mS/m) 18 18 19 19
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-38




INER)I (B EHERE) HEH . FE20ETH2H #%-3(2)-28
HIEE B 12:00 18:00 0:00 21600
PR 5 5 B =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 640 0. 560 0. 590 0.570
BRI (m) 0.128 0.112 0.118 0.114
NI (m/F)) 0.51 0.51 0.48 0. 50
A (m/Fb) 2.88 2. 77 2.62 2. 66
SR (C) 25.9 24.5 20. 9 21.0
JKIE. (C) 22.5 22.7 19.7 18.2
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 w5 5 R R
pisc) HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 1.8 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.8 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.2 8.1 7.8 7.8
UL B R (mg/0) 0.8 0.7 0.6 0.6
(PR EERE (mg/0) 2.0 1.9 2.1 1.8
Y R (mg/0) 3 2 2 P
BT RE (mg/0) 9.1 8.8 9.2 9.4
KGR (MPN/100m0) 1. 7TE+03 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.1 - 2.0 —
EUNY (mg/0) 0.10 - 0.076 -
A (mg/0) 0.001 - - -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
gt~ > (mg/0) - - - -
AN (mg/0) - - - -
=y v (mg/0) - - — —
TUoE=THRER (mg/0) 0. 05 - - -
D ABRREY A (mg/0) 0.084 - - —
ERREE (mS/m) 18 18 19 18
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-39




INER)I (B EHERE) HEH - FR204E8 H 13 H #-3(2)-29
HIEE B 11:00 17:00 23:00 #15:00
PR 5 5 = 5
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 0. 380 0. 380 0. 390 0. 400
BRI (m) 0.076 0.076 0.078 0. 080
il (m/F) 0.83 0. 81 0.76 0.76
A (m/Fb) 1.08 1. 05 0.99 1.02
SR (C) 31.2 29.0 26. 5 22.5
JKIE. (C) 26. 7 26. 2 23.5 22. 1
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 w5 5 R R
pisc) HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - — —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIEER (mg/0) 1.3 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.3 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.2 8.2 7.8 7.8
Eb AR E R (mg/0) 1.0 0.6 0.4 0.7
(LS BR 3E TRk i (mg/0) 2.3 2.3 1.9 1.8
Y R (mg/0) 8 2 3 3
BT RE (mg/0) 8.5 8.1 7.9 8.2
KGR (MPN/100m0) 1. 3E+04 — - -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 1.6 - 1.6 —
EUNY (mg/0) 0.078 - 0. 053 -
A (mg/0) [ < 0.001 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) | < 0.02 — -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
e (mg/0) | < 0.008 — = -
TUoE=THRER (mg/0) 0.24 - - -
D ABRREY A (mg/0) 0. 059 - - -
ERREE (mS/m) 21 19 19 20
Bt A (mg/0) 5 - 4 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

ERHm3-40




INER)I (B EHERE) HEH : FRlk20F9H 10H #£-3(2)-30
HIEE B 10:50 16:50 22:50 14150
BN i I 5 %
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.670 0. 680 0. 680 0. 680
BRI (m) 0. 134 0.136 0.136 0.136
NI (m/F)) 0. 35 0.34 0.37 0.38
A (m/Fb) 2.51 2. 50 2. 68 2.76
SR (C) 29. 5 24.5 18.7 17.3
JKIE. (C) 23. 1 22.6 19.7 18.8
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 R 5 R R
S8l HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.9 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.9 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.0 8.0 7.7 7.8
UL B R (mg/0) 0.3 0.7 0.3 0.3
(PR EERE (mg/0) 1.5 1.6 1.7 1.5
Y R (mg/0) 1 2 2 P
BT RE (mg/0) 8.9 8.9 8.9 8.7
KGR (MPN/100m0) 1. 1E+04 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.2 - 2.2 —
EUNY (mg/0) 0.061 - 0.071 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 08 - - -
D ARIED A (mg/0) 0. 048 — — -
ERREE (mS/m) 20 19 21 20
Bt A (mg/0) 4 - 4 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-1




INER)I (B EHERE) HER . FR204E10H 22 H #-3(2)-31
HIEE B 10:30 16:30 22:30 14:30
PR 5 = = Y
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 460 0. 480 0.570 0. 480
BRI (m) 0. 092 0. 090 0. 094 0.096
NI (m/F)) 0.29 0. 30 0.29 0. 30
A (m/Fb) 1. 64 1.68 1.72 1.72
SR (C) 23.2 20. 8 16. 9 17. 1
JKIE. (C) 18.9 19.0 18.0 17.0
=N 0% B Mo 0% B Mo
B (J) > 100 100 100 > 100
B3 w5 5 R R
S8l HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.2 7.8 7.8
UL B R (mg/0) 0.4 0.5 0.3 0.3
(PR EERE (mg/0) 1.4 1.7 1.5 1.6
Y R (mg/0) 1 1 1 1
BT RE (mg/0) 10.0 9.6 9.3 9.3
KGR (MPN/100m0) 7. 9E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.5 - 2.6 —
EUNY (mg/0) 0. 099 - 0. 074 -
BN ) (mg/0) 0. 002 — = -
7 x ) —)LH (mg/0) | < 0.005 — — —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
=y (mg/0) - - - -
TUoE=THRER (mg/0) | < 0.04 - - -
D ABRREY A (mg/0) 0.084 - - —
ERREE (mS/m) 21 21 21 21
Bt A (mg/0) 4 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-12




INER)I (B EHERE) HEH : FRk205FE11H5H #%-3(2)-32
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 i
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 460 0. 420 0. 440 0. 450
BRI (m) 0. 084 0. 084 0. 086 0. 084
NI (m/F)) 0.24 0. 26 0.24 0.24
A (m/Fb) 1.19 1.23 1.18 1.21
SR (C) 18. 8 13.9 8.5 7.0
JKIE. (C) 15.9 17. 1 14.8 13.4
=N 4% B Mo 4% B Mo
B (J) > 100 > 100 100 > 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 2.5 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.5 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.2 8.1 7.8 7.8
UL B R (mg/0) 0.8 1.1 0.7 0.7
(PR EERE (mg/0) 1.5 1.5 1.5 1.4
Y R (mg/0) 1 1 1 1
BT RE (mg/0) 10.5 10.0 10.0 10.0
KGR (MPN/100m0) 7. 9E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.7 - 2.8 —
EUNY (mg/0) 0. 084 - 0.10 -
A (mg/0) 0. 002 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 04 - - -
D ARIED A (mg/0) 0. 080 — — -
ERREE (mS/m) 21 21 22 21
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-13




INER)I (B EHERE) HIEH : FR204FE12H 3 H #-3(2)-33
HIEE B 10:30 16:30 22:30 14:30
BN i I 5 %
mi A K (BEKE) (mm) 0.5 — — —
2KIE (m) 0. 420 0. 400 0.410 0.410
BRI (m) 0. 084 0. 080 0.078 0. 080
il (m/F) 0.21 0.21 0.21 0.19
A (m/Fb) 0.95 0.96 0.94 0. 89
SR (C) 17.5 8.5 3.5 2.0
JKIE. (C) 14. 2 14. 4 11.7 11.2
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 > 100
B3 R 5 R R
S8l HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 2.7 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.7 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.0 7.8 7.8
UL B R (mg/0) 0.7 0.8 0.3 1.2
(LS BR 3E TRk i (mg/0) 1.3 1.6 1.6 1.4
Y R (mg/0) [ < 1 1 <] <1
BT RE (mg/0) 10.9 10. 1 10.5 10. 7
KGR (MPN/100m0) 1. 3E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.8 - 2.9 —
EUNY (mg/0) 0.077 - 0.072 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.02 - -
VAfRME~ > T~ (ng/0) | < 0.01 - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.17 - - -
D ARIED A (mg/0) 0.074 — — -
ERREE (mS/m) 22 22 22 22
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EERHEI3-14




INER)I (B EHERE) HEH - PRI 1LHTH #%-3(2)-34
HIEE B 10:30 16:30 22:30 Z14:30
PR 5 5 LT =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 370 0. 390 0. 390 0. 380
BRI (m) 0.074 0.074 0.074 0.076
NI (m/F)) 0.14 0.13 0.13 0.14
A (m/Fb) 0. 60 0. 59 0.57 0. 58
SR (C) 10. 2 6.6 4.4 4.3
JKIE. (C) 11.0 11.0 9.0 9.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 > 100 100
B3 w5 fIEy w5 5
pisc) HHa L ML B L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-UZuaux X (mg/0) - - - -
LiI-YZuuxFL (mg/0) - - - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.6 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.6 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.6 8.9 7.8 7.8
UL B R (mg/0) 1.5 2.0 1.4 0.8
(PR EERE (mg/0) 1.7 1.8 1.4 1.6
Y R (mg/0) 1 2 1 1
BT RE (mg/0) 12.4 11.4 11.0 11.0
KGR (MPN/100m0) 3. 3E+02 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.8 - 2.8 —
EUNY (mg/0) 0. 079 - 0.072 -
A (mg/0) 0. 007 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0.04 - - -
D ABRREY A (mg/0) 0. 065 - - —
ERREE (mS/m) 21 22 22 25
Bt A (mg/0) 6 - 6 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-15




INER)I (B EHERE) HEH - FE21F2H4H #-3(2)-35
HIEE B 10:30 16:30 22:30 Z14:30
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 560 0. 560 0. 550 0. 560
BRI (m) 0. 100 0.100 0. 098 0.100
il (m/F) 0.40 0.41 0.40 0.39
A (m/Fb) 2.07 2.04 1.98 1.88
SR (C) 8.8 7.4 6.8 5.9
JKIE. (C) 9.9 9.8 9.2 9.2
=N B 5 W R B2 WK B 5 W R Mo
B (%) 74 82 95 100
B3 T+ 5 5 R fIEy
S8l HHa L ML HHa L ML
B RIU LA (mg/0) [ < 0.001 — - —
BTV (mg/0) Ak H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
P AEEES A4 (mg/0) | < 0.002 - < 0.002 —
FhS/7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIEER (mg/0) 2.2 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 2.2 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 7.8 7. 7.8 7.8
Eb AR E R (mg/0) 1.5 1.1 0.8 0.9
(LS BR 3E TRk i (mg/0) 2.0 1. 2.0 1.6
Y R (mg/0) 8 5 5 3
BT RE (mg/0) 11.7 11. 1 11.5 11.0
KGR (MPN/100m0) 3. 3E+03 — - -
n—~NHU Y E & A & (mg/0) | < 0.5 — < 0.5 -
BEFR (mg/0) 2.8 - 2.5 —
EUNY (mg/0) 0.14 - 0. 090 -
A (mg/0) 0. 007 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.03 - -
e~ o v (mg/0) | < 0.01 - - *
¥ o A (mg/0) - - - -
e (mg/0) | < 0.008 — - —
TR =T RER (mg/0) 0.11 - - —
D ARIED A (mg/0) 0.091 — - —
ERREE (mS/m) 19 19 20 19
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

PR3 -46




INER)I (BB EHERE) HEH - FE21F3H5H #%-3(2)-36
HIEE B 10:40 16:40 22:40 14140
PR 5 fi§ = N
mi A K (BEKE) (mm) 11.5 — — —
2KIE (m) 0. 240 0. 520 0. 520 0. 520
BRI (m) 0. 048 0. 094 0. 092 0. 092
NI (m/F)) 0. 49 0. 30 0.29 0. 30
A (m/Fb) 1.72 1.37 1.31 1.32
SR (C) 10. 5 9.1 8.2 6.2
JKIE. (C) 11.5 13.1 9.4 10. 0
=N 5 WKE Bl 5 WK A B 5 W R GRS
B (%) 38 82 50 > 100
B3 Z D (%) Z Ot (1%) Z DO (1%) Z Ot (1%)
pisc) K ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.0 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.0 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 7.9 8.1 7.7 7.8
UL B R (mg/0) 2.6 2.4 2.0 1.4
(PR EERE (mg/0) 3.6 2.4 2.5 1.8
Y R (mg/0) 8 6 7 4
BT RE (mg/0) 12.3 11.0 11.2 11.0
KGR (MPN/100m0) 7. 0E+02 -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.6 - 2.4 —
EUNY (mg/0) 0.21 - 0. 095 -
BN ) (mg/0) 0.006 — = -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
gt~ > (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 07 - - -
D ABRIEY A (mg/0) 0.11 — - -
ERREE (mS/m) 19 19 20 20
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) - - - -

EORHE3-17




FE )1 GEIK G ERRIFR) HIEH : FR204F4H 16 H #-3(2)-37
HIEE B 12:00 18:00 0:00 216:00
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.120 0.120 0.120 0.120
BRI (m) 0. 024 0.024 0. 024 0. 024
NI (m/F)) 0.78 0.75 0. 68 0.67
A (m/Fb) 1.12 0.99 0.90 0. 89
SR (C) 18.5 17.0 15.9 14.8
JKIE. (C) 17.5 17.3 15. 2 15. 2
=N 0% B KBt B 5 W R Mo
B (%) > 30 26 > 30 > 30
B3 w5 e w5 PE
S8l HHa L K HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.3 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.3 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.0 7.8 7.8
UL B R (mg/0) 0.5 1.4 0.9 1.0
(PR EERE (mg/0) 2.2 4.4 3.2 2.5
Y R (mg/0) 2 14 3 1
BT RE (mg/0) 10. 1 9.3 9.1 8
PNl (MPN/100m0) 3. 3E+03 - - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.7 - 2.5 —
EUNY (mg/0) 0. 053 - 0. 092 -
A (mg/0) 0. 002 — — -
7 x ) —)LH (mg/0) | < 0.005 — — —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.07 - -
e~ o v (mg/0) 0.01 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TUoE=THRER (mg/0) 0. 05 - - -
D ABRREY A (mg/0) 0. 048 - - —
ERREE (mS/m) 23 24 24 24
Bt A (mg/0) 6 - 6 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EORH3-18




FE ) GEIK G ERRIFT) HIEH - FR204E5H 28 H #-3(2)-38
HIEE B 12:55 18:55 0:55 16155
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.200 0. 190 0. 190 R
BRI (m) 0. 040 0.038 0.038 0.100
FiRes (m/F) 1.08 1. 11 1.22 K
A (m’/Th) 2. 46 2. 54 2.79 R
SR (C) 24.9 21.3 19. 1 15. 8
JKIE. (C) 19.8 20. 6 18.7 17.3
=N B 5 W R Bl 5 WK A B 5 W R B
B (%) 61 53 69 10
B3 A e P 5L +5
S8l FilEY B 1 EY & 0 FilEY B Y YK
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
DA =P 4 (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.9 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.9 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 8.0 7.8 7.6
UL B R (mg/0) 1.4 0.9 0.9 1.1
(PR EERE (mg/0) 2.8 3.0 2.5 11.0
TElE g & (mg/0) 7 6 5 1. 1E+02
BT RE (mg/0) 9.5 9.0 8.9 9.1
KGR (MPN/100m0) 2. 8E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.2 - 2.4 —
EUNY (mg/0) 0.076 - 0. 074 -
A (mg/0) 0. 006 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 08 - - -
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 19 19 25 13
Bt A (mg/0) 5 - 19 —
feA A v A mmiE Al (mg/0) - - - -

EORH3-19




FE ) GEIK G ERRIFT) HEH - FR204F6 H 11 H #-3(2)-39
HIEE B 13:30 19:30 1:30 $17:30
PR = = = N
mi A K (BEKE) (mm) 0.0 — — —
KT (m) 0.210 0.210 0.210 R
BRI (m) 0. 042 0. 042 0. 042 0.100
JiRCs (m/F)) 0.97 0.89 0.388 R
A (m’/Th) 2.32 2. 14 2. 10 R
SR (C) 25.7 20. 4 18.5 18.0
JKIE. (C) 20. 0 19.8 19.7 18.6
=N B 5 W R Bl 5 WK A B 5 W R PERD
B (J) > 100 > 100 > 100 78
B3 w5 5 w5 PE
pisc) HEa L ML HHa L EY & Y
B R T A (mg/0) | < 0.001 - - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
Nz o A (mg/0) | < 0.02 - — -
L% (mg/0) | < 0.005 — - -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — - —
vraua AR (mg/0) - - — -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) - — - -
A-1,2-V7uvoxF Ly (mg/l) - - - -
LLI-RVZuouxH (mg/0) | < 0.0005 — - —
,1,2- U Zoox kX (mg/0) - - - -
r)ZooxzF L (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D4 (mg/0) — - - -
FA X HNT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.6 — - -
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.6 — - —
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.2 8.0 7.7 7.7
UL B R (mg/0) 1.1 1.9 1.4 1.3
(PR EERE (mg/0) 2.4 2.7 2.6 4.8
Y R (mg/0) 3 4 4 11
BT RE (mg/0) 9.8 8.7 .5 8.7
KGR (MPN/100m0) 2. TE+04 — -
MV E 5 = (mg/0) - - - —
BEFR (mg/0) 1.9 - 2.6 —
EUNY (mg/0) 0. 080 - 0.15 -
A (mg/0) 0. 002 — — —
7 x ) —)LH (mg/0) | < 0.005 - - -
&l (mg/0) [ < 0.01 — — —
BRI gk (mg/0) 0.08 - —
e~ o v (mg/0) 0.02 - - *
AN (mg/0) - - - -
=y v (mg/0) - - — —
TR =T RESR (mg/0) 0.26 - - -
D ABERED A (mg/0) 0. 052 - - -
ERREE (mS/m) 21 24 28 19
Bt A (mg/0) 6 - 27 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

HRHR3-50




FE )1 GEIK G ERRIFR) HEH . 20T H2H #-3(2)-40
HIEE B 12:40 18:40 0:40 216140
PR 5 5 B =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 220 0.210 0.210 0.210
BRI (m) 0. 044 0. 042 0. 042 0. 042
NI (m/F)) 1.02 1.08 1.03 1.02
A (m/Fb) 2. 44 2. 46 2. 47 2. 44
SR (C) 24.9 21.6 20. 5 21. 1
JKIE. (C) 23.2 23.5 20. 8 19.8
=N RN ) Mo 0% B Mo
B (J) > 100 > 100 100 100
B3 A Iy R R
pisc) HHa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
LI-YZuupxF L (mg/0) — - — —
VA-1L,2-V/ZunxzF Ly (ng/) - - - -
LL1-FyZonxT Xy (mg/0) | < 0.0005 — = -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
1 (mg/0) - - - -
HRIEER (mg/0) 1.5 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.5 — - -
>0 (mg/0) - - - —
ESES (mg/0) - - - —
IKEA A BE 8.0 7.9 7.8 7.8
UL B R (mg/0) 0.7 0.8 0.7 0.7
(PR EERE (mg/0) 2.4 2.9 2.5 2.5
Y R (mg/0) 4 3 2 3
BT RE (mg/0) 9.8 8.4 8.4 2
KGR (MPN/100m0) 2. 2E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.7 - 1.7 —
EUNY (mg/0) 0.061 - 0.05 -
A (mg/0) 0.001 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 042 — — -
ERREE (mS/m) 19 19 19 19
Bt A (mg/0) 4 - 5 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-5 1




FE )1 GEIK G ERRIFR) HEH : FR204E8 H 13 H #-3(2)-41
HIEE B 11:00 17:00 23:00 #15:00
PR 5 = = 5
mi A K (BEKE) (mm) 6.0 — — —
2KIE (m) 0.140 0.120 0.130 0.135
BRI (m) 0. 028 0.024 0. 026 0.026
il (m/F) 0.85 0.96 0.88 0.89
A (m/Fb) 1. 42 1.38 1.38 1.39
SR (C) 33.8 30. 3 27. 4 24.0
JKIE. (C) 27.3 27. 4 25. 3 24.3
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - — —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
LI-YZuupxF L (mg/0) | < 0.002 - — -
VA-1,2-VZuouxF L (mg/0) | < 0.004 - - -
LLI-FVZuouxH (mg/0) [ < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D% (mg/0) [ < 0.0003 — - —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
L (mg/0) | < 0.002 - — —
HRIEER (mg/0) 0.98 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 1.0 — = -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.0 8.0 7.7 7.7
Eb AR E R (mg/0) 1.0 0.7 0.6 0.3
(LS BR 3E TRk i (mg/0) 2.6 2.7 2.5 2.6
Y R (mg/0) 3 3 2 4
BT RE (mg/0) 9.0 8.5 7.4 8
KGR (MPN/100m0) 3. 3E+04 — - -
n—~HYHEWE S A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 1.3 - 1.5 —
EUNY (mg/0) 0. 049 - 0. 050 -
A (mg/0) [ < 0.001 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.07 - -
e~ o v (mg/0) | < 0.01 - - *
AN (mg/0) - - - -
e (mg/0) | < 0.008 — = -
TUoE=THRER (mg/0) | < 0.04 - - -
D ABRREY A (mg/0) 0. 042 - - -
ERREE (mS/m) 20 20 20 21
Bt A (mg/0) 5 - 5 -
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EPHm3-52




FE )1 GEIK G ERRIFR) HEH - FR204F9H 10H #£-3(2)-42
HIEE B 11:30 17:30 23:30 #15:30
BN i i 5 W%
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 230 0.170 0.190 0.190
BRI (m) 0. 042 0.034 0.038 0. 037
NI (m/F)) 0. 95 0.97 1.04 0.91
A (m/Fb) 2.50 1.97 2.36 2.07
SR (C) 28.9 25. 4 19.7 18. 8
JKIE. (C) 22.9 23. 4 21.2 20.0
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 fIEy w5 R
pisc) HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FFA X IVT (mg/0) - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 1.7 — - -
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 1.7 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.0 8.0 7.8 7.8
UL B R (mg/0) 0.6 0.7 0.5 0.4
(PR EERE (mg/0) 2.0 2.1 2.2 2.0
Y R (mg/0) 2 3 2 P
BT RE (mg/0) 9.3 8.9 7.9 4
KGR (MPN/100m0) 1. 3E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 1.9 - 1.9 —
EUNY (mg/0) 0. 044 - 0. 065 -
A (mg/0) 0. 002 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) | < 0.04 - - —
D ARIED A (mg/0) 0. 040 — — -
ERREE (mS/m) 21 20 21 21
Bt A (mg/0) 5 - 6 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-5




FE )1 GEIK G ERRIFR) HEH - FR204FE10H 22 H #£-3(2)-43
HIEE B 11:30 17:30 23:30 #15:30
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 150 0. 140 0. 140 0. 140
BRI (m) 0. 030 0.028 0. 028 0.028
NI (m/F)) 0.67 0. 56 0.57 0.63
A (m/Fb) 1.13 0.94 0.96 1.05
SR (C) 25. 6 21.5 18.7 17.6
JKIE. (C) 28.5 20. 2 18.0 17.2
=N 0% B Mo 0% B Mo
B (J) > 100 100 100 > 100
B3 w5 fIEy w5 R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
L3-YZunnra~y (mg/0) - - - -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FARH LT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.5 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.5 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) | < 0.02 - - -
IKEA A BE 8.1 8.1 7.8 7.8
UL B R (mg/0) 1.1 1.2 1.5 1.7
(LS BR 3E TRk i (mg/0) 2.4 2.5 2.3 3.1
Y R (mg/0) 1 2 2 4
BT RE (mg/0) 10. 2 8.8 3 7
KGR (MPN/100m0) 1. 3E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
RER (mg/0) 2.9 — 4.1 —
EUNY (mg/0) 0.072 - 0.78 -
A (mg/0) 0.017 — — -
7 x ) —)LH (mg/0) | < 0.005 — — —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.10 - -
e~ o v (mg/0) 0.03 - - *
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.15 - - -
D ARIED A (mg/0) 0. 062 — — -
ERREE (mS/m) 26 29 35 36
Bt A (mg/0) 8 — 40 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EERHR3-51




FE )1 GEIK G ERRIFR) HIEH - FR204E11LHGH #£-3(2)-44
HIEE B 11:30 17:30 23:30 #15:30
BN i I 5 %
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.120 0.120 0.120 0.110
BRI (m) 0. 024 0.022 0. 024 0. 022
NI (m/F)) 0.75 0.73 0.74 0.71
A (m/Fb) 1.08 0.97 1.06 0. 94
SR (C) 18. 0 14.5 9.5 6.4
JKIE. (C) 14.2 16.5 14.0 13.5
=N 0% B Mo 0% B Mo
B (J) > 100 > 100 100 > 100
B3 w5 5 R R
pisc) HEa L ML HEa L ML
B R T A (mg/0) | < 0.001 — - -
BTV (mg/0) Ak - - -
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) - — — —
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.7 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.7 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.1 8.0 7.9 7.8
UL B R (mg/0) 1.3 2.3 1.2 2.0
(PR EERE (mg/0) 2.6 2.5 2.1 2.0
Y R (mg/0) | < 1 2 2 P
BT RE (mg/0) 11.0 9.2 4 10.0
KGR (MPN/100m0) 4. 9E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 3.5 - 3.3 —
EUNY (mg/0) 0.14 — 0.12 -
A (mg/0) 0.012 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 66 - - -
D ABRIEY A (mg/0) 0. 14 — - -
ERREE (mS/m) 31 44 27 36
YAk A A (mg/0) 12 - 8 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-55




FE ) GEIK G ERRIFT) HEH - FR204FE12H 3 H #£-3(2)-45
HIEE B 11:45 17:45 23:45 F15:45
BN i i 5 %
mi A K (BEKE) (mm) 0.5 — — —
2KIE (m) 0. 090 0.110 0. 090 0.105
BRI (m) 0.017 0.022 0.018 0.021
NI (m/F)) 0.67 0. 66 0. 69 0.71
A (m/Fb) 0.72 0. 87 0. 74 0. 85
SR (C) 15. 1 11.5 6.1 4.2
JKIE. (C) 13.5 13.7 12.2 11.0
=N 4,375 B PR ) PR ) 5T,
B (%) > 100 90 82 95
B3 w5 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) A H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - - - -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
,1,2- U Zoox kX (mg/0) - - - -
PAEREES 4 (mg/0) | < 0.002 - 0. 002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.6 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.6 — - -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) 0.02 - - -
IKEA A BE 8.1 8.0 7.9 7.8
UL B R (mg/0) 1.2 2.6 1.0 3.5
(LS BR 3E TRk i (mg/0) 1.8 2.9 2.9 4.4
Y R (mg/0) 1 4 6 4
BT RE (mg/0) 11.2 9.6 7 10. 2
KGR (MPN/100m0) 1. 3E+04 — -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.8 - 3.0 —
EUNY (mg/0) 0. 065 - 0.23 -
A (mg/0) 0. 005 — — -
7 x ) —)LH (mg/0) | < 0.005 — — -
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.12 - -
e~ o v (mg/0) 0.02 - - *
AN (mg/0) - - - -
=y (mg/0) - - - -
TR =T RER (mg/0) 0.05 - - -
D ARIED A (mg/0) 0. 062 — — -
ERREE (mS/m) 25 38 30 27
Bt A (mg/0) 7 — 21 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

ERH3-56




FE )1 GEIK G ERRIFR) HEH - FEIFLHTH #-3(2)-46
HIEE B 11:10 17:10 23:10 F15:10
KA it [ = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0. 080 0. 080 0. 080 0. 080
BRI (m) 0.016 0.016 0.016 0.016
NI (m/F)) 0.57 0. 60 0. 60 0.57
A (m/Fb) 0. 48 0. 50 0. 50 0. 48
SR (C) 10. 0 5.4 5.3 4.8
JKIE. (C) 9.1 9.7 9.4 7.9
=N 5 WKRE B2 WK B 5 W R GRS
B (%) 62 > 100 82 38
B3 R 5 R R
S8l HHa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
2TV (mg/0) AR H - - —
i) (mg/0) | < 0.005 - - -
A7 & (mg/0) | < 0.02 - - —
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vraua AR (mg/0) - - — —
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) — — — -
LLI-RVZuouxH (mg/0) [ < 0.0005 — - -
L,L1,2-hY Z7opo=x=X (mg/0) — - - —
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
F T N (mg/0) - - - —
D% (mg/0) - - - -
FFA X IVT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - =
HRIEER (mg/0) 2.7 — - —
et E R (mg/0) | < 0.05 - -
HERMEE R L O RREERE  (ng/0) 2.7 — - -
>0 (mg/0) - - - —
ERES (mg/0) - - - -
IKEA A BE 8.2 8.6 7.9 7.8
UL B R (mg/0) 2.6 2.4 1.0 2.6
(PR EERE (mg/0) 3.9 2.8 2.7 3.6
Y R (mg/0) 5 3 4 3
BT RE (mg/0) 13.3 12.4 10. 4 10. 3
KGR (MPN/100m0) 7. 0E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 4.0 - 2.9 —
EUNY (mg/0) 0.16 - 0. 070 -
A (mg/0) 0.021 — — -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
BfEE~ o T (mg/0) - - - -
w7 a (mg/0) - — — -
=y (mg/0) - - - -
TR =T RER (mg/0) 0. 84 - - -
D ABRIEY A (mg/0) 0.10 — - -
ERREE (mS/m) 27 26 43 27
Bt A (mg/0) 9 - 50 —
feA A v A mmiE Al (mg/0) - - - -

EORH3-57




FE ) GEIK G ERRIFT) HEH - FE21F2H4H #£-3(2)-47
HIEE B 11:10 17:10 23:10 F15:10
PR = = = =
mi A K (BEKE) (mm) 0.0 — — —
2KIE (m) 0.130 0.130 0.110 0.100
BRI (m) 0. 026 0. 026 0. 022 0.020
il (m/F) 0.79 0.83 0.80 0. 81
A (m/Fb) 1. 14 1. 19 1.06 0.97
SR (C) 8. 4 9.4 7.0 6.4
JKIE. (C) 9.8 10. 8 10. 6 9.2
=N 4% B Mo PR ) Mo
B (J) > 100 > 100 53 > 100
B3 R 5 w5 R
S8l HEa L ML HHa L ML
B R T A (mg/0) | < 0.001 — - -
% (mg/0) AR - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - - -
PCB (mg/0) — — = -
DA =P 4 (mg/0) | < 0.002 - — —
ERIArES (mg/0) | < 0.0002 - - -
1,2->/7ngxH (mg/0) | < 0.0004 - — -
,I->ZugxFL (mg/0) | < 0.002 - — -
VA-L,2-vZunxF Ly (mg/0) | < 0.004 — — -
LLI-FVZuouxH (mg/0) | < 0.0005 — - —
,1,2-hY Zoo=x=X (mg/0) | < 0.0006 - — —
[PAEREES (mg/0) | < 0.002 - 0. 002 —
FhS/7puxFL (mg/0) | < 0.0005 — 0. 0005 -
,3>/7nu7a~y (mg/0) | < 0.0002 — — —
FU7h (mg/0) | < 0.0006 - ~ —
D (mg/0) | < 0.0003 — — —
FARH LT (mg/0) | < 0.002 — —
NP (mg/0) | < 0.001 — - —
Tl (mg/0) | < 0.002 - ~ -
HRIEER (mg/0) 2.4 — - —
et E R (mg/0) | < 0.05 - -
HEEEER L AR ERE (ng/0) 2.4 - — -
503K (mg/0) | < 0.08 - = —
ESES (mg/0) 0.02 - - -
IKEA A BE 7.9 7.8 7.8 7.8
Eb AR E R (mg/0) 1.3 1.7 1.5 1.2
(LS BR 3E TRk i (mg/0) 1.9 2.8 3.1 2.5
Y R (mg/0) 2 6 6 P
BT RE (mg/0) 11.4 11.0 10. 6 11.4
KGR (MPN/100m0) 1. TE+04 —
n—~HYHEWE S A & (mg/0) | < 0.5 — 0.5 -
BEFR (mg/0) 2.8 - 3.0 —
EUNY (mg/0) 0. 079 - 0.16 -
A (mg/0) 0. 004 — - —
7 x ) —)LH (mg/0) | < 0.005 — - —
&l (mg/0) [ < 0.01 — — —
VAl e gk (mg/0) 0.10 - -
e~ o v (mg/0) 0.03 - - *
w7 a (mg/0) - - — -
e (mg/0) | < 0.008 — = -
TR =T RER (mg/0) 0.23 - - —
D ARIED A (mg/0) 0. 068 — - —
ERREE (mS/m) 24 35 33 26
Bt A (mg/0) 7 — 30 —
feA A v A mmiE Al (mg/0) | < 0.03 - — -

EPHm3-58




FE ) GEIK G ERRIFT) HEH - FE21F3H5H #-3(2)-48
HIEE B 11:00 17:00 23:00 #15:00
PR 5 fi§ = N
mi A K (BEKE) (mm) 11.5 — — —
2KIE (m) 0.110 0.120 0.110 0.110
BRI (m) 0. 022 0. 024 0. 022 0. 022
NI (m/F)) 0.72 0.70 0.71 0.74
A (m/Fb) 0.95 0.92 0.94 0.98
SR (C) 12. 1 9.9 7.9 6.5
JKIE. (C) 11.7 13.2 11.2 10. 8
=N 5 WKRE Bl 5 WK A B 5 W R GRS
B (%) 54 45 33 59
B3 w5 5 w5 R
pisc) HEa L ML HHa L ML
B RIU LA (mg/0) [ < 0.001 — - -
2TV (mg/0) A H - - -
i) (mg/0) | < 0.005 - - -
AN A=A (mg/0) | < 0.02 — - -
e (mg/0) | < 0.005 — = -
KK ER (mg/0) | < 0.0005 - — -
PCB (mg/0) — — - -
vrnnaRAH (mg/0) - - - -
ERIArES (mg/0) | < 0.0002 - - -
,2-ZuanxX (mg/0) - — — -
,L1-YZuoagxF L (mg/0) — — — —
CA-1,2-VZ/aaxF Ly (ng/0) - — - —
LLI-RVZuouxH (mg/0) [ < 0.0005 — - —
L1,2-h)ZupxX (mg/0) - — — -
PAEREES 4 (mg/0) | < 0.002 - < 0.002 —
Fh NS /7puxFL (mg/0) | < 0.0005 — < 0.0005 -
,3-YZraara~ (mg/0) — - — -
FTU7h (mg/0) - - - -
D% (mg/0) - - - -
FA X HNT (mg/0) - - -
NP (mg/0) — - - -
L (mg/0) - - - -
HRIEER (mg/0) 2.0 — - —
et E R (mg/0) | < 0.05 - -
TERTE R K M BAE R (mg/0) 2.0 — = -
>0 (mg/0) - - - —
ESES (mg/0) - - - -
IKEA A BE 7.9 8.0 7.8 7.8
UL B R (mg/0) 2.6 2.4 1.5 1.7
(PR EERE (mg/0) 3.8 3.0 4,2 3.0
Y R (mg/0) 8 7 17 11
BT RE (mg/0) 11.3 10.5 10. 2 10. 4
KGR (MPN/100m0) 7. 9E+03 — - -
n—~NHU Y E & A & (mg/0) - - - -
BEFR (mg/0) 2.9 - 2.9 —
EUNY (mg/0) 0.14 — 0.10 -
BN ) (mg/0) 0.017 — = -
7 x /) =V (mg/0) - - - -
i) (mg/0) - - - -
VAl e gk (mg/0) - - -
gt~ > (mg/0) - - - -
AN (mg/0) - - - -
= (mg/0) - - - —
TUoE=THRER (mg/0) 0. 69 - - -
D ABRIEY A (mg/0) 0.10 — = -
ERREE (mS/m) 30 23 24 37
YAk A A (mg/0) 27 - 8 -
feA A v A mmiE Al (mg/0) - - - -

EORH3-59




-Q)mRANIKERET—4

¢'/$“| (J:/Jll. . M}%E/R;":) %*3 (3)*1
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
B KEFZ 9:05 9:27 9:10 9:20
KA B i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) I EA AT 0. 700 0. 440 0.700
BRI (m) 0. 150 0.140 0. 088 0.140
Pt (m/F) | BEART] 0. 20 0.25 0.13
it /)| BEARR 2.7 2.6 1.7
SR (°C) 26.0 30. 2 15. 8 11.0
JKIE (°C) 16. 7 22.6 14.2 9.5
fakH A £ 175 B g e e
B () | > 100 > 100 > 100 > 100
R e 5 e 5 e e 5L
S8l PN ML ML ML
BRI UL (mg/0) - < 0.001 - < 0.001
BT (mg/0) - Ak H - Ak H
& (mg/0) - < 0.005 - < 0.005
Nt 2 1 A (mg/0) - < 0.02 - < 0.02
k& (mg/0) - < 0.005 - < 0.005
KK ER (mg/0) - < 0.0005 - < 0.0005
rag AR (mg/0) - < 0.002 - < 0.002
LR AES (mg/0) - < 0.0002 - < 0.0002
1,2->7auaxH (mg/0) - < 0. 0004 - < 0. 0004
L1I-YZuagxF L (mg/0) - < 0.002 - < 0.002
L A-1,2-Vz7uaaxF L (mg/0) - < 0.004 - < 0.004
LL1I-hV ooy (mg/0) < 0.0005 - < 0.0005
LL2-hrV ooy (mg/0) - < 0.0006 - < 0.0006
Vo ouoxFLy (mg/0) - < 0.002 - < 0.002
F NI 7auTF L (mg/0) - < 0.0005 - < 0.0005
,3-Y/uauasa~y (mg/0) | < 0.0002 | < 0.0002 | < 0.0002 | < 0.0002
FU T A (mg/0) | < 0.0006 [ < 0.0006 | < 0.0006 | < 0.0006
LIy (mg/0) | < 0.0003 | < 0.0003 | < 0.0003 | < 0.0003
FA VT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
P (mg/0) - < 0.001 - < 0.001
% (mg/0) - < 0.002 - < 0.002
EfEIEEE R (mg/0) 0. 84 0.79 1.3 1.2
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
L= L O RREEE (ng/0) 0. 89 0. 84 1.3 1.2
S (mg/0) - < 0.08 - < 0.08
ELES (mg/0) - < 0.02 - < 0.02
IKFEA A EE (pH) 7.8 8.0 7.9 7.5
EP bR FE R E (BOD)  (mg/0) 0.8 0.5 1.3 1.1
bR EEE Bk & (CoD) (mg/0) 1.6 1.6 1.3 1.6
skl TIRE (SS) (mg/0) 3 3 <1 1
BrisF s (D0) (mg/0) 10. 4 9.6 10.5 11.6
IN e (MPN/100m0) 7.9E+2 3. 3E+3 3. 3E+2 3. 3E+2
Y E &6 E (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 027 0. 005 0.014 0.014
PER (mg/0) 0.92 0.99 1.5 1.3
£gh (mg/0) - < 0.001 - 0.001
7 x ) —)VH (mg/0) - < 0.005 - < 0.005
El (mg/0) - < 0.01 - < 0.01
RN (mg/0) - < 0.02 - < 0.02
iR~ (mg/0) - < 0.01 - < 0.01
W7o b (mg/0) - < 0.02 - < 0.02
=y (mg/0) - < 0.008 - < 0.008
T U= TEEE (mg/0) | < 0.04 0. 06 < 0.04 < 0.04
D APRTED A (mg/0) 0. 026 0. 005 < 0.005 0. 009
A A 2 S m s PEAl (mg/0) - < 0.03 - < 0.003

B 3-60




MBS (ESR : PRI EEE) #£-3(3)-2
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
KIS 11:10 10:10 10:50 10:15
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 460 0. 450 0. 540 0. 320
BRI (m) 0. 092 0. 090 0.108 0. 064
ViR (m/F) 0. 70 0.21 0.18 0. 40
it (' /) 3.5 0. 49 0.49 0.56
SR (°C) 22. 4 26.6 14.0 11.4
JKIE (°C) 17.4 23.3 13.8 10. 3
fakH BHZDWKE | 5T 0k | EEAEH e
B (f) 66 > 100 > 100 > 100
R e 5 e 5 e 5 e 5L
S8l 5 Y ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - Ak H — -

& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L1I-YZuagxF L (mg/0) - < 0.002 - -

L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -

F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
D (mg/0) < 0.0003

FF X H T (mg/0) - < 0.002 — -
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 1.5 1.6 1.5 1.4
MRS EE R (mg/0) | < 0.05 < 0.05 0. 06 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.5 1.6 1.5 1.4
S (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.8 8.0 7.9 7.8
A FEERERE (BoD)  (mg/0) 0.8 0.7 1.9 1.4
(b EE SR Bk & (COD) (mg/0) 1.8 1.9 2.0 1.9
skl TIRE (SS) (mg/0) 6 11 3

BrisF s (D0) (mg/0) 9.9 9.2 10. 2 11.0
IN e (MPN/100m0)| 4. 9E+3 1. 3E+4 3. 3E+3 4. 9E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 049 0.21 0.19 0.13
PER (mg/0) 1.7 1.8 2.0 1.7
£gh (mg/0) - 0.010 — -

—7 < ) — LR (mg/0) - < 0.005 - -

El (mg/0) - < 0.01 -
RN (mg/0) - 0.02 - -
VR~ v v (mg/0) - < 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -

T U= TEEE (mg/0) 0.08 0. 04 0. 06 0.17
D APRTED A (mg/0) 0. 045 0.17 0.17 0.11
A A 2 S m s PEAl (mg/0) - < 0.03 - < 0.03

HEHm3-61




NN (SR AREE) #-3(3)-3
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 9:55 9:25 9:35 9:10
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 680 0. 380 0. 420 0. 220
BRI (m) 0.136 0.076 0. 084 0. 050
ViR (m/F) 0. 60 0. 06 0.22 0.37
it (' /) 2.9 0. 04 0.39 0. 54
SR (°C) 23.6 29.3 17.3 11.2
JKIE (°C) 17.0 24.0 14.5 10.5
fakH B WK | 970 | B EEH B A WK
B (f) 62 > 100 > 100 84
R e 5 e 5 e 5 e
S8l 5 Y ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -
& (mg/0) - - - -
Nt 2 1 A (mg/0) - - - —
= (mg/0) - - - —
Kak 4R (mg/0) - - - -
DA =D X % (mg/0) — — - -
ERIAES (mg/0) - - - -
1,2-V /7o (mg/0) - - - -
,1-VZupoxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
L,1,I-hVZupxH (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
FU T A (mg/0) - - - -
DA (mg/0)

FFA X H T (mg/0) - - - -
N (mg/0) - - - -
A (mg/0) - - - -
EfEIEEE R (mg/0) 1.6 1.8 1.8 1.8
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.6 1.8 1.8 1.8
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.8 8.0 7.8 7.6
A FEERERE (BoD)  (mg/0) 0.5 0.7 1.6 2.6
bR EEE Bk & (CoD) (mg/0) 1.7 2.2 2.4 3.4
skl TIRE (SS) (mg/0) 5 5 1 4
BB FE (D0) (mg/0) 10. 0 9.4 11.0 11.0
IN e (MPN/100m0)| 4. 6E+3 3. 4E+3 3. 3E+3 2. 4E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 076 0.24 0.20 0.28
PER (mg/0) 1.8 2.1 2.1 2.5
£gh (mg/0) - - - -
7 = ) — U (mg/0) - - - -
&l (mg/0) -

TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=) (mg/0) - - - -

T U= TEEE (mg/0) 0. 06 < 0.04 0.07 0.24
D APRTED A (mg/0) 0. 062 0.22 0.20 0. 20
A A 2 S m s PEAl (mg/0) - - - < 0.03

BB 3-62




INEE)IL (HR5R2 - /NESEE) #£-3(3)-4
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 9:15 8:50 9:00 9:10
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 650 0. 430 0. 380 0. 340
BRI (m) 0.130 0. 084 0.076 0. 068
ViR (m/F) 0. 70 0. 24 0.22 0.16
it (' /) 2.5 0.27 0. 34 0.21
SR (°C) 22. 4 29.8 15.0 12.6
JKIE (°C) 17.3 22.3 15.2 11.2
fakH A WKE | EEEAHH e 5T,
B (f) 90 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l 5 Y ML ML ML
BRI T A (mg/0) - - - -
YT (mg/0) - - - -

i) (mg/0) - - — =
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
DA =D X % (mg/0) — - - -
ERIAES (mg/0) - - - -
1,2-V/unxX (mg/0) - - - -
,1->ZuougxF L (mg/0) — - - -
VA1, 2-V7aaxF L (mg/0) — - - -
LL1I-hV ooy (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
FU T A (mg/0) - - - -
e (mg/0) - - -

FARH VT (mg/0) - - -

P (mg/0) - - - -
L (mg/Q) - - = -
EfEIEEE R (mg/0) 1.6 1.8 2.1 2.0
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.6 1.8 2.1 2.0
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.7 7.3 7.4 7.4
A FEERERE (BoD)  (mg/0) 0.7 0.6 1.2 1.7
(b EE SR Bk & (COD) (mg/0) 1.8 1.3 1.6 2.7
skl TIRE (SS) (mg/0) 5 <1 <1

BrisF s (D0) (mg/0) 10. 3 8.4 9.6 10. 6
IN e (MPN/100m0)| 7. 9E+2 3. 4E+3 4. 9E+3 1. 3E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 089 0.11 0.15 0.21
PER (mg/0) 1.8 2.0 2.3 2.4
£gh (mg/0) - - - -

7 =) — V¥ (ng/0) - - - =

&l (mg/0) - - -

TRfRIERR (mg/0) - - - -
iRt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) - - - -

T U= TEEE (mg/0) 0. 04 0.13 0.07 0.18
D APRTED A (mg/0) 0. 068 0. 099 0.13 0.18
A A 2 S m s PEAl (mg/0) - - - 0.03

EBHm3-63




P (EFR : HEMET) #-3(3)-5
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 11:55 10:50 11:40 10:55
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 220 0.120 0. 200 0.130
BRI (m) 0. 050 0. 050 0. 050 0. 050
ViR (m/F) 0. 47 0.27 0.10 0.11
it (/) 0.57 0.03 0.03 0.03
SR (°C) 24.6 31.5 17. 1 12.8
JKIE (°C) 19.8 23.5 16.7 12.7
fakH AWK | 5N e e
B (f) 59 > 100 > 100 > 100
R e 5 e 5 e 5 e 5L
S8l 5 Y ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - Ak H — -

& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L1I-YZuagxF L (mg/0) - < 0.002 - -

L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) < 0.0005

LL2-hrV ooy (mg/0) - < 0.0006 - -

Ny ZmamxzF L (mg/0) - < 0.002 — -

F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) | < 0.0002 | < 0.0002 | < 0.0002 | < 0.0002
FU T A (mg/0) | < 0.0006 [ < 0.0006 | < 0.0006 | < 0.0006
LIy (mg/0) | < 0.0003 | < 0.0003 | < 0.0003 | < 0.0003
FA VT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 2.0 2.4 2.6 2.0
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 0.07
L= L O RREEE (ng/0) 2.0 2.4 2.6 2.0
5o (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.8 7.7 7.7 8.0
A FEERERE (BoD)  (mg/0) 1.0 0.6 1.4 2.2
(b EE SR Bk & (COD) (mg/0) 2.3 1.5 1.3 2.9
skl TIRE (SS) (mg/0) 5 <1 <1 <1
BrisF s (D0) (mg/0) 9.0 8.8 9.4 12. 1
IN e (MPN/100m0) 1. 7E+3 4. 9E+3 4. 9E+3 7.9E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 060 0. 063 0. 049 0.093
PER (mg/0) 2.2 2.7 3.0 2.5
£gh (mg/0) - < 0.001 - -

—7 < ) — LR (mg/0) - < 0.005 - -

El (mg/0) < 0.01 —

RN (mg/0) - < 0.02 - -
VR~ v v (mg/0) - < 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -

T U= TEEE (mg/0) 0.05 0.29 0. 04 0.11
D APRTED A (mg/0) 0. 048 0.051 0. 039 0.074
A A 2 S m s PEAl (mg/0) - - - 0. 04
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BRI (PR AEIRERE) #-3(3)-6
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 14:10 13:45 14:05 11:40
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 060 0.030 0. 320 0. 380
BRI (m) 0. 050 0.030 0. 064 0.076
ViR (m/F) 0. 67 0.14 0.18 0.21
it (/) 0.50 0.05 0.12 0.13
SR (°C) 26. 6 33.3 18.8 12.8
JKIE (°C) 20. 8 25. 2 16.9 13.0
fakH e e M R
B () | > 100 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l 5 Y ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -

#h (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
Kak 4R (mg/0) - - - -
vruaua AR (mg/0) - - - -
LR AES (mg/0) - - - -
L,2-Y/ZuauxH (mg/0) - - - -
,1->ZuougxF L (mg/0) — - - -
VA1, 2-V7aaxF L (mg/0) — - - -
LL1I-hV ooy (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
FU T A (mg/0) - - - -
DA (mg/0)

FFA X H T (mg/0)

XY (mg/0) - - - -
L (mg/0) - - - -
EfEIEEE R (mg/0) 2.1 2.0 2.8 2.5
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 2.1 2.0 2.8 2.5
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.9 7.8 8.0 7.8
A FEERERE (BoD)  (mg/0) 0.8 0.7 1.5 1.2
bR EEE Bk & (CoD) (mg/0) 2.0 2.5 1.5 2.0
skl TIRE (SS) (mg/0) 2 3 1 1
BrisF s (D0) (mg/0) 9.4 9.1 10. 4 10.9
IN e (MPN/100m0)| 7. OE+2 4. 9E+3 2. 4E+3 7.9E+2
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 049 0. 039 0. 039 0. 036
PER (mg/0) 2.3 2.3 3.2 2.7
£gh (mg/0) - - - -

7 x /) — )V (mg/0) - - - -

&l (mg/0) -

TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -

T U= TEEE (mg/0) 0. 06 0.05 < 0.04 < 0.04
D APRTED A (mg/0) 0. 042 0. 031 0. 030 0.023
A A 2 S m s PEAl (mg/0) - - - 0.03

B 3-65




I EFII (FRER2 . +=XK48) #£-3(3) -7
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 14:45 9:10 9:30 9:45
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 450 0. 300 0.070 0. 320
BRI (m) 0. 090 0. 052 0. 050 0. 064
ViR (m/F) 0. 68 0.27 0.25 0.14
it (' /) 1.3 0.25 0.08 0.12
SR (°C) 24.7 29.5 17.8 13.4
JKIE (°C) 20. 6 25.5 16. 8 14.0
fakH A WKE | EEEAHH e g
B (f) 94 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l 5 Y ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -

#h (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
vruaua AR (mg/0) - - - -
LR AES (mg/0) - - - -
L,2-Y/ZuauxH (mg/0) - - - -
,1->ZuougxF L (mg/0) — - - -
VA1, 2-V7aaxF L (mg/0) — - - -
L,1,I-hVZupxH (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
TN (mg/0) - - - -
e (mg/0)

FARH VT (mg/0) - -

XY (mg/0) - - - -
L (mg/0) - - - -
EfEIEEE R (mg/0) 2.4 1.1 3.0 2.7
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 2.4 1.1 3.0 2.7
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.7 7.6 7.9 8.3
A FEERERE (BoD)  (mg/0) 0.9 0.5 1.0 1.5
(b EE SR Bk & (COD) (mg/0) 1.9 1.7 1.1 1.8
skl TIRE (SS) (mg/0) 2 <1 <1 1
BrisF s (D0) (mg/0) 9.1 9.1 10. 6 12.9
IN e (MPN/100m0)| 4. 9E+3 1. TE+4 1. 7TE+3 3. 3E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 043 0. 008 0. 033 0. 026
PER (mg/0) 2.5 1.2 3.3 2.9
£gh (mg/0) - - - -

7 x /) — )V (mg/0) - - - -

& (mg/0) - -

TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -

T U= TEEE (mg/0) | < 0.04 < 0.04 < 0.04 < 0.04
D APRTED A (mg/0) 0. 036 0. 008 0.018 0. 009
A A 2 S m s PEAl (mg/0) - - - < 0.03

& B 3-66




PP (R - /MR & FRED #-3(3)-8
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
NS 13:20 9:35 9:00 10:05
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 380 0. 490 0. 350 0. 370
BRI (m) 0.076 0. 098 0.070 0.074
Pt (m/F) 0.94 0.21 0.17 0.16
it (' /) 1.3 0. 26 0.17 0.15
SR (°C) 30. 5 29.0 17.5 14.8
JKIE (°C) 22.3 26.0 16. 8 13.5
fakH e e e e
B () | > 100 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l Bl ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - Ak H — -

& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L1I-YZuagxF L (mg/0) - < 0.002 - -

L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -

F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
P4 (mg/0) < 0.0003

FF X H T (mg/0) < 0.002 —

P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 2.4 1.3 3.1 2.9
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
L= L O RREEE (ng/0) 2.4 1.3 3.1 2.9
S (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.9 8.0 8.0 8. 1
bR FEERE BoD)  (ng/0) 0.8 0.6 1.1 1.5
(b EE SR Bk & (COD) (mg/0) 1.8 1.9 1.4 1.9
skl TIRE (SS) (mg/0) 2 2 1 1
BrisF s (D0) (mg/0) 9.0 9.3 10. 6 11.5
IN e (MPN/100m0) 3. 3E+3 1. 3E+4 7.9E+3 2. 4E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 044 0. 026 0. 038 0. 032
PER (mg/0) 2.6 1.3 3.4 3.0
£gh (mg/0) - 0. 002 — -

—7 < ) — LR (mg/0) - < 0.005 - -

El (mg/0) < 0.01 — -
RN (mg/0) - < 0.02 - -
VR~ v v (mg/0) - < 0.01 — -
W o A (mg/0) - < 0.02 - -
=/ (mg/0) - < 0.008 — -

T U= TEEE (mg/0) 0.05 0. 04 0.05 0.12
D APRTED A (mg/0) 0. 039 0. 025 0. 029 0.019
A A 2 S m s PEAl (mg/0) - - - < 0.03

P EHm3-67




BE)| (EF . FER#A) #-3(3)-9
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 10:20 10:15 10:50 10:25
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 090 0.035 0. 020 0. 040
BRI (m) 0. 050 0.025 0. 020 0. 040
Pt (m/F) 1.5 0.17 0.10 0. 40
it (m®/TD) 0. 06 < 0.01 < 0.01 < 0.01
SR (°C) 31.5 35. 2 19.8 13.6
KR (°C) 17.5 24.5 15.5 11.9
fakH AT E | AR g g
B () 45 > 100 > 100 > 100
R e 5 e 5 e 5 e 5L
S8l WY HY ML ML ML
BRI T A (mg/0) - - - -
B4 (mg/0) - — - -
&n (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
vrsnouaRrH s (mg/0) — — - -
R AES (mg/0) - - - -
L,2-Y/uauaxH (mg/0) - - - -
,1->Z7uougxF L (mg/0) — - - -
VA1, 2-Yv7aaxF L (mg/0) — - - -
,L,I-hYZouaxx (mg/0) - - - -
LL2-hV ooy (mg/0) - - - -
Ny 7oL (mg/0) - - - -
Fh S r7uaxFLr (mg/0) - - - -
,3-YZuouazua~ly (mg/0) - - - -
FU T A (mg/0) - - - -
DA (mg/0) -
FFA X H VT (mg/0) - - - -
N (mg/0) - - - -
R (mg/0) - - - -
EfEIEEE R (mg/0) 1.8 0.78 1.2 1.4
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R TR IEZESE (ng/0) 1.8 0.83 1.2 1.4
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.6 7.5 7. 7.7
A FEERERE (BoD)  (mg/0) 0.5 0.5 1.1 0.9
(b EE SR Bk & (COD) (mg/0) 3.1 1.7 1.8 1.4
skl TIRE (SS) (mg/0) 14 3 3 1
BrisF s (D0) (mg/0) 10. 3 9.2 9.8 10. 6
IN e (MPN/100m0)| 2. 2E+3 1. 7TE+3 3. 3E+3 4. 9E+3
MV E & & (mg/0) < 0.5 - < 0.5
20 A (mg/0) 0. 080 0. 025 0. 031 0. 027
PER (mg/0) 2.1 0.91 1.5 1.5
£gh (mg/0) - - - -
7 = ) — U (mg/0) - - - -
&l (mg/0) - - -
TRfRIERR (mg/0) - - - -
iRt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -
T U= TEEE (mg/0) 0. 04 < 0.04 < 0.04 0.05
D APRTED A (mg/0) 0. 036 0.017 0.023 0.016
A A 2 S m s PEAl (mg/0) - - - 0.03

P FHm3-68




BF)I (PR SEE) #-3(3)-10
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
YN 9:55 9:45 10:10 9:55
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 220 0. 420 0. 150 0. 250
BRI (m) 0. 050 0. 084 0. 050 0. 050
Vi (m/F) 1.1 0.10 0.64 0.39
it (/) 0.21 0.03 0.07 0.09
SR (°C) 27.6 34.0 20.5 14.3
JKIE (°C) 19.5 26. 1 16.0 12.3
fakH BHDWKE | 5T 0l | G W4 %5 P
B (f) 96 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l Bl ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -
& (mg/0) - - - -
Nt 2 1 A (mg/0) - - - —
= (mg/0) - - - —
Kak 4R (mg/0) - - - -
DA =D X % (mg/0) — - - -
ERIAES (mg/0) - - - -
1,2-V/unxX (mg/0) - - - -
,1->ZuougxF L (mg/0) — - - -
VA1, 2-V7aaxF L (mg/0) — - - -
LL1I-hV ooy (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
1,3-V 7o ra~ (mg/0) - - - -
FU T A (mg/0) - - - -
DA (mg/0)
FARH VT (mg/0) -
P (mg/0) - - - -
A (mg/0) - - - -
EfEIEEE R (mg/0) 2.8 1.7 2. 2.
MRS EE R (mg/0) | < 0.05 0.10 0.12 0.11
EMETEE R R O EFEIEZEE (ng/0) 2.8 1.8 2.9 2.9
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.9 7.7 7.8 7.9
A FEERERE (BoD)  (mg/0) 3.2 2.2 3.9 3.0
bR EEE Bk & (CoD) (mg/0) 3.7 4.0 4,2 3.8
skl TIRE (SS) (mg/0) 3 3 2 2
BrisF s (D0) (mg/0) 9.9 7.7 9.3 9.9
IN e (MPN/100m0) 1. 3E+5 7. 9E+4 3. 3E+4 1. 3E+4
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 069 0.13 0.13 0.10
PER (mg/0) 3.0 2.6 3.7 3.5
£gh (mg/0) - - - -
7 x /) — )V (mg/0) - - - -
&l (mg/0) - - -
TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -
T U= TEEE (mg/0) 0.18 0.21 0.25 0. 39
D APRTED A (mg/0) 0. 037 0. 085 0.10 0. 084
A A 2 S m s PEAl (mg/0) - 0. 20 - 0.13

ZEH3-69




BE)I| (P2 thEEERKES) #-3(3)-11
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 9:00 8:55 9:00 9:00
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 460 0. 420 0.275 0.215
BRI (m) 0. 092 0. 084 0. 055 0. 050
ViR (m/F) 0. 26 0.22 0.35 0. 34
it (/) 0.70 0.41 0.28 0.19
SR (°C) 26. 8 31.2 18.7 11.0
JKIE (°C) 18.0 25. 2 15.9 12.8
fakH A WKE | EEEAHH B AWKE | EEAHH
B (f) 85 > 100 41 96
R e 5 e +5 e 5
S8l Bl Byl | wiEmd v ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -
#h (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
Kak 4R (mg/0) - - - -
vruaua AR (mg/0) - - - -
LR AES (mg/0) - - - -
1,2-V /7o (mg/0) - - - -
,1-VZupoxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
L,1,I-hVZupxH (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny ZmamxzF L (mg/0) — - - -
SRS ZuuxFlL (mg/0) - - - -
1,3-V 7o ra~ (mg/0) - - - -
TN (mg/0) - - - -
e (mg/0)
FFA X H T (mg/0) - - -
XY (mg/0) - - - -
L (mg/0) - - - -
EfEIEEE R (mg/0) 2.7 1.2 3.7 3.1
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 0. 06
EMETEE R R O EFEIEZEE (ng/0) 2.7 1.2 3.7 3.1
S0 FH (mg/0) - - - —
ELES (mg/0) - - - -
KFEA A VRE (pH) 7.8 7.8 7.9 7.8
EP bR FE R E (BOD)  (mg/0) 1.0 1.2 1.5 1.8
bR EEE Bk & (CoD) (mg/0) 3.1 3.2 2.6 3.0
skl TIRE (SS) (mg/0) 9 2 15 9
BrisF s (D0) (mg/0) 9.8 8.2 9.9 9.8
IN e (MPN/100m0) 1. 3E+5 9. 2E+5 1. 7TE+5 7.9E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0.10 0. 094 0.11 0.093
PER (mg/0) 3. 1.6 5. 3.8
£gh (mg/0) - - - -
7 x /) — )V (mg/0) - - - -
&l (mg/0) - - - -
TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -
T U= TEEE (mg/0) 0.07 0. 06 0. 06 0.15
D APRTED A (mg/0) 0. 049 0. 045 0. 060 0. 057
A A 2 S m s PEAl (mg/0) - - - 0.03

EEHm3-70




BF) (FHk : $F/\AREE) #-3(3)-12
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K] 14:20 10:55 10:10 11:05
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 450 0. 360 0.160 0. 240
BRI (m) 0. 090 0.072 0. 050 0. 050
Pt (m/F) 0. 46 0.37 0.25 0.14
it (' /) 1.4 0.95 0.18 0.13
SR (°C) 29.0 33.3 18.3 16. 3
JKIE (°C) 21.9 26. 8 15.8 13.8
fakH AWK | 5N e B 5 VK
B (f) 62 > 100 90 31
R e 5 e 5 e +5
S8l WD HY ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - g H - -
& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L,1-YZaaxFL (mg/0) - < 0.002 — -
L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -
F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
P4 (mg/0) < 0.0003
FF X H T (mg/0) < 0.002 — -
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 2.1 1.2 3.6 3.1
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 0.05
L= L O RREEE (ng/0) 2.1 1.2 3.6 3.1
5o (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.9 7.8 8.0 7.9
EP bR FE R E (BOD)  (mg/0) 2.2 1.1 1.4 1.6
bR EEE Bk & (CoD) (mg/0) 3.3 2.3 2.0 4.2
skl TIRE (SS) (mg/0) 8 3 4 17
BB FE (D0) (mg/0) 9.4 9.1 10.5 10.5
IN e (MPN/100m0) 7. 0E+4 2. 4E+4 1. 7TE+5 2. 4E+5
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 080 0. 041 0. 063 0.10
PER (mg/0) 2.4 1.5 4.4 4.1
£gh (mg/0) - 0.001 — -
7 x ) —)VH (mg/0) - < 0.005 — -
El (mg/0) < 0.01 — -
RN (mg/0) - 0. 09 - -
VR~ v v (mg/0) - 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -
T U= TEEE (mg/0) 0. 04 < 0.04 < 0.04 0. 09
D APRTED A (mg/0) 0. 040 0. 040 0. 047 0. 048
A A 2 S m s PEAl (mg/0) - - - < 0.03

PHR3-T1




FE)II (EFE : 858E) #-3(3)-13
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2. 16
K] 11:15 11:15 11:55 11:25
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 550 0. 330 0. 340 0. 290
BRI (m) 0.110 0. 066 0. 068 0. 058
ViR (m/F) 0. 66 0. 30 0.39 0.29
it (' /) 1.7 0.27 0. 36 0. 34
SR (°C) 29. 4 33.9 17.5 13.8
JKIE (°C) 19. 1 26.9 15.7 12.3
fakH RN A4 75 P W4 75 1
B (f) 56 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l YD HY ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -

& (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
vruaua AR (mg/0) - - - -
ERIAES (mg/0) - - - -
L,2-Y/ZuauxH (mg/0) - - - -
,1-VZupoxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
LL1I-hV ooy (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
A e (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
TN (mg/0) - - - -
e (mg/0)

FFA X H T (mg/0) -

P (mg/0) - - - -
L (mg/Q) - - = -
EfEIEEE R (mg/0) 1.7 2.2 2.0 2.0
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.7 2.2 2.0 2.0
5o (mg/0) - < 0.08 — -
EEES (mg/0) - 0.02 — -
KFEA A VRE (pH) 7.9 8.0 8.0 8.0
A FEERERE (BoD)  (mg/0) 0.5 1.0 1.5 2.0
(b EE SR Bk & (COD) (mg/0) 2.1 1.8 1.9 2.8
skl TIRE (SS) (mg/0) 9 <1 1 2
BrisF s (D0) (mg/0) 10. 0 7.8 10. 2 10. 8
IN e (MPN/100m0) 1. 7E+4 1. 3E+4 2. 4E+3 3. 3E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 065 0.11 0.10 0. 095
PER (mg/0) 1.8 2.4 2. 2.4
£gh (mg/0) - - - -

7 = ) — U (mg/0) - - - -

&l (mg/0) -

TRfRIERR (mg/0) - - - -
iRt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -

T U= TEEE (mg/0) | < 0.04 0.19 0.12 0.10
D APRTED A (mg/0) 0. 040 0. 087 0. 099 0. 088
A A 2 S m s PEAl (mg/0) - < 0.03 - 0. 04

EBHm3-72




E)I (RFET: JNRES) #-3(3)-14
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 13:20 13:00 13:30 13:20
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 520 0. 220 0. 390 0. 330
BRI (m) 0.104 0. 050 0.078 0. 066
ViR (m/F) 0. 54 0.09 0.26 0.14
it (' /) 1.5 0.05 0.37 0.27
SR (°C) 27.0 32.0 19.0 14.8
JKIE (°C) 21.5 28.0 18.2 14.5
fakH B AWKE | 5N A4 75 P W4 75 1
B (f) 65 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l YD HY ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -

#h (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
Kak 4R (mg/0) - - - -
vruaua AR (mg/0) - - - -
ERIAES (mg/0) - - - -
1,2-V /7o (mg/0) - - - -
,1-VZupoxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
L,1,I-hVZupxH (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny ZmamxzF L (mg/0) — - - -
SRS ZuuxFlL (mg/0) - - - -
1,3-V 7o ra~ (mg/0) - - - -
TN (mg/0) - - - -
e (mg/0) -

FFA X H T (mg/0) - -

XY (mg/0) - - - -
L (mg/0) - - - -
EfEIEEE R (mg/0) 1.9 0. 86 2.1 2.2
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.9 0.91 2.1 2.2
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.8 7.6 8.2 8.2
A FEERERE (BoD)  (mg/0) 0.9 1.0 0.9 1.7
(b EE SR Bk & (COD) (mg/0) 2.1 1.9 1.7 2.7
skl TIRE (SS) (mg/0) 7 <1 1 1
BrisF s (D0) (mg/0) 9.2 8.9 10. 1 10.9
IN e (MPN/100m0) 1. 3E+4 4. 9E+3 4. 9E+3 4. 9E+3
MV E & & (mg/0) - < 0.5 < 0.5
20 A (mg/0) 0. 060 0. 043 0. 070 0.077
PER (mg/0) 2.1 1.0 2.4 2.4
£gh (mg/0) - - - -

7 x /) — )V (mg/0) - - - -

&l (mg/0) -

TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -

T U= TEEE (mg/0) | < 0.04 < 0.04 < 0.04 0. 06
D APRTED A (mg/0) 0. 035 0. 036 0. 062 0.071
A A 2 S m s PEAl (mg/0) - - - < 0.03

EBHm3-73




EN (2 - AT #-3(3)-15
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 14:00 10:30 10:30 10:45
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0. 680 0.190 0. 250 0. 300
BRI (m) 0.136 0. 050 0. 050 0. 060
ViR (m/F) 0. 45 0. 64 0. 40 0.31
it (' /) 1.8 0. 42 0.19 0.20
SR (°C) 29. 1 29.8 18.5 16.3
JKIE (°C) 27.5 28. 4 16.0 13.0
fakH B AWKE | 5N A4 75 P W4 75 1
B (f) 59 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l YD HY ML ML ML
BRI T A (mg/0) - - - -
YT (mg/0) - - - -

i) (mg/0) - - — =
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
DA =D X % (mg/0) — — - -
LR AES (mg/0) - - - -
L,2-Y/ZuauxH (mg/0) - - - -
,1-VZupoxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
,L,I-hVZoaxx (mg/0) - - - -
,L,2-hVZouaxx (mg/0) - - - -

Ny ZuamxzFL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
1,3-V 7o ra~ (mg/0) - - - -
FU T A (mg/0) - - - -
DA (mg/0)

FARH VT (mg/0) -

P (mg/0) - - - -
L (mg/0) - - - -
EfEIEEE R (mg/0) 2.1 0.73 2.1 2.0
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 2.1 0.78 2.1 2.0
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.9 7.9 8.2 8.3
A FEERERE (BoD)  (mg/0) 0.6 0.6 1.2 1.5
bR EEE Bk & (CoD) (mg/0) 2.4 2.3 1.5 2.3
skl TIRE (SS) (mg/0) 8 1 <1 1
BrisF s (D0) (mg/0) 9.2 9.6 11.1 12.6
IN e (MPN/100m0) 1. 7E+3 7.9E+3 3. 3E+3 1. 7TE+3
MV E & & (mg/0) - < 0.5 < 0.5
20 A (mg/0) 0. 069 0. 060 0. 066 0. 058
PER (mg/0) 2.2 0.92 2.3 2.2
£gh (mg/0) - - - -

7 =) — V¥ (ng/0) - - - =

&l (mg/0) -

TRfRIERR (mg/0) - - - -
iRt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) - - - -

T U= TEEE (mg/0) | < 0.04 < 0.04 0.15 0. 06
D APRTED A (mg/0) 0. 045 0. 048 0. 057 0. 053
A A 2 S m s PEAl (mg/0) - - - < 0.03

EBHm3-74




HE) (ENEFRED #*-3(3)-16
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 10:45 10:50 11:20 10:55
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 150 0.100 0. 090 0. 080
BRI (m) 0. 050 0. 050 0. 050 0. 050
Pt (m/F) 0. 81 0.35 0.35 0.25
it (/) 0.29 0.08 0.08 0.05
SR (°C) 31.6 33.8 19.1 14.1
JKIE (°C) 19.8 26. 1 17.0 14.9
fakH e e | BEAH e
B () | > 100 > 100 > 100 > 100
R e 5 e 5 e 5 e
S8l Bl ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - g H - -

& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L,1-YZaaxFL (mg/0) - < 0.002 — -

L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -

F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
P4 (mg/0) < 0.0003

FF X H T (mg/0) - < 0.002 — -
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 1.7 1.6 1.4 0. 94
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
L= L O RREEE (ng/0) 1.7 1.6 1.4 0. 99
5o (mg/0) - < 0.08 — -
EEES (mg/0) - 0.02 — -
KFEA A VRE (pH) 7.7 8.2 8.2 8.4
A FEERERE (BoD)  (mg/0) 0.6 1.0 1.6 1.8
bR EEE Bk & (CoD) (mg/0) 2.0 3.1 2.0 3.2
skl TIRE (SS) (mg/0) 4 3 3 3
BrisF s (D0) (mg/0) 9.9 9.8 10. 6 15. 7
IN e (MPN/100m0)| 2. 6E+3 4. 9E+3 3. 5E+4 4. 9E+2
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0. 037 0. 069 0. 043 0.028
PER (mg/0) 1.9 2.0 1.7 1.2
£gh (mg/0) - 0. 004 — -

7 x ) —)VH (mg/0) - < 0.005 — -

El (mg/0) - < 0.01 — -
RN (mg/0) - 0.11 - -
VR~ v v (mg/0) - 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -

T U= TEEE (mg/0) | < 0.04 0. 04 0.08 < 0.04
D APRTED A (mg/0) 0. 025 0. 034 0. 034 < 0.005
A A 2 S m s PEAl (mg/0) - < 0.03 - -

P EHm3-T5




KT (BEJIE5AED #£-3(3)-17
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 9:30 9:20 9:35 9:25
& i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 030 0. 025 0.015 0.010
BRI (m) 0.030 0. 025 0.015 0.010
ViR (m/F) 0. 22 0.17 0.13 0.12
it (n*/F)) 0.02 0.01 < 0.01 < 0.01
SR (°C) 28.8 30. 5 20. 2 12. 4
KR (°C) 19.2 27.5 17.8 15.8
fakH g AWK | EEEAHH PR )
B () 73 68 > 100 31
R e 5 e 5 [ TR
S8l 5 Y ML ML ML
BRI YA (mg/0) - < 0.001 - -
BT (mg/0) - AfEH - -
& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
Fe K ER (mg/0) - < 0.0005 - -
DA =D .Y % (mg/0) - < 0.002 — -
R AES (mg/0) - < 0.0002 - -
L,2-Y/uauaxH (mg/0) - < 0. 0004 - -
L1I-YZuagxF L (mg/0) - < 0.002 - -
VA-L,2-VZuvuxF L (ng/0) - < 0.004 — -
LL1I-hVZooxH (mg/0) - < 0.0005 - -
LL2-hV ooy (mg/0) - < 0.0006 - -
Ny ZmmxF L (mg/0) - < 0.002 — -
F NI r7auTF L (mg/0) - < 0.0005 — -
,3-Y/7uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - - - -
DA (mg/0) -
FFA X H VT (mg/0) - -
% (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 2. 2.1 2.3 3.
MR ER (mg/0) 0.16 0. 06 0.23 0. 14
L= R L O RRYEEE (ng/0) 2.7 2.1 2.5 3.
5o (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.9 7.9 7.3 7.4
AV FEERE (BoD)  (mg/0) 1. bE+2 8.8 18 28
bR EEE Bk & (CoD) (mg/0) 1. 4E+2 9.4 16 33
TR TR (SS) (mg/0) 22 2 5 13
BB FE (D0) (mg/0) 7.5 7.0 4.6 5.6
IN e (MPN/100m0) 3. 2E+6 1. 3E+7 7. 9E+6 4. 9E+6
MV E & & (mg/0) < 0.5 - < 0.5
20 A (mg/0) 0.16 0. 053 0. 045 0.10
PER (mg/0) 3.1 2.6 2.8 3.5
£gh (mg/0) - 0.016 — -
7 x ) —)VH (mg/0) - < 0.005 — -
El (mg/0) - < 0.01 -
RN (mg/0) - 0. 14 - -
VR~ v v (mg/0) - 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -
T U= TEEE (mg/0) | < 0.04 0.09 0.10 < 0.04
D APRTED A (mg/0) 0. 006 0. 005 < 0.005 0. 020
A A 2 S m s PEAl (mg/0) - 0. 26 - -

EEHm3-76




BRIl Gk & 5D #*-3(3)-18
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K] 13:35 13:05 13:20 11:10
& i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0.100 0. 040 0. 040 0. 040
BRI (m) 0. 050 0. 040 0. 040 0. 040
ViR (m/F) 0. 66 0.15 0.27 0.27
it (/) 0.29 0. 02 0. 04 0. 04
SR (°C) 24.0 33. 1 16.5 13.3
JKIE (°C) 20.7 27.7 14.9 11.5
fakH g g e M
B () | > 100 > 100 > 100 > 100
R e 5 e 5 e 5 e 5L
S8l 5 Y ML ML ML
BRI T A (mg/0) - - - -
By T v (mg/0) - - - -
i) (mg/0) - - — =
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
DA =D X % (mg/0) — - - -
LR AES (mg/0) - - - -
L,2-Y/ZuauxH (mg/0) - - - -
,1->ZuougxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
,L,I-hVZoaxx (mg/0) - - - -
,L,2-hVZouaxx (mg/0) - - - -
Ny ZuamxzFL (mg/0) - - - -
A e (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
FU T A (mg/0) - < 0.0006 — -
D (mg/0) < 0.0003
FF X H T (mg/0) - < 0.002 -
P (mg/0) - - - -
A (mg/0) - - - -
EfEIEEE R (mg/0) 1.8 1.7 2.0 1.7
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.8 1.7 2.0 1.7
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 8.0 8.0 8.1 8. 1
A FEERERE (BoD)  (mg/0) 0.6 0.7 1.1 1.6
bR EEE Bk & (CoD) (mg/0) 2.5 2.7 2.0 2.0
skl TIRE (SS) (mg/0) 3 2 <1 <1
BrisF s (D0) (mg/0) 9.5 8.8 10. 4 11. 4
IN e (MPN/100m0)| 2. 2E+3 1. 3E+4 4. 9E+3 2. 4E+4
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0.071 0.10 0. 093 0. 065
PER (mg/0) 2.0 2.0 2.3 1.8
£gh (mg/0) - - - -
7 x /) — )V (mg/0) - - - -
&l (mg/0) -
TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) — — - -
T U= TEEE (mg/0) 0.08 < 0.04 < 0.04 < 0.04
D APRTED A (mg/0) 0.051 0. 074 0. 081 0. 054
A A 2 S m s PEAl (mg/0) - - - 0.03

BBHm3-T7




FE)I DRI EFRED #-3(3)-19
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2. 16
K] 11:45 13:15 11:35 11:50
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0.170 0.140 0. 080 0.120
BRI (m) 0. 050 0. 050 0. 050 0. 050
Pt (m/F) 0. 55 0.67 0.36 0.57
it (/) 0.35 0.35 0.09 0. 24
SR (°C) 26. 3 34.0 21.8 16.5
JKIE (°C) 20. 6 27.1 17.5 14.5
{4 W4 75 W4 75 W4 75 P A4 75 P
B () | > 100 > 100 > 100 > 100
R e 5 e 5 e 5 e 5L
S8l Bl ML ML ML
BRI T A (mg/0) - - - -
LT (mg/0) - — - -
#h (mg/0) - - - -
AN v A (mg/0) - - - —
= (mg/0) - - - —
Kak 4R (mg/0) - - - -
vruaua AR (mg/0) - - - -
ERIAES (mg/0) - - - -
1,2-V /7o (mg/0) - - - -
,1-VZupoxF L (mg/0) - - - -
A-1,2-V7uuxF L (ng/d) - - - -
L,1,I-hVZupxH (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny ZmamxzF L (mg/0) — - - -
SRS ZuuxFlL (mg/0) - - - -
1,3-V 7o ra~ (mg/0) - - - -
TN (mg/0) - - - -
e (mg/0)

FFA X H T (mg/0) - - -
XY (mg/0) - - - -
L (mg/0) - - - -
EfEIEEE R (mg/0) 1.9 1.1 2.7 3.5
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 1.9 1.1 2.7 3.5
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 7.9 8.6 8.9 8.9
A FEERERE (BoD)  (mg/0) 1.2 0.9 1.2 1.6
(b EE SR Bk & (COD) (mg/0) 2.1 2.4 2.1 2.5
skl TIRE (SS) (mg/0) 5 4 1 4
BrisF s (D0) (mg/0) 9.9 9.2 11.0 11.7
NI a e (MPN/100m0)| 3. 3E+3 7.9E+3 1. 1E+4 3. 3E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0.061 0. 031 0. 044 0. 052
PER (mg/0) 2.1 1.3 3.1 3.7
£gh (mg/0) - - - -

7 x /) — )V (mg/0) - - - -

&l (mg/0) - - -
TRfRIERR (mg/0) - - - -
Bt~ (mg/0) - - - -
VAN (mg/0) - - - -
=/ (mg/0) — — - -

T U= TEEE (mg/0) 0.17 < 0.04 < 0.04 0.05
D APRTED A (mg/0) 0. 032 0. 020 0. 035 0. 024
A A 2 S m s PEAl (mg/0) - - - < 0.03

HRHm3-78




ER (RIREVELISEHE) #£-3(3)-20
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 10:25 11:00 10:40 10:50
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 480 0. 350 0.160 0. 240
BRI (m) 0. 096 0. 064 0. 050 0. 050
Pt (m/F) 0. 37 0. 36 0.18 0. 30
it (' /) 1.0 0.70 0. 14 0.19
SR (°C) 29.7 32.3 17.8 16.0
JKIE (°C) 20. 2 25.9 16.6 12.0
fakH AT E | BEAH e e
B (f) 32 > 100 > 100 > 100
R e 5 e 5 e 5 s
S8l 7K HED &Y ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - g H - -
& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L,1-YZaaxFL (mg/0) - < 0.002 — -
L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -
F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
P4 (mg/0) < 0.0003
FF X H T (mg/0) - < 0.002 —
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 1.1 0.93 3.9 2.7
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
L= L O RREEE (ng/0) 1.1 0.98 3.9 2.7
5o (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.6 8.0 8.1 8. 1
A FEERERE (BoD)  (mg/0) 1.3 0.9 1.8 1.5
bR EEE Bk & (CoD) (mg/0) 3.5 2.7 2.2 2.2
skl TIRE (SS) (mg/0) 16 8 2 2
BrisF s (D0) (mg/0) 9.6 9.4 10. 6 11.6
IN e (MPN/100m0) 7. 0E+3 1. 3E+4 3. 5E+4 4. 9E+3
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0.21 0. 024 0. 084 0.079
PER (mg/0) 1.3 1.2 4.4 2.9
£gh (mg/0) - 0. 002 — -
7 x ) —)VH (mg/0) - < 0.005 — -
El (mg/0) - < 0.01 —
RN (mg/0) - 0.02 - -
VR~ v v (mg/0) - < 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -
T U= TEEE (mg/0) 0.09 < 0.04 0.17 0.19
D APRTED A (mg/0) 0. 038 0.017 0. 060 0. 066
A A 2 S m s PEAl (mg/0) - - - 0.03

HEHm3-79




EHE)I B &R #-3(3)-21
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K 13:55 14:00 13:40 13:50
KA i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 050 0.030 0.030 0. 020
BRI (m) 0. 050 0.030 0.030 0. 020
ViR (m/F) 0. 63 0. 50 0.13 0.11
it (/) 0.19 0.09 0. 02 0.01
SR (°C) 28.3 32.8 19.5 16. 1
JKIE (°C) 20.5 26.5 17.8 14.0
fakH g e HYTWERA | I TVEA
B () | > 100 > 100 > 100 76
R e 5 e 5 s s
S8l Bl ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - g H - -

& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L1I-YZuagxF L (mg/0) - < 0.002 - -

L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -

F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
P4 (mg/0) < 0.0003

FF X H T (mg/0) - < 0.002 — -
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 1.3 1.1 1.5 1.7
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 0.05
L= L O RREEE (ng/0) 1.3 1.1 1.5 1.7
5o (mg/0) - < 0.08 — -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 8. 9.0 9.5 9.6
A FEERERE (BoD)  (mg/0) 1.1 0.8 0.7 3.4
bR EEE Bk & (CoD) (mg/0) 2.6 1.9 3.8 5.8
skl TIRE (SS) (mg/0) 3 1 <1 6
BrisF s (D0) (mg/0) 11.3 10. 2 15. 2 16.7
IN e (MPN/100m0) 7. 0E+3 7.9E+3 4, 9E+2 3. 3E+2
MV E & & (mg/0) < 0.5 - < 0.5
20 A (mg/0) 0. 047 0. 042 0. 054 0.10
PER (mg/0) 1.4 1.3 2.0 2.1
£gh (mg/0) - < 0.001 - -

7 x ) —)VH (mg/0) - < 0.005 — -

El (mg/0) - < 0.01

RN (mg/0) - 0.03 - -
VR~ v v (mg/0) - < 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -

T U= TEEE (mg/0) | < 0.04 < 0.04 0. 06 0. 04
D APRTED A (mg/0) 0. 031 0. 042 0. 044 0. 057
A A 2 S m s PEAl (mg/0) - - - 0. 04

P EHm3-80




FERRHEKER (MR EGRRD #-3(3)-22
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
YN 10:40 9:55 10:20 9:45
& i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
K (m) 0.070 0. 050 0. 050 0. 220
BRI (m) 0. 050 0. 050 0. 050 0. 050
ViR (m/F) 0.51 0.19 0.24 0.05
it (/) 0.21 0.05 0.05 0.03
SR (°C) 22.8 26. 6 15.0 12.2
(C) 17. 4 22.7 15. 3 12.2
fakH STV | ST VA [ EaE PR
B (f) 35 31 > 100 > 100
R e 5 e 5 e 5 e
S8l 5 Y ML ML ML
BRI T A (mg/0) - - - -
YT (mg/0) - - - -
i) (mg/0) - - — =
AN v A (mg/0) - - - —
= (mg/0) - - - —
KK ER (mg/0) - - - -
DA =D X % (mg/0) — - - -
ERIAES (mg/0) - - - -
1,2-V/unxX (mg/0) - - - -
,1->ZuougxF L (mg/0) — - - -
VA1, 2-V7aaxF L (mg/0) — - - -
LL1I-hV ooy (mg/0) - - - -
LL2-hrV ooy (mg/0) - - - -
Ny oL (mg/0) - - - -
Fh S r7uaxF L (mg/0) - - - -
,3-YZuouza~ly (mg/0) - - - -
FU T A (mg/0) - - - -
e (mg/0)
FARH VT (mg/0) - -
P (mg/0) - - - -
L (mg/Q) - - = -
EfEIEEE R (mg/0) 2.3 2.0 1.7 1.6
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
EMETEE R R O EFEIEZEE (ng/0) 2.3 2.0 1.7 1.6
S0 FH (mg/0) - - - —
ESES (mg/0) - - - —
KFEA A VRE (pH) 8.1 8.1 8.0 8. 1
A FEERERE (BoD)  (mg/0) 0.7 0.5 1.1 1.2
bR EEE Bk & (CoD) (mg/0) 2.3 3.8 3.0 3.5
skl TIRE (SS) (mg/0) 16 41 1 5
BrisF s (D0) (mg/0) 9.6 8.9 10. 2 10.5
IN e (MPN/100m0) 1. 1E+3 1. 3E+4 7.9E+3 4. 9E+2
MV E & & (mg/0) - < 0.5 - < 0.5
20 A (mg/0) 0.12 0.39 0.48 0.35
PER (mg/0) 2. 2.6 2.1 1.9
£gh (mg/0) - - - -
7 =) — V¥ (ng/0) - - - =
&l (mg/0) -
TRfRIERR (mg/0) - - - -
iRt~ (mg/0) - - - -
A (mg/0) - - - -
=/ (mg/0) - - - -
T U= TEEE (mg/0) | < 0.04 0.07 < 0.04 < 0.04
D APRTED A (mg/0) 0. 097 0.33 0.46 0.33
A A 2 S m s PEAl (mg/0) - - - < 0.03

HEHm3-81




LI GREEBEN &R #-3(3)-23
kB H20. 5. 26 H20.8. 11

K ERZ) 11:05 11:50

PN [ i

Bl K (BEKE) (mm) 36.0 5.0

KT (m) 0. 340 0.210

FBUKE (m) 0. 068 0. 050

Do (m/F)) 0. 36 0.34

it (' /) 0.63 0.49

U (C) 30. 5 32.0

ZKIE (C) 25.5 30. 3

faRH STV | EAEH

B () 55 > 100

B g 5 g 5

A Byl | #iEMH Y

B RIT AL (mg/0) < 0.001

BT (mg/0) AR

b (mg/0) - <_0.005

N2 1 A (mg/0) - < 0.02

fitts7 (mg/0) - <_0.005

KRk SR (mg/0) - <_0.0005

viou ARy (mg/0) - < 0.002

R AES (mg/0) - < 0.0002

L,2-YZaux i (mg/0) - < 0.0004

,1-ZupgxTFL (mg/0) — < 0.002

L A-1,2-v7aaxF L (ng/0) - < 0.004

L1L,1-hVZnexHy (mg/0) - < 0.0005

LlL,2-hVZnuxHy (mg/0) - < 0.0006

M) ZeoxFL v (mg/0) - < 0.002

F RIS /puxFL (mg/0) - < 0.0005

,3-YvZup 7~y (mg/0) - < 0.0002

FTU7 A (mg/0) - < 0.0006

D (mg/0) < 0.0003

FAXUHNVT (mg/0) - < 0.002

NP (mg/0) - < 0.001

L (mg/0) - < 0.002

M E R (mg/0) 0.92 0. 67

TS FAPE 257 (mg/0) | < 0.05 < 0.05

fEEATE 2 S8 B OV et 225 (mg/0) 0.97 0.72 \

S0 (mg/0) - < _0.08 \
RS (mg/0) - < 0.02 \
KFEA AV IRIE (pH) 8.1 8.8 \
AV FEERE (BoD)  (mg/0) 1.3 0.9 \
bRy iR R SRk & (COD) (mg/0) 3.8 2.7 \
IR IRWE (SS) (mg/@) 7 7 \
W ArEZR . (DO) (mg/0) 9. 4 12.4 \

N ALk (MPN/100m@)| 7. 9E+3 4. 9E+3 \
-~V B G & (mg/0) - < 0.5 \
29 A (mg/0) 0. 10 0. 041 \
BER (mg/0) 1.4 1.0 \
Aaigh (mg/0) - 0. 004 \
7> /) =)V (mg/0) - <_0.005 \
Bl (mg/0) - < 0.01 \
TIPSR (mg/0) - 0. 02 \
IR~ v B (mg/0) - <_0.01 \
VAR (mg/0) - < 0.02 \
=y (mg/0) - <_0.008 \
TUE=TIHER (mg/0) 0. 04 < 0.04 \
D APEREY A (mg/0) 0. 068 0. 032 \
A A S mEE LA (mg/0) - < 0.03 \

B} 3-82



RN (FETHAMA) #-3(3)-24
£k H H20. 5. 26 H20.8. 11 H20. 11. 17 H21.2.16
K] 14:25 11:45 11:00 11:35
& i i i =
FIEERCC Y S53) (mm) 36. 0 5.0 1.0 0.0
IKIE (m) 0. 260 0.160 0.070 0.070
BRI (m) 0. 052 0. 050 0. 050 0. 050
Pt (m/F) 0.53 0. 54 0.11 0.13
it (/) 0.51 0.30 0.03 0.03
SR (°C) 27.0 32.7 18.9 15.0
JKIE (°C) 19.8 27.8 15.9 13.0
fakH AT E | BEAH e e
B (f) 37 > 100 > 100 > 100
R e 5 e 5 e 5 e 5L
S8l Bl ML ML ML
BRI T A (mg/0) - < 0.001 - -
BT (mg/0) - g H - -
& (mg/0) - < 0.005 — -
AN v A (mg/0) - < 0.02 - -
itk (mg/0) - < 0.005 - -
FeKER (mg/0) - < 0.0005 - -
DA =D X % (mg/0) - < 0.002 — -
LR AES (mg/0) - < 0.0002 - -
L,2-Y/ZuauxH (mg/0) - < 0. 0004 - -
L,1-YZaaxFL (mg/0) - < 0.002 — -
L A-1,2-v7aaxF L (ng/0) - < 0.004 — —
LL1I-hV ooy (mg/0) - < 0.0005 - -
LL2-hrV ooy (mg/0) - < 0.0006 - -
Ny ZmamxzF L (mg/0) - < 0.002 — -
F NI 7auTF L (mg/0) - < 0.0005 — -
,3-Y/uauasa~y (mg/0) - < 0.0002 - -
FU T A (mg/0) - < 0.0006 — -
P4 (mg/0) < 0.0003
FF X H T (mg/0) - < 0.002
P (mg/0) - < 0.001 - -
1L (mg/0) - < 0.002 - -
EfEIEEE R (mg/0) 1.7 0.62 2.4 2.5
MRS EE R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
L= L O RREEE (ng/0) 1.7 0.67 2.4 2.5
S0 FH (mg/0) - 0. 09 - -
EEES (mg/0) - < 0.02 — -
KFEA A VRE (pH) 7.4 7.4 8.1 7.9
A FEERERE (BoD)  (mg/0) 1.5 0.8 0.8 1.9
bR EEE Bk & (CoD) (mg/0) 3.3 2.9 1.9 2.8
skl TIRE (SS) (mg/0) 9 3 <1 2
BrisF s (D0) (mg/0) 9.1 9.5 12.8 12.0
IN e (MPN/100m0)| 2. 2E+4 1. 3E+4 2. 2E+4 1. 7TE+3
MV E & & (mg/0) < 0.5 - < 0.5
20 A (mg/0) 0.11 0. 037 0.10 0.11
PER (mg/0) 1.8 0.87 2. 2.6
£gh (mg/0) - < 0.001 - -
7 x ) —)VH (mg/0) - < 0.005 — -
El (mg/0) - < 0.01
RN (mg/0) - 0. 06 - -
VR~ v v (mg/0) - 0.01 — -
W o A (mg/0) - < 0.02 - -
=y (mg/0) - < 0.008 — -
T U= TEEE (mg/0) 0.09 < 0.04 0. 06 0.11
D APRTED A (mg/0) 0.061 0. 033 0. 094 0. 097
A A 2 S m s PEAl (mg/0) - - - 0. 04

P FHm3-83




HPRGAIKEFRESER (PCB) #-3(3)-25
w4 H20. 5. 26 H20. 8. 11 H20. 11. 17 H21.2.16
HEE) 1| - A HH - -
AN T E 3 - AHH - -
AREF1 E3i - A HH - -
FREF)I T i - A fH - -
BT - A HH - -
A - A fH - -
JBSFHEK R - A HH - -
il - A HH - -
Fam)l - A fH - -
LB - A HH - -
SR - A HH - -

EBHm3-84




3-(4) BB EHRKERERE
BE k5 FREH : ERK204E11 A 26 H F-3(4)-1
I 1\ H 2[FH 3FH 4 H
4:00 5:00 6:00 7:00
BN B = I =
AiFH KM (FRKE) (mm) 2.0 - - -
IR C) 8.2 8.8 7.8 6.7
K (C) 12.6 12. 4 11.8 11.5
4 I £,575 I £,575 I £,575 I £,57
B () | > 100 > 100 > 100 > 100
B g 5. g 5 g 5 flLIZ
s Bl HBERL LER L LE 7R L
HfRIEEE R (mg/0) 1.3 1.2 1.2 1.2
AN L2 SR (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
Tt ZE R L OV AN EEEZE % (me/0) 1.3 1.2 1.2 1.2
KFA A PR (pH) 7.6 7.7 7.7 7.7
E IR R E (BOD) (mg/0) 1.0 1.1 1.1 1.0
bR RESR ER & (COD) (mg/0) 2.3 1.5 2.1 2.0
FlEYE & (SS) (mg/0) 7 2 5 4
BArisF R (DO) (mg/0) 9.0 9.2 9.0 9.4
K T RS (MPN/100me)| 7. 9E+2 4. 9E+2 1. 4E+3 2. 4E+3
20 A (mg/0) 0. 063 0.019 0.022 0.025
PER (mg/0) 1.9 1.4 1.5 1.6
TR TIHESR (mg/0) | < 0.04 0. 04 0.07 0.14
D ABERED (mg/0) 0. 062 0.018 0.014 0.014
AR1EF R AR : FR204:11H26H #F-3(4)-2
I 1\l H 2[5 B RIETY=! 4[a1 H
4:20 5:20 6:20 7:20
I E R (k&) (mm) 2.0 - - -
U (C) 8.3 8.9 7.8 7.3
TR C) 12.0 12.2 11.2 12.0
£ a5 a5 a5 a5
BAE (B) | > 100 > 100 > 100 > 100
B piig e 5 piLa =) piig
S\ Bl WL WL WL
E [ (mg/0) 2.4 2.5 2.5 2.5
MR AR 22 5 (mg/0) 0.05 < 0.05 < 0.05 < 0.05
EfETEZE 3 R OV H R IEZE 52 (mg/0) 2.4 2.5 2.5 2.5
IKFEA A TEE (pH) 7.8 7.8 7.8 7.8
TR ZERkE (BOD) (mg/0) 1.7 1.6 1.9 1.6
b PRI R R & (COD) (mg/0) 2.7 2.3 2.2 2.3
FlEE & (SS) (mg/0) 3 1 2 1
e FE R (DO) (mg/0) 9.2 9.3 9.1 9.3
K T BES (MPN/100m@)| 2. 4E+3 4. 9E+3 3. 3E+3 3. 3E+3
29 A (mg/0) 0. 063 0. 061 0.053 0. 050
PER (mg/0) 2.9 2.9 2.7 2.9
TR TIESR (mg/0) 0.08 0.08 0.14 0.07
D ABEREYD A (mg/0) 0. 044 0. 048 0. 044 0. 045

P i3 -85




SiTiE FAAH  FRL2041126H #-3(4)-3
I 1\ H 2[FH 3FH 4F H
4:40 5:40 6:40 7:40
BN B = i =
AiFH KM (FRKE) (mm) 2.0 - - -
IR C) 8.8 8.9 7.6 7.8
K (C) 12.0 12.1 11.0 11.2
4 fH I £,575 I £,575 I £,57 I £,57
B () | > 100 > 100 > 100 > 100
B i 5 g 5 g 5. e 5
s Bl HBEmL HBEmL HBEmL
fHfRIEEE R (mg/0) 2.7 2.6 2.6 2.7
AN L2255 (mg/0) 0.07 0. 06 0.05 0. 06
Tt EE R L OV AN EeEZE % (me/0) 2.7 2.6 2.6 2.7
RFEA A IRE (pH) 7.9 7.9 7.9 7.9
IR R E (BOD) (mg/0) 1.8 1.9 2.4 2.7
bR RESR ZR & (COD) (mg/0) 2.5 2.4 3.2 3.0
FlEYE & (SS) (mg/0) 1 1 7 3
BArisF R (DO) (mg/0) 9.8 9.7 9.8 9.9
K T RS (MPN/100m@)| 4. 9E+3 7.9E+3 4. 9E+3 1. 1E+4
20 A (mg/0) 0. 061 0. 063 0.077 0.13
PER (mg/0) 3.1 2.8 2.9 3.1
T T HESR (mg/0) 0.09 0.07 0.11 0.24
D ABRTED A (mg/0) 0.041 0. 052 0. 056 0. 062

P FHm3-86




3-(O) M ER)EBUKERERR

IR ERLS FAER : FR21IF2H25H #-3(5)-1
- 181 H 2[A1H 3[FH 4[A1H IEIRE!
HEHAR 4:00 4:20 4:40 5:00 5:20
PN = = = = =
Hij R (FEKE) (mm) 1.5 - - - -
KR (C) 4.1 4.0 4.0 4.2 4.2
K (C) 7.3 7.2 7.2 7.2 7.2
=X MEE | mEE | medl | ReEl | BaEw
B (B) | > 100 > 100 > 100 > 100 > 100
B 5L 5 5L 5 5
A Bl | BEeL | BEaL | BEaL | BEiRL
HIEEEE R (mg/0) 1.3 1.3 1.3 1.3 1.3
AN LS 58 (mg/0) 0.05 < 0.05 < 0.05 < 0.05 < 0.05
At R K OVl et R (mg/0) 1.3 1.3 1.3 1.3 1.3
RFEA A IRE (pH) 7.7 7.7 7.7 7.7 7.7
AR R E R R (BOD) (me/0) 3.0 2.9 3.1 2.8 2.9
bR EESR ZR & (COD) (mg/0) 2.2 2.2 2.2 2.2 2.1
Y E R (SS) (mg/0) 2 2 1 2 1
B FE R (D0) (mg/0) 11.8 11.9 11.7 11.8 11.8
K T S (MPN/100m@)| 4. 9E+3 3. 3E+3 4. 9E+3 3. 3E+3 4. 9E+2
n—~H/ Y E & A & (mg/0) | < 0.5 < 0.5 < 0.5 < 0.5 < 0.5
20 (mg/0) 0.15 0.13 0.18 0.16 0.15
PER (mg/0) 1.6 1.6 1.7 1.7 1.8
T o= ThER (mg/0) 0.15 0.15 0.16 0.26 0.16
D ABERED A (mg/0) 0.11 0.10 0.17 0.13 0.12
- 671 H 7[5 B 8a1 H 9= H 10[=1 H
WAEAR 5:40 6:00 6:20 6:40 7:00
PN = = = = T
I B K (k&) (mm) - - - - -
SR (°C) 4.4 4.4 4.6 4.6 4.6
TR (C) 7.2 7.2 7.2 7.4 7.4
4 WG | BAEY | Ml | KRRy | BaEy
BARE (B) | > 100 > 100 > 100 > 100 > 100
B piig S piig S piig S 5 5
AN WL | BEeL | BEeL | EEeL | EEeL
fHfR L2 R (mg/0) 1.4 1.3 1.4 1.3 1.3
T AE R 22 55 (mg/0) 0.05 < 0.05 < 0.05 < 0.05 < 0.05
HEAMEZE R L O RRE =R (mg/0) 1.4 1.3 1.4 1.3 1.3
IKFEA A BE (pH) 7.7 7.7 7.7 7.7 7.7
W EIEE R R E (BOD) (mg/0) 3.1 2.7 3.1 3.1 2.4
b PRI R R & (COD) (mg/0) 1.9 1.9 1.8 1.8 1.8
Y E & (SS) (mg/0) 1 1 2 1 2
AriEFE R (D) (mg/0) 11.5 11.9 11.8 12.0 11.7
KRG T RS (MPN/100m@)| 3. 3E+2 1. 7TE+3 2. 4E+3 1. 3E+3 3. 3E+3
n—~MV P E & H = (mg/0) | < 0.5 < 0.5 < 0.5 < 0.5 < 0.5
29 A (mg/0) 0.15 0.11 0.11 0.11 0.11
PER (mg/0) 1.7 1.6 1.8 1.5 1.6
TR TIER (mg/0) 0.12 0.08 0.09 0.15 0.07
D ABRTED A (mg/0) 0.10 0. 097 0. 090 0.091 0. 085

P rHm3-87




EE FAER : FR21IF2H25H #-3(5)-2
AT 1@5 Z@H B@H 4@5 5[FH
4:00 4:20 4:40 5:00 5:20
PN = = = = =
Hij R (FEKE) (mm) 1.5 - - - -
KR (C) 3.8 3.9 4.0 4.0 3.9
K (C) 7.5 7.6 7.5 7.5 7.5
=X B2 WKE | D WKE | WEaE | mess | madn
B (FE) 20 27 41 50 77
B 5 5 5 5 5
A FEMH 0 | FilEDH 0 |RilED D Y | ZED S 0 | ZiED S D
HIEEEE R (mg/0) 1.4 1.4 1.4 1.4 1.4
AN LS 58 (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05 < 0.05
At R K OVl et R (mg/0) 1.4 1.4 1.4 1.4 1.4
RFEA A IRE (pH) 7.7 7.7 7.7 7.7 7.7
AR R E R R (BOD) (me/0) 5.6 5.3 3.7 3.3 4.2
bR EESR ZR & (COD) (mg/0) 4.4 4.4 3.2 2.8 2.6
Y E R (SS) (mg/0) 10 7 4 3 5
B FE R (D0) (mg/0) 11.8 11.7 11.6 11.8 11.9
K T S (MPN/100m@)| 1. 3E+3 1. 7E+4 4. 9E+3 4. 9E+3 2. 4E+3
n—~H/ Y E & A & (mg/0) | < 0.5 < 0.5 < 0.5 < 0.5 < 0.5
20 (mg/0) 0.36 0.31 0.22 0.17 0.15
PER (mg/0) 2.3 2.5 2.0 1.8 1.9
T o= ThER (mg/0) 0.26 0.16 0.15 0.12 0.11
D ABERED A (mg/0) 0.18 0.17 0.13 0.12 0.12
- 671 H 7[5 B 871 H 9= H 10[=1 H
WAEAR 5:40 6:00 6:20 6:40 7:00
KA = = = = 5]
I B K (k&) (mm) - - - - -
SR (°C) 4.0 4.0 4.2 4.2 4.6
TR (C) 7.5 7.5 7.5 7.6 7.6
4 MG | BAEY | Ml | KRRV | BaEy
BARE (B) | > 100 > 100 > 100 77 62
B piig S piig S piig S 5 5
AN Hegnal | ZEH2L | B2l | BEhLL [HiEmbH 0
fHfR L2 R (mg/0) 1.4 1.4 1.4 1.4 1.4
T AE R 22 55 (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05 < 0.05
HEAMEZE R L O RRE =R (mg/0) 1.4 1.4 1.4 1.4 1.4
IKFEA A BE (pH) 7.7 7.7 7.7 7.7 7.7
W EIEE R R E (BOD) (mg/0) 2.8 3.0 3.2 2.4 2.8
b PRI R R & (COD) (mg/0) 2.3 2.4 2.4 2.4 2.3
Y E & (SS) (mg/0) 3 4 4 4 7
AriEFE R (D) (mg/0) 11.9 11.8 11.8 11.9 11.7
KBRS (MPN/100m@)| 2. 4E+3 3. 3E+3 1. 7TE+3 2. 4E+3 2. 4E+3
n—~MV P E & H = (mg/0) | < 0.5 < 0.5 < 0.5 < 0.5 < 0.5
29 A (mg/0) 0.16 0.16 0.17 0.16 0.15
PER (mg/0) 1.8 1.9 1.6 1.7 1.7
TR TIER (mg/0) 0.14 0.11 0.13 0.13 0.09
D ABRTED A (mg/0) 0.12 0.12 0.14 0.11 0.10

P rHm3-88




H 57 545 FAER : FR21IF2H25H #-3(5)-3
- 1HEH 2[A1H 3[FH 481 H IEIRE!
HEHAR 4:00 4:20 4:40 5:00 5:20
PN = = = = =
Hij R (FEKE) (mm) 1.5 - - - -
KR (C) 4.0 4.3 4.4 4.4 5.0
K (C) 6.5 6.8 7.5 6.5 6.6
=X BB W IR | Bl WIRE | B D WK | B D W R | BT A WK 4
B (FE) 11 11 13 21 25
B g5 g5 g5 g5 5
A FEMH 0 | FilEDH 0 |RilED S Y | ZEDH 0 | ZiED S D
HIEEEE R (mg/0) 1.5 1.5 1.5 1.5 1.5
AN LS 58 (mg/0) | < 0.05 < 0.05 < 0.05 0. 05 < 0.05
At R K OVl et R (mg/0) 1.5 1.5 1.5 1.5 1.5
RFEA A IRE (pH) 7.6 7.7 7.7 7.7 7.7
AR R E R R (BOD) (me/0) 10 11 7.6 5.1 4.8
bR EESR ZR & (COD) (mg/0) 9.6 9.3 6.7 5.0 4.5
FlE B B (SS) (mg/0) 17 18 12 9 6
B FE R (D0) (mg/0) 11.5 11.5 11.8 11.5 11.5
K T S (MPN/100m@)| 3. 3E+3 1. 7TE+3 1. 7TE+3 3. 3E+3 1. 7TE+3
n—~H/ Y E & A & (mg/0) | < 0.5 < 0.5 < 0.5 < 0.5 < 0.5
20 (mg/0) 0.74 0.72 0.55 0. 36 0.31
PER (mg/0) 3.4 3.0 2.9 2.3 2.2
T =T RS (mg/0) 0.27 0. 20 0.21 0.16 0.19
D ABERED A (mg/0) 0.29 0.29 0.24 0.19 0.17
- 671 H 7[5 B 8[a1 H 9= H 10[=1 H
WAAR 5:40 6:00 6:20 6:40 7:00
KA = = = = 5
I B K (k&) (mm) - - - - -
SR (°C) 4.6 4.8 5.0 4.9 5.0
TR (C) 7.0 6.8 6.8 6.7 6.7
4 MEEY | BAEY | Ml | KRRV | BaEy
BARE () 36 42 64 67 75
B Fiig Fiig Fiig 5 5
AN S 0 (M H 0 |FilEMH 0 [ H 0 |1 H 0
fHfR L2 R (mg/0) 1.5 1.5 1.6 1.5 1.5
T AE R 22 55 (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05 < 0.05
HEAMEZE R L O RRE =R (mg/0) 1.5 1.5 1.6 1.5 1.5
IKFEA A BE (pH) 7.7 7.7 7.7 7.7 7.7
W EIEE R R E (BOD) (mg/0) 4.2 3.0 3.0 3.4 2.6
b PRI R R & (COD) (mg/0) 3.6 2.8 2.6 2.6 2.5
Y E & (SS) (mg/0) 4 4 2 2 2
AriEFE R (D) (mg/0) 11.8 11.5 11.8 11.7 11.7
KBRS (MPN/100m@)| 2. 7E+3 7. 0E+3 4, 6E+3 1. 7TE+3 3. 3E+3
n—~MV P E & H = (mg/0) | < 0.5 < 0.5 < 0.5 < 0.5 < 0.5
29 A (mg/0) 0.26 0.19 0.16 0.17 0.17
PER (mg/0) 2.1 1.9 1.8 1.8 1.7
TR TIER (mg/0) 0.15 0.18 0.10 0.13 0.10
D ABRTED A (mg/0) 0.16 0.13 0.12 0.12 0.12

P EHm3-89




3-(6) TiHHKRET—% (IEE)

#F-3(6)-1
mERH %g%@ 1 23$¥%M4ﬂ 4-B
Kk - = i} 5 5
KR - 17.9 14.6 12.3 15. 4
KR - 18.4 19.4 17.3 20.0
R U LEEY 0.05 < 0.01 < 0.01 - < 0.01
T AREY 0.5 < 0.01 < 0.01 - < 0.01
tEw 0.1 < 0.01 < 0.01 - < 0.01
N7 a LMeE 0.5 < 0.05 < 0.05 - < 0.05
it/ L& 0.1 < 0.01 < 0.01 - < 0.01
TRk ER 0. 005 < 0.0005 [ < 0.0005 - < 0.0005
INDRZA=A==- S 0.3 < 0.002 < 0.002 - < 0.002
FhISrupTFL 0.1 < 0.0005 [ < 0.0005 - < 0.0005
Crun ARy 0.2 < 0.02 < 0.02 - < 0.02
Wik e 0. 02 < 0.0002 | < 0.0002 - < 0.0002
L2-YZumauxi 0. 04 < 0.004 < 0.004 - < 0.004
,1-¥YZupxTFLo 0.2 < 0.02 < 0.02 - < 0.02
VA1, 2-V7unxF L 0.4 < 0.04 < 0.04 - < 0.04
L1,1-hYyZoaxg 3 < 0.0005 [ < 0.0005 - < 0.0005
LL,2-hVZmuxzH 0. 06 < 0.006 < 0.006 - < 0.006
,3-YZ7unru~ly 0. 02 < 0.002 < 0.002 - < 0.002
R 0.1 < 0.01 < 0.01 - < 0.01
‘LML EY 0.1 < 0.01 < 0.01 - < 0.01
So R AW 8 < 0.1 < 0.1 - 0.3
135 FEEY 10 < 0.1 < 0.1 - 0.2
R A T re | es | s
KFEA AR (pH) 5.8~8.6 6.8 7.5 7. 8.2
M IRE R R E  (BOD) 25 1.0 < 1.0 1. 3.9
LRI EESR ER & (COD) 25 9.6 2.4 6. 1.8
T E & (SS) 70 4.7 < 2.0 14 < 2.0
n—~F U E 5 < 1.0 < 1.0 1.0 < 1.0
7 ) — VI 0.05 < 0.005 < 0.005 - 0. 006
kil 1 < 0.05 < 0.05 - < 0.05
fiiikee) 1 < 0.05 0.07 - < 0.05
TR fREER 1 < 0.05 < 0.05 - < 0.05
it~ o v 1 < 0.02 < 0.02 - < 0.02
VA=A 1 < 0.05 < 0.05 - < 0.05
R A B 3000 0 1. 3E+2 78 0
=y 1 < 0.05 < 0.05 - < 0.05
D 0.03 - - - -
FUT A 0. 06 - - - -
FANTNT 0.2 - - - -

HAL mg/0 (7272 L. pHIZEALZ: L, KIBEBEEUIE/ en®)
XFEREO [l 1T TRERN 2E,

P EHm3-90




#*-3(6)-2

A A > RiEAG

34 5 6 7
PN - i & i
RIE - 20. 0 26.9 11.1
7RI - 20. 4 27. 4 24.3
R U LEEY 0.05 < 0.01 - -
T AREY 0.5 < 0.01 - -
eyl 0.1 < 0.01 - -
N7 a LMeE 0.5 < 0.05 - -
it/ L& 0.1 < 0.01 - -
TRk ER 0. 005 < 0.0005 - -
INDRZA==3=- S 0.3 < 0.002 - -
A== 0.1 < 0.0005 - -
DY A=2=8 ¥ 2 0.2 < 0.02 - -
WKl rES 0. 02 < 0.0002 - -
L2-yZuuuxi 0. 04 < 0.004 - -
e A== A 0.2 < 0.02 - -
VA, 2-v/marzF L 0.4 < 0.04 - -
L1,I-hY ooz 3 < 0.0005 - -
LL,2-hYZumrxgy 0.06 < 0.006 - -
,3-Y7unraty 0. 02 < 0.002 - -
AV 0.1 < 0.01 - -
L ALEY 0.1 < 0.01 - -
So R AW 8 0.6 - -
135 FEEY 10 < 0.1 - -
VT Ve AN e T
R A T A L
KFEA AR (pH) 5.8~8.6 7.8 7.4 7.6
M RIRE R R E  (BOD) 25 5.6 1.4 1.0
{boPRR R Bk & (COD) 25 6.7 6.7 2.6
R E B (SS) 70 5.5 2.0 2.0
n—~% Y S 5 < 1.0 1.0 1.0
7= ) —/VHH 0. 05 < 0.005 - -
& 1 < 0.05 - -
G 1 < 0.05 - -
TR fRIEER 1 0.25 - -
AR~ T 1 0.33 - -
ZA=TA 1 < 0.05 - -
R T B 3000 1. OE+2 56 0
= 1 < 0.05 - -
D N 0.03 - - 0. 003
FUT AN 0. 06 - - 0. 006
FARTNT 0.2 - - 0.02

HAL mg/0 (7272 L. pHIZEALZ: L, KIBEBEEUIE/ en®)
XFEREO [l 1T TRERN 2E,

P EHR3-91




— B LE

X 2-A 2-B 8
PN - H 5 i
RIR - 8.0 11.8 13.1
7RI - 22.5 25. 8 28.9
R U LAY Bt &henwz AR At H -
T ACE Y B EhARnZ & Rl A -
eyl 0.05 < 0.01 < 0.01 -
N2 a LMeE 0.05 < 0.05 < 0.05 -
it/ L& 0.01 < 0.01 < 0.01 -
TRk ER 0. 005 < 0.0005 [ < 0.0005 -
[ A=R=5-0 P2 0.3 < 0.002 < 0.002 -
FRI/prTFLv 0.1 < 0.0005 | < 0.0005 -
DY A=2=8 ¥ 2 0.2 < 0.02 < 0.02 -
WKl rES 0.02 < 0.0002 | < 0.0002 -
Lo-Y7unxziy 0. 04 < 0.004 < 0.004 -
A== A 0.2 < 0.02 < 0.02 -
vZA-1,2-Y/7nuxF L 0.4 < 0.04 < 0.04 -
L1,I-hY ook 3 < 0.0005 | < 0.0005 -
LL,2-hYZmmrxzgy 0.06 < 0.006 < 0.006 -
,3-Y7upnraty 0.02 < 0.002 < 0.002 -
AV 0.1 < 0.01 < 0.01 -
LA EY 0.1 < 0.01 < 0.01 -
SoF AW 0.8 < 0.1 < 0.1 -
135 FEEY 10 < 0.1 < 0.1 -
- - A e s
oo, malean 100
KFEA AR (pH) 5.8~8.6 7.4 7.2 8.2
M IRE R R E (BOD) 15 2.2 32 10
{boPRR R BR & (COD) 15 9.2 41 13
FEYE & (SS) 35 2.5 43 8.
n—~~39 3 < 1.0 4.3 1.
7 x ) — VI 0. 005 < 0.005 0. 009 -
kil 1 < 0.05 < 0.05 -
High 1 0.05 < 0.05 -
TR fRIEER 0.3 < 0.05 0.07 -
Rt~ o v 0.3 < 0.02 < 0.02 -
ZA=TA 0.1 < 0.05 < 0.05 -
R T B 3000 6.8E+2 | > 1.0E+4 6. 3E+2
= 0.3 < 0.05 < 0.05 -
D N 0.03 - - -
T T A 0. 06 - - -
FARTNT 0.2 - - -

HAL mg/0 (72721, pHIZEALZ: L, KRIGEBEEUIIE/ en®)

MERHPO T HE) 1T THUEART 2R,

P FHm3-92




#-3(6)-4

= Pk FENo Pk e FHANo

MERH (Bt 10 (&) 9
K& - H - i
RIR - 14.2 - 13.7
7RI - 21.2 - 18.8
R U LEEY B Sz & - 0. 05 -
7 AEEY) B Enino & - 0.5 -
eyl 0.05 - 0.1 -
N2 a LMeE 0.05 - 0.5 -
MHEEW 0.01 - 0.1 -
TRk ER 0. 005 - 0. 005 -
[ A=R=5-0 P2 0.3 < 0.002 0.3 -
A A=0== 0.1 < 0.0005 0.1 -
DYA=2=8 ¥ 2 0.2 < 0.02 0.2 -
WKl rE 0.02 < 0.0002 0.02 -
L2-YZuuuxi 0. 04 < 0.004 0. 04 -
e A== 0.2 < 0.02 0.2 -
VA, 2-v/marzF L 0.4 < 0.04 0.4 -
LL,1-F)Zmmxz 3 < 0.0005 3 -
LL,2-hYZamrxzgy 0.06 < 0.006 0.06 -
,3-Y7upraty 0.02 < 0.002 0. 02 -
AV 0.1 < 0.01 0.1 -
L ALEY 0.1 - 0.1 -
SoRIEW 0.8 - 8 -
ERESI4e 10 - 10 -
VEe - A e s
KFEA AR (pH) 5.8~8.6 8.2 5.8~8.6 7.8
M IRE R R E  (BOD) 130 25 160 42
LRI EESR ER & (COD) 130 91 (160) 59
FEE R (SS) 160 39 200 38
n—~% Y S 3 6.4 - 2.1
7= /) —/)VIE 0. 005 - - -
kil 1 - 1 -
[k 1 - 1 -
TRFRVESR 0.3 - 1 -
Rt~ o v 0.3 - 1 -
ZA=TA 0.1 - 1 -
R T B 3000 6. 3E+3 3000 > 1.0E+4
=i 0.3 - 1 -
D N 0.03 - 0.03 -
FUT A 0. 06 - 0. 06 -
FA_RTNT 0.2 - 0.2 -

HAL mg/0 (72721, pHIZEALZ: L, KIGEBEEUIIE/ en®)
XFEREO [l 1T TRERN 2E,

P EHm3-93




3-() THEHKRET—% (2EE)

#F-3(7)-1

S g%%@ %%;JTNO
K& - =
SR - 16.2
KR - 18.7
BRI abLEY 0.05 < 0.01
7 AREY 0.5 < 0.01
e 0.1 < 0.01
N7 v LMeE 0.5 < 0.05
it/ L& 0.1 < 0.01
VI 0. 005 < 0.0005
INDRZA=A=3=- S 0.3 < 0.002
SRS rpmTFLL 0.1 < 0.0005
DY A=2=F ¥ 2 0.2 < 0.02
WK e 0. 02 < 0.0002
L2-YZumuxi 0. 04 < 0.004
L, 1I-YZ7nnxF Ly 0.2 < 0.02
VA, 2-v/marzF L 0.4 < 0.04
LL,lI-hY ooz g 3 < 0.0005
LL,2-hVZumuxzH 0. 06 < 0.006
,3-YZ7unra~ly 0. 02 < 0.002
AV 0.1 < 0.01
‘LA EY 0.1 < 0.01
SoFLEW 8 0.1
135 FEEY 10 < 0.1
T/EET 7‘/‘%:%45/5\%\ RIS 100 6.9
L&, HmBibew
KFEA AR (pH) 5.8~8.6 7.8
M IRE R R E (BOD) 25 11
{b2PR R R Bk & (COD) 25 8.3
TFE B & (SS) 70 5.3
n—~¥ S 5 < 1.0
7= ) —/VIH 0.05 0.011
kil 1 < 0.05
Hign 1 < 0.05
TR fREER 1 0.16
AR~ T 1 0. 06
ZA=TA 1 < 0.05
R T B S 3000 58
=y 1 < 0.05

BT mg/0 (72721, pHIZEEALZ L, KBS ERELIZME/ cn’)
EHO TCHE] X TERIER 289,

P rHm3-94



#*-3(7)-2
— s e
X 1-A 1-B 3

PN - H H H
SR - 10.0 13.4 15. 4
7RI - 18.9 23.7 32.7
R U LAY B Enenwz At H At H
T AREY B EhARnZ & Rl AR
eyl 0.05 < 0.01 < 0.01
A7 v LA 0.05 < 0.05 < 0.05
it/ L& 0.01 < 0.01 < 0.01
TRk ER 0. 005 < 0.0005 [ < 0.0005
INDRZA=A=3=- S 0.3 < 0.002 < 0.002
A== 0.1 < 0.0005 [ < 0.0005
DYA=3=8 ¥ 2 0.2 < 0.02 < 0.02
WKl rE 0.02 < 0.0002 | < 0.0002
L2-YZuuuxi 0. 04 < 0.004 < 0.004
e A== 0.2 < 0.02 < 0.02
VA-,2-V/7uuxF L 0.4 < 0.04 < 0.04
LL,I-hY ooz g 3 < 0.0005 [ < 0.0005
LL,2-hYZmampxgy 0. 06 < 0.006 < 0.006
,3-Yr7upraty 0.02 < 0.002 < 0.002
AV 0.1 < 0.01 < 0.01
‘LA EY 0.1 < 0.01 < 0.01
SoFEW 0.8 < 0.1 < 0.1
135 FEEY 10 < 0.1 < 0.1
Ve VT AN e T
KFEA AR (pH) 5.8~8.6 7.2 7.1 8.2
M IRE R R E  (BOD) 15 6.7 19 1.4
{boPRgR R B & (COD) 15 17 28 6.6
FEE R (SS) 35 7.0 10 2.9
n—~F Y YR 3 < 1.0 < 1.0 1.0
7= ) —/VHH 0. 005 < 0.005 < 0.005
kil 1 < 0.05 < 0.05
fiiikee) 1 < 0.05 < 0.05
TR fREER 0.3 0. 07 0.08
it~ o v 0.3 < 0.02 < 0.02
ZA=TA 0.1 < 0.05 < 0.05
R A B 3000 1. 4E+3 3. 5E+3 1. 9E+3
= 0.3 < 0.05 < 0.05

BT mg/0 (72721, pHIZEALZ L, KESEREEIZME/ en’)
EHO T HE] X TERIER 2F£9,

P FHm3-95




S TE Pk Ik FEHNo Pk e FHANo

- Cora% 5 (FH&) 4
K& - H - &
RIR - 14.6 - 15. 4
7RI - 21.6 - 13.6
R U LEEY B Sz & - 0. 05 -
7 AEEY) B Enino & - 0.5 -
eyl 0.05 - 0.1 -
N2 a LMeE 0.05 - 0.5 -
MHEEW 0.01 - 0.1 -
TRk ER 0. 005 - 0. 005 -
[ A=R=5-0 P2 0.3 < 0.002 0.3 -
A A=0== 0.1 < 0.0005 0.1 -
DYA=2=8 ¥ 2 0.2 < 0.02 0.2 -
WKl rE 0.02 < 0.0002 0.02 -
L2-YZuuuxi 0. 04 < 0.004 0. 04 -
e A== 0.2 < 0.02 0.2 -
VA, 2-v/marzF L 0.4 < 0.04 0.4 -
L1,I-hY ook 3 < 0.0005 3 -
LL,2-hYZamrxzgy 0.06 < 0.006 0.06 -
,3-Y7upraty 0.02 < 0.002 0. 02 -
AV 0.1 < 0.01 0.1 -
L ALEW 0.1 - 0.1 -
So R AW 0.8 - 8 -
135 FEEY 10 - 10 -
oo, malean 100 0-45 30
KFEA AR (pH) 5.8~8.6 7.4 5.8~8.6 7.4
M IRE R R E  (BOD) 130 14 160 22
LRI EESR ER & (COD) 130 83 (160) 40
FEE R (SS) 160 20 200 21
n—~% Y S 3 6.4 - 1.0
7= /) —/)VIE 0. 005 - - -
kil 1 - 1 -
[k 1 - 1 -
TRFRVESR 0.3 - 1 -
Rt~ o v 0.3 - 1 -
ZA=TA 0.1 - 1 -
R T B 3000 0 3000 3. 5E+3
=i 0.3 - 1 -

BT mg/0 (72721, pHIZEEALZ L, KIS EREEIZME/ cn’)
EHO TCHE] X TERIERN 2F£9,

P FHm3-96




- T/KRHEEE—E

#F-3(8)-1
HEHEH PrbE v BN IRE

KA — —
U (C) - —
BRI A (mg/0) 0.01 LA 0.001
BTV (mg/0) M Enenwo & 0.1
b (mg/0) 0.01 U 0. 005
VAV ZA =N (mg/0) 0.05 LA 0. 02
= (mg/0) 0.01 U 0. 005
FaKER (mg/0) 0. 0005 LA 0. 0005
T LK ER (mg/0) M Enenwo ke 0. 0005
PCB (mg/0) S nzenz 0. 0005
Y A=R=0 & (mg/0) 0.02 LA 0. 002
VUG R SR (mg/0) 0. 002 U 0. 0002
L,2-YsmuxH (mg/0) 0. 004 LA 0. 0004
L1-YZupxzFLo (mg/0) 0. 02 T 0. 002
VA-l,2-v/maRrzF L (mg/0) 0.04 LA 0. 004
LL,I-hVZmuxzH (mg/0) 1 T 0. 0005
LL2-hUVrmampx=x (mg/0) 0. 006 LA 0. 0006
INDRZA===- S (mg/0) 0.03 T 0. 002
FrhSumzFL (mg/0) 0.01 LA 0. 0005
L,3-YZ7unraly (mg/0) 0. 002 T 0. 0002
FAAZN (mg/0) 0. 006 LAF 0. 0006
DA (mg/0) 0. 003 T 0. 0003
FARHNT (mg/0) 0.02 LA 0. 002
R (mg/0) 0.01 T 0. 001
L (mg/0) 0.01 LI 0. 002
HE[ =6 (mg/0) — 0. 05
Mg ATE SR (mg/0) — 0. 05
fEEATEE SR R VIR (ng/0) 10 BLF 0. 10
5o (mg/0) 0.8 LIF 0.08
XS (mg/0) 1 BT 0. 02
BRI R (mS/m) — —
KA A R 5.8-8.6 (FEAMALHE) —
K (C) - —
BR — —
4] — —

KT LFAREIL, KRB BRIE L7 L EOHRMET D,

P EHm3-97




- M TFKIRRERRAET -2

#-3(9)-1
Hh sNo (&)
HIEEH 57 58 59 60
4 JERT JE N

ek B H20. 10. 21 H20. 10. 30 H20. 10. 29 H20. 10. 29
KA I 2 754 5
KR (C) 24.3 15. 2 22.3 19.2
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A
£ (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
AV /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
= (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Tk R (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T L LK ER (mg/0) - - - -
PCB (mg/0) A A A A
DA=8=8 & S (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
W R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
L2-v/amuxy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-YZuragx=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
v Z-1,2-YVr7muxF Ly (ng/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL1-hVZpeoxH (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2-hUVZmamrx=x (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
Ny Zoo=FL o (mg/0) | < 0.002 < 0.002 0. 002 < 0.002
FrFrunz=FLr (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yr7mrrua~y (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
FT A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
AN (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FFRBNVT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
iHma e (mg/0) 3.4 < 0.05 7.8 2.7
AN L2 55 (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEME R R R OV R EE R (ng/0) 3.4 < 0.10 7.8 2.7
5o (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
S (mg/0) | < 0.02 < 0.02 < 0.02 0.03
BB R (mS/m) 26 26 32 22
KFA A PR 7.3 7.7 7.0 6.8
KR (C) 17.6 18.0 18.2 17.1
B R i 5 e B fHE B
4] 7 1) e 5375 #0171 5375

EHO TCHE] X TR 289,

P rHm3-98




#£-3(9)-2

HiSNo (B 8D HifiNo (X =)
HEHEH 61 62 0278 0288
FH FH FH THEEA
£KH H20. 10. 30 H20. 10. 30 H20. 10. 30 H20. 10. 30
PN & = i 5]
KU (C) 17.3 18. 4 18.5 19.0
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Tk ER (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N A A A
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
,1-¥/muexFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
e (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 5.8 < 0.05 < 0.05 < 0.05
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 5.8 < 0.10 < 0.10 < 0.10
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) 0.03 < 0.02 < 0.02 < 0.02
ERARE R (mS/m) 49 27 38 33
KFA A PR 6.6 7.9 7.8 7.9
KR (C) 18.0 16.7 18.2 17.5
B i 5 fifb ks8R JIHEER - P8 g B
S8 e 5375 5375 1) WEEY, DD Y #0375 1)

XKEHO T HE) 13 TBUERT) 2%,

P EHm3-99




#-3(9)-3

HifSNo (Awir=a)
HEEH 0298 1208 1218 1228
ZH ZEH 1RK B4

£KH H20. 10. 30 H20. 10. 30 H20. 10. 29 H20. 10. 29
PN 5 i 5 i
KU (C) 19.0 19.8 18. 4 18.2
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A K A K
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
ek gR (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N K A K
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
,1-¥/muexFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) [ < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
D (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 6.3 0.88 4.3 2.5
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 6.3 0.93 4.3 2.5
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) 0. 02 0. 02 < 0.02 0.03
BB R (mS/m) 32 21 23 18
KFA A PR 7.2 7.0 7.1 6.7
KR (C) 21.2 21.0 16.9 17.6
B fHE B R i 5. fHE B
S8 2375 #0375 1) 2375 #0375 1)

XKEHO T HE) 13 TBUERT) 2%,

EEHm3-100




#£-3(9)-4

HifSNo (Awir=a)
B EE H 1238 1248 1258 1268
FE IS al = H

£KH H20. 10. 29 H20. 10. 29 H20. 10. 29 H20. 10. 21
PN 5 754 5 i
KU (C) 21.9 21.1 21.8 21.5
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A A A
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
ek gR (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N A A A A A
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-YZuagxFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) [ < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
D (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 1.6 3.4 3.5 0.59
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 1.6 3.4 3.5 0.64
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
BRI R (mS/m) 21 26 27 19
KFA A PR 6.7 6.7 6.8 6.8
KR (C) 17.4 17.6 18.5 21.9
B fHE B 'R i 5 fHE B
S8 5375 #0375 1) 5375 37 1)

XKEHO T HE) 13 TBUERT) 2%,

EBHm3-101




#£-3(9)-5

HifSNo (Awvir=a)
HEEH 1277 1278 1287 1288
T KT =H THKER TIA

£KH H20. 10. 21 H20. 10. 21 H20. 10. 21 H20. 10. 21
PN 5 i 5] i
KU (C) 22.8 21.7 21.7 23.6
RIT A (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
BT (mg/0) A A A A
& (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
Y[ /A=A (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
T (mg/0) | < 0.005 < 0.005 < 0.005 < 0.005
ek gR (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
T VX LKER (mg/0) - - - -
PCB (mg/0) N A A A
DA =R= . (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
R ES (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
,2-Y/mauxyy (mg/0) | < 0.0004 < 0.0004 < 0.0004 < 0.0004
L1-YZuagxFLv (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
TA-1,2-Y /v F Ly (mg/0)| < 0.004 < 0.004 < 0.004 < 0.004
LL,1-fU sk (mg/0) [ < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL,2-hUZmuaxXy (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
KN)Zoox=FL (mg/0) | < 0.002 0.003 < 0.002 < 0.002
VAl N/ = =t Rl P (mg/0) | < 0.0005 < 0.0005 < 0.0005 < 0.0005
,3-Yrumu oy (mg/0) | < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7T A (mg/0) | < 0.0006 < 0.0006 < 0.0006 < 0.0006
D (mg/0) | < 0.0003 < 0.0003 < 0.0003 < 0.0003
FF BT (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
AV (mg/0) | < 0.001 < 0.001 < 0.001 < 0.001
L (mg/0) | < 0.002 < 0.002 < 0.002 < 0.002
EER 2SR (mg/0) 10 6.0 6.1 0.90
gAY R (mg/0) | < 0.05 < 0.05 < 0.05 < 0.05
HEAME R R e NI tE 2 E  (ng/0) 10 6.0 6.1 0.95
BNE (mg/0) | < 0.08 < 0.08 < 0.08 < 0.08
ERE (mg/0) | < 0.02 < 0.02 < 0.02 < 0.02
BRI R (mS/m) 30 28 24 30
KFA A PR 7.0 7.0 6.7 7.0
KR (C) 19.9 18.1 17.5 19.5
B fHE B 'R i 5. fHE B
S8 2375 #0371 5375 07 1)

XKEHO T HE) 13 TBUERT) 2%,

EEHm3-102




#-3(9)-6

HiENo (A vz EIHK)
HEHEH 1297 J&301 J&3202

MR iliVN =M
K H H20. 10. 21 H21.2.19 H21.2.19
PN i i i
KR (C) 23.8 - -
7RI T A (mg/0) | < 0.001 - -
BTV (mg/0) A - -
& (mg/0) | < 0.005 - -
A 7= (mg/0) | < 0.02 - -
fitts= (mg/0) | < 0.005 - -
Tk ER (mg/0) | < 0.0005 - -
T L LK ER (mg/0) - - -
PCB (mg/0) A - -
DA =R= T (mg/0) | < 0.002 - -
DAk iR 55 (mg/0) | < 0.0002 - -
L2-YZuaupxzH (mg/0) | < 0.0004 - -
,1-YZupxTFLy (mg/0) | < 0.002 - -
vA-1,2-YZ7aaxzF Ly (ng/0)| < 0.004 - -
LL,1-FUZpooxxy (mg/0) | < 0.0005 - -
LL,2-hUZmuaxXy (mg/0) | < 0.0006 - -
A= R S P (mg/0) | < 0.002 - -
T I F L (mg/0) | < 0.0005 - -
1,3~y ra~y (mg/0) | < 0.0002 - -
FU T L (mg/0) | < 0.0006 - -
e (mg/0) | < 0.0003 - -
FARHINT (mg/0) | < 0.002 - -
R (mg/0) | < 0.001 - -
L (mg/0) | < 0.002 - -
EEA TSR (mg/0) 27 - -
Mg RAPE & R (mg/0) | < 0.05 - -
HEETEE B R O E =R (ng/0) 27 28 12
BT (mg/0) | < 0.08 - -
ERES (mg/0) | < 0.02 - -
ERURE (mS/m) 57 65 35
KFA A PR 6.7 6.8 6.8
KR (C) 18.5 16.5 16.5
B fHE B - -
S8 e 5375 - -

XEBRO T HE 13 TBUERT) 25#£7,

EEHm3-103




#£-3(9) -7

HigNo  (E#IE=%2VU 1 7)
HEHEH 107 108 109 110
Fa85-31-2 R4l L E3012-3 | JEMET4-12-11

K H H20. 10. 29 H20. 10. 29 H20. 10. 21 H20. 10. 30
PN i 5] i &
KU (C) 22.6 18.7 25. 6 15.8
RIT A (mg/0) - - - -
BT (mg/0) - - - -
£ (mg/0) - - - -
AV R = 20 (mg/0) - - - -
fits& (mg/0) - - - -
Tk ER (mg/0) - - - -
T VX LIKER (mg/0) - - - -
PCB (mg/0) - - - -
/A =0= 8 (mg/0) - - - -
DAk iR 55 (mg/0) - - - -
L,2-rv/mruxH (mg/0) - - - -
L1-Y/aagxFLv (mg/0) - - 0.003 -
vA-1,2-Y7uaxF L (ng/0) - - 0.021 0. 044
LL,I-hUZmpxi (mg/0) | < 0.0005 - 0.0010 -
LL,2-hUZmaxXy (mg/0) - - - -
KN)Zoox=FL (mg/0) 0. 002 0.091 0.21 0.003
ThI7/muF L (mg/0) 0.028 - < 0.0005 -
,3-vyrmura~y (mg/0) - - - -
F T A (mg/0) - - - -
ey (mg/0) - - - -
FANHNT (mg/0) - - - -
NPy (mg/0) - - - -
L (mg/0) - - - -
HER SR (mg/0) - - - -
gAY R (mg/0) - - - -
HEATEE B R O E =R (ng/0) - - - -
So# (mg/0) - - - -
ERES (mg/0) - - - -
ERARE R (mS/m) 25 15 62 24
IKFBA A PR 7.2 7.5 6.9 7.6
KR (C) 17.4 18.8 18.9 18.2
B fHE B R i 5 g B
P45 3% T, S Y a3 a7

XEHO T HE 13 TBUERT) #3#£7,

EEHm3-104




3-(10) EF TXMME D T KKERAET — 4%

FOK A k2045 A 27 H 7-3(10)-1
HisNo | FrfEHs M) ZwvwxFLy (FhI77vpFlL v VY /A=A
4 B4 0.018 0. 025 <002
4-2 B4 0.016 0. 021 <002
5 B4 0. 022 0. 0031 0.06
11 B4 < 0.002 0. 0067 <002
13 B4 0.10 0. 023 0. 04
13-2 B4 < 0.002 < 0.0005 <002
20 B4 < 0.002 < 0.0005 <002
24 B4 0. 036 0. 0057 <002
27 B4 0. 030 0. 0046 <002
33 B4 0.24 < 0.0005 <002
33-2 B4 0. 002 < 0.0005 <002

PrET AL UE 0.03 0.01 0.05
E i T RRAE 0. 002 0. 0005 0. 02
HAL mg/0
MERO [CHE) T TEER 2£3,

OB : FE204-8 H 19 H #-3(10)-2
HiSNo | FT{EHE NV ZvpxFLy |FhI7/pRZF LY AR =10
4 B4 0. 025 0.034 < 0.02
4-2 B4 0. 023 0. 029 < 0.02
5 B4 0. 024 0. 0031 < 0.02
7 B4 0. 028 0. 0022 < 0.02
11 st < 0.002 0.014 < 0.02
13 pist 0. 086 0.018 0.02
13-2 B4 < 0.002 < 0.0005 < 0.02
20 B4 0. 056 0.0038 0.02
24 B4 0. 032 0. 0052 < 0.02
27 B4 0. 038 0. 0055 < 0.02
33 pist 0.21 < 0.0005 < 0.02
33-2 st < 0.002 < 0.0005 < 0.02

PRETALUE 0.03 0.01 0. 05
B T BRAE 0. 002 0. 0005 0.02
HEAL  mg/0

MEPO T HE) 13 TEYERNG ) 2F£T,

EEHm3-105




FKHE  ERE204E11H 21 A #-3(10)-3
HENo | FTEH cN)ZmexFLy |FhI/runF L VAV iz =N
4 B4 0.017 0. 024 < 0.02
5 B4 0.019 0. 0028 < 0.02

11 B4 < 0.002 0. 0070 < 0.02
13 B4 0. 054 0.011 0. 02
13-2 B4 < 0.002 0. 0007 < 0.02
20 B4 0. 037 0. 0026 < 0.02
20-3 B4 0. 003 < 0.0005 < 0.02
24 B4 0. 021 0. 0033 < 0.02
27 B4 0. 022 0.0031 < 0.02
33 B4 0.025 < 0.0005 < 0.02
33-2 B4 < 0.002 < 0.0005 < 0.02

T B SV 0. 03 0. 01 0. 05
E i T RRAE 0. 002 0. 0005 0. 02
HAL mg/0
MEPO TCHME 13 IERW 287,

BKH : FER21IF2H6H 7#<-3(10)-4
HENo | FTEH cN)ZmexFLy |FhI/runF L VAV ZA =N
4 B4 0. 024 0. 034 < 0.02
5 B4 0.014 0. 0023 < 0.02

11 B4 < 0.002 0. 0058 < 0.02
13 B4 0. 082 0.017 < 0.02
13-2 B4 < 0.002 < 0.0005 < 0.02
20 B4 0. 055 0. 0040 < 0.02
20-3 B4 0. 031 < 0.0005 < 0.02
24 B4 0.031 0. 0049 < 0.02
27 B4 0. 027 0. 0037 < 0.02
33 B4 0.10 < 0.0005 < 0.02
33-2 B4 < 0.002 < 0.0005 < 0.02

PrET AL E 0.03 0.01 0.05
E i T RRAE 0. 002 0. 0005 0. 02
HAL mg/0

XEBRO T HAE 13 TBUERT) 2#5#£7,

EEHm3-106




3-(11) NERT 1 X 3t FAKKERET — 4

KB : FE204TH24H, 8H19H #-3(11)-1
No | FTTEHL Mozl AVZALES A% Yi-1, 2=V JunzFLy | 1,1, 1=} /nuzhy
1 B4 0.035 0. 029 0.012 0.0018
2 B4 0. 021 0. 082 0. 025 < 0.0005
3 B4 0. 025 0. 034 < 0.004 < 0.0005
4 B4 0. 086 0.018 0.028 0. 0054
5 B4 0. 037 0. 0066 0.012 0. 0025
6 | #kr 0. 024 0.17 0. 062 < 0.0005
8 It FH 0. 034 0. 0031 0.015 0.0018
BREE AL UE 0.03 0.01 0. 04 1
BT BRE 0. 002 0. 0005 0. 004 0. 0005
HAL mg/0

FEhO < EE) 1 TEERN 2%,
$No3. NodlL e LM MENFIE O/ TEE

FOKA : FR2142A6H, 2A19H #-3(11)-2
No | FTTEH M Jnnxfiy 7N enzly Yi-1, 2=V JunzFLy | 1,1, 1-p)/nuzhy
1 B4 0.015 0.016 0. 007 0. 0006
2 B4 < 0.002 0. 035 0.012 < 0.0005
3 B4 0. 024 0. 034 0.010 < 0.0005
4 B4 0. 082 0.017 0. 029 0. 0048
5 B4 0.018 0. 0035 0. 006 0. 0010
6 | #kr 0. 004 0. 086 0. 021 < 0.0005
8 It FH 0.023 0. 0023 0.011 0. 0011
BRBE AL YE 0.03 0.01 0. 04 1
BT R 0. 002 0. 0005 0. 004 0. 0005
HAL mg/0

FEhO < EE) 1 TEERN 2%,
$No3. NodlL e LM MENFE DR TEE

EEHm3-107




4-(1) EBXBREHRET —4

F-4(1)-1
AT AR B S e S R (PR IFEES

PR R G| BT - & | B O | R O A B - &
FIREP|ME b A | VB EEELL B & b 5
S ik || s R o |MELT| T T | MEfEE

au | B e | spmmmes | pmses | mie | we | owesm | vovias) | U

& k] || 4R
B &M

R 14) 10301 [— R ENE 1295 [ H476 1112566 3.9 || ERk14| L5251 74 73 606 38.1%|  34.2% 0.0%  27.7%
19| 10301 |— A% EE1295 |£H4T6 ILIFE566 3.9 || ER19| k40323 73 72 634 50.9% 34.1% 0.0% 15.0%
SERE16( 10521 | —AREE2465 | £ HAT6 FEFHI1THI0| 0.7 47 97. 9% 2.1% 0. 0% 0. 0%
SERE16| 10522 |—fREE2465 [ZEAAITHEHIO|EHE2TH2 | 1.4 || ERI6|ZEAFEITH2 75 76 293 37.2% 50. 5% 0. 0% 12. 3%
16| 10523 |—fH%EE2465 |ZEHRE2TH2 |2 T B4 0.4 82 98. 8% 1.2% 0. 0% 0. 0%
SERE15) 10531 [—Ax[EE246 5 [AKBI2T H12 |/ABI2T HS 0.4 266 9.4%  63.5% 0.0% 27.1%
R 20( 10531 |—f%EE2465 |K512TH12 |/KBI2T B3 0.5 237 59.9%|  40.1% 0. 0% 0. 0%
ERE15| 10632 [—fkENE246%5 [/K5I12T H3 SelT2T H4 0.5 434 72. 1% 9. 4% 0.0%  18.4%
20| 10532 |—fH%EE2465 |/K512TH3  |RE2T B4 0.3 742 84. 6% 3. 8% 0.0% 11.6%
SRk 15| 10533 |—fAxEE246 5 |22MT2 T H4  |E433 0.8 |[YEAk15 [ 4451 74 75 262 32.4%|  50. 8% 0.0%  16.8%
T%20( 10533 |—fREE 2468 |RET2TH4 |BE433 0.9 ||FRL20|RET1TH6 69 69 316 80.4%|  19.6% 0. 0% 0. 0%
YRk 15(| 10534 |—fX[EE246 5 | B 4433 B 442 0.2 259 5. 8% 0. 8% 0.0%  93.4%
R 20( 10534 (—HREE2465 | R 433 BE&42 0.2 409 22.0%  31.1% 0.0%  46.9%
FERE1T| 10541 | —AREE246 5 |iR7K68 IR F1575 0.9 128 88. 3% 1. 7% 0. 0% 0. 0%
T 10551 (—AREE2465 |faF1575 ZEH1030 1.2 |[FER17| 2 B 2405-1 A 72 283 61.5%  38.2% 0. 0% 0. 4%
FR18|| 41203 (—H%EE4125 |#34:2T B4 A 111090 2.9 ([FER18|#1THEI 66 62 489 96. 1% 3. 9% 0. 0% 0. 0%

EEHm3-108

KKFE, [F—fHiXE CORFOT —Z 2K




S-(NKEAMET—4

F-51)-1
Ly AN E=N
;g ) 4 4 é Bf{ %UE 2%%@ %@ﬁ BEN0F 5 OLEB R (nm)
AL G5 T4, PHEs | e | e izt ]19.1]201
% NS (m) (m) (mm) ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
£l 1201314115 1|16, 1 | 171 18.1]19.1]20.1 ] 21.1
10357 IR Z ik FAE1-13 49 | 21.4849 | 21.3949 | -90.0 [ -3.0| 1.6] -1.4| -3.4| 5.3] -4.8] -0.1| 0.5 -3.8] 1.2
1 JBHT > [ JEmT5-11 Hio| 49 | 18.0698 | 17.8882 | -181.6 | —9.8| —5.4| -9.8|-13.4| 2.8[-16.7] 0.2] 0.2] -6.1] 0.6
2 ST 4> 295 B | 50 | 27.6431 | 27.6251 -18.0 | -0.2| 0.6 -0.8[ -2.4f 5.3 -1.1] 1.0/ -2.9] -1.1] 1.9
3 JEAR AL KBI1-1 W1 49| 19.8635 | 19.8040 | -59.5 | -0.9] -9.1] 1.8 -3.0| 3.2[ -3.0| 0.6 -1.2[ -3.3] 0.5
4 R s #1980 W] 49 [ 14.0544 | 13.9919 | -62.5 | -2.7| 2.1 -3.8] -7.6] 2.3 -3.8] -1.9] -2.2|-10.2] -0.3
5 | JBEE (5UH) AFE [EEr4-3352-1 | ®F | 49 | 16.7072 | 16.6473 | -59.9 | -1.2| -1.0| -0.7| -3.0[ 1.9 -7.0[ -0.1| -0.6] -5.6] -7.2
6 JE AP [ FH 1752 | 49| 17.5120 | 17.3448 | -167.2 | -3.4| 2.2 -0.5| -6.7[ 6.0[-10.3] -3.0] 3.0] -7.6] 0.6
7 JEREATFTE  |HFAET2-28 ol 49 ] 19.0717 | 18.9959 | -75.8 | -1.9| -2.8| 2.5 -4.0| 2.8 -2.6[ 1.1 -0.9] -3.3| 0.0
8 PN /N HET3-17 | 49| 19.4636 | 19.1821 | -281.5 | -2.8| -2.0| -1.7| -3.7[ -0.9| -8.5| -3.8] 0.1| -7.0| 0.4
9 HHETSZREERLY  [TPET1-4 Wi 49| 19.2658 | 19.2086 | -57.2 | -2.9| -2.2| -1.0| -2.9| 3.8] -5.0[ -1.3] -0.9] -2.6| -0.1
10 JEARFE 2N RAR JERT3-14-4 ™| 49| 18.5685 | 18.5252 -43.3 0.2 -1.2| 0.7 -2.9| 2.2 -2.7[ 1.5 -1.2| -3.3] 0.6
11 =R [t FH 1390 | 49 | 16.1950 | 16.1095 | -85.5 | -2.4| 1.1| -1.2[-16.4| -2.3| -3.7[ -2.9[ o0.0[ -7.6] 0.1
12 AT VNN i FH691-1 | 50 [ 15.9894 | 15.7074 | -282.0 | -2.7| o.6| 0.3 -7.4] 0.3 -5.7[ -2.6] -0.1] -7.8] -0.8
13 S VEG/R/N | JEMT1-30 mio| 50 [ 17.7162 | 17.3113 | -404.9 | -5.1| -6.2 -5.5/-10.2| 2.6 -7.3[ 0.4 -0.1] -5.1] 0.5
14 4 H I E AR 4> 389 i | 50 [ 25.5049 | 25.4872 -17.7 0.1 -0.3] -0.2| -2.4| 4.6/ -1.0/ 0.6 -3.1] 0.5 0.8
15 | JEAREEFE SR/ F- |FEH2054-1 | 51| 23.7106 — — -0.2| —2.0] o.6| 3.7 43 — | — | — | — | —
16 g 41000 Hio| 51| 22.8208 | 22.7921 | -37.7 | -2.0[ o.1| -0.2| -3.4] 4.5 -2.0] -1.0] -2.1] -3.9| -0.4
17 S i H-2405-2 Hio| 51| 14.9477 | 14.8631 | -84.6 | —2.7| 1.8 -1.5| -5.7| 3.2 -4.2| -0.4[ -0.4[ -7.5] -0.1
18 | #hZ=)IMa474-0)7 MER) |4 FH688-1 | 52| 26.9411 | 26.9221 | -19.0 | -0.5| 1.0 -1.3] -0.9] 3.4 -0.3] o0.2] -2.7] -0.5] 1.0
19 I\ FR AL 1057 o[ 52| 13.0796 | 12.9365 | -143.1 | -3.4| 3.0 -1.0] 6.6 3.2 -5.6[ -3.3] —-2.1| -11.1| 0.4
20 TE7K/INFAL FH611 i | 54 | 32.1084 — — 0.0 —2.0] -0.4| -2.9] 5.6 — — — — —
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AL G T4 PHEM | e | 2 ILT[ 120|138 1] 141 1651 16.1 [ 17.1[18.1] 19.1] 20.1
i B | (m) m | ~ |~~~ ~|~|~]~]~]~
K 12,0131 | 141 [ 15 0 [ 6. 1171|181 19.1]20.1]21.1
21 £ H R F 1394 i | 54 | 25.1894 — — -1.2| -3.8/ -0.8] -9.8] 58 — | — | — | — | —
22 MR 69 ™| 54 | 27.6201 — — -2.3| -2.4| -1.2| 3.2 3.7 — | — | — | — | —
23 EFEIHEES  [EFEMN12-59 | H | 54 | 27.5608 — — 2.3 -2.1] -0.5) 3.1 19| — | — | — | — | —
24 FRELATAR |[FE124-12 | 54 | 22.9562 — — -1.5| -0.8] -1.4] -4.8] 45 — | — | — | — | —
25 JEARA T & KB512-3-1 | 54| 21.2910 | 21.2038 | -87.2 | -0.6| -2.5| 1.2 —-4.1| 3.5| -4.9] o0.6] -1.4[ -4.9] 0.8
26 JEART b =tE | BA4295 ™| 54| 20.5341 | 20.4225 | -111.6 | -1.7| -0.2| 2.1] -5.5| 3.5 -6.9| 1.3] -0.8] -3.4| 0.5
27 fiy T8 RAE 11578 | 54| 26.0562 | 26.0226 | -33.6 | -2.5| 0.7 3.2 -7.0] 4.6 -3.5| 1.3] -1.0] -4.2] 1.3
28 WA AR 1809 | 54| 18.7284 | 18.6062 | —-122.2 | -4.8 0.3 -1.8/-10.0| 3.2 -6.1| -3.0] -1.2[-10.8] 1.2
29 RN #3900 i | 54| 16.6298 | 16.5789 | -50.9 | -6.8| -1.5| {5 | #a% | 3.9 -9.2| -2.8 -5.8[-14.3] 0.4
30 | AEARBRILAILY |HHT2-1 | 55| 18.6665 | 18.5976 | -68.9 | -5.2| -3.6| -2.1] -6.2| 0.6/ -6.9| -3.9| -2.8] -6.7| -3.5
31 | TiHBIEAR)ISE 14171 | 56 | 14.1508 — — -8.1| 3.0 3.5/ 9.4 o1 — | — | — | — | —
32 FHAR FiH244 | 56 | 12.6830 — — -2.6| 2.8] -0.4] -8.0| 2.9 — — — — —
33 ERRAEEEET (M H1814-1 i | 59| 16.4152 | 16.2296 | -185.6 |-10.2| 1.7| -0.8| -5.4| 2.4 -8.7| -1.5/ 0.0 -8.1| 0.0
34 EFESMREARSIE |MA1184 | 59 | 15.0594 | 15.0131 | -46.3 | -3.2| 0.0l -1.1| -6.6] 2.0 -4.9| -1.0] -1.1| -6.8] -0.7
35 WESIEBA e VAR |[JEET1-2441% | F | 59 | 17.3708 | 17.2892 | -81.6 | -4.9| -2.7| -1.8] -4.3| 2.4| -4.4] -3.1| 0.3 -7.1| -0.6
36 1 LA JEHT1-32 | 59| 17.3329 | 17.2487 | -84.2 | -0.7| -1.9] 0.4 -3.3| 2.1 -3.6] o0.5] -0.4] -4.8] -0.4
37 ARG AT SRUTT-14#0%% | ™ | 59 | 17.9085 1B R -1.8] -1.2| -0.2[ -3.6] 3.4| -4.2[ -1.2| -1.0| -3.6| {2
38 20 Bo EMERT | B4 154415 i | 59 | 18.4459 | 18.3898 -56.1 | -1.4f -0.3[ 1.6 -3.0| -0.5| -2.6] 0.2] -0.7| -4.2| -0.1
39 |=nA UV— o XL PETA-1-9M%s | T | 59 | 17.4625 | 17.3707 | -91.8 | -1.9| -2.3| 0.7 —4.0| 1.9 -4.2[ -0.4] -0.2| -4.9] -2.6
40 b SO JERT1-122 M| 4| 17.3505 | 17.2707 | -79.8 | -3.4| -0.4| 0.3 -4.3| o.6] -5.1| -0.5] -0.8] -7.6] -1.5

SEHLUE IS ST H A K BB 5 S
KEFIZTROS D KESIT, BEOUHEZIT> TWH 72, Bi% - Wl m2 TBIAREFEHEE] L L TWn5
x PHAEIEN S DMEENR, 7-77 L. H15. 1. IOEFEAERIEICEV, 15, 3~15. D FEIPH T 7T A IEL T\ 5,

EEHm3-110





